GEARBOXES

kearhoxes - Series M

The innovative Fenner® Series M coaxial gearbox
combines high load carrying capacity with high
efficiency and reliability suitable for a wide variety
of applications.

= Drives up to 90kW

= Dimensionally interchangeable with the
market leaders

= High ratio combinations available in
multi-stage units

= (il tight gearhead enables motor removal
without oil spillage

= Accepts standard IEC motors

= ATEX Certification available €x)

Geared Drives: Design Data Required

Motorised (with integral motor) or non- >
motorised?

Foot mounted or flange mounted?

If motorised: electrical supply available any
special motor features required (brake,
thermistors, flameproof etc.)

If non-motorised: type of prime maver rotational
speed of prime mover power rating of prime
mover is an input shaft coupling required? if so,
prime mover shaft dia.

> |f flange mounted, flange diameter required

> if foot mounted, is an output shaft coupling

Type of driven machine
Rotational speed of driven machine >

Power absorbed by driven machine
(or required output torque)

Hours/day duty & start/stop frequency

Visit www.fptgroup.com

required?

Constant or variable over what range?

SECTION :

Series M Page

Motorised Selection

Motorised Dimensions

Non Motorised Selection

Non Motorised Dimensions
Exact Ratios

B14 Face Mounting Dimensions
Overhung Load Capacities
Installation & Maintenance
Ordering Instructions

181
199
203
210
214
215
216
217
218



> Dimesionally interchangeable with
market leaders

> Versatile mounting

> Modular design backstops easily fitted

> 0il tight gearhead enables motor
removal without oil spillage

> Accepts standard IEC motors

> Ratios from 1.5:1 to 11,000:1




GEARBOXES

Series M Gearboxes : Motorised section

MOTORISED UNITS SELECTION PROCEDURE

(a) Service Factor

From Table 1 select the Mechanical Service Factor (Fm)
applicable to the drive. If the unit is to be subjected to
frequent stop/starts in excess of 10 times per day then
multiply factor Fm by Factor Fs from table 2.

(b) Motor Power

Refer to the selection tables on pages 182 to 198 and
choose a motor power equal to or in excess of that
required, if the motor power is not known then from the
formula below determine the power requirements of the
driven machine and select a motor power in excess of the
calculated machine absorbed power.

9550
P. = Machine absorbed power (kW)
M. = Machine absorbed torque (Nm)
n, = Machine speed (Rev/Min)

(c) Unit Selection

Refer to the selection tables on pages 182 to 198 and
choose a motor power equal to or closest above that
calculated in step (b). Then read down the column headed
“Nominal Output” until a speed equal to or near to the
required speed is found. On this line read across to the
service factor column and check that the service factor
exceeds the value from step (a). If the service factor is
either lower or much higher than that required check the
speeds at each side of the required speed to see if a more
suitable unit and service factor can be found.

(d) Overhung and Thrust Loading

If an indirect drive is used between the gearmator and

the driven machine, then the overhung load should be
calculated using one of the formula on page 216. This
value should be compared with the maximum allowable
value given in column 5 of the selection tables. If the value
exceeds the maximum allowed, then either re-design the
indirect drive or select a larger unit capable of supporting
the overhung load.

EXAMPLE 1

A Series M foot mounted gearmotor is required to drive a
uniformly loaded mixer using a 4 kW electric motor at 88
rev/min. The mixer operates 8 hours a day and stops and
starts every hour

A coupling is to be used to connect the gearmator to the
mixer.

(a) Service Factor

From table 1 below the service factor for a Uniformly
Loaded Mixer is 1.0. The mixer stops and starts every hour
therefore the stop/start factor is 1.0

(b) Motor Power
Series M gearmotor units fitted with 4 kW motors are
described on page 191.

(¢) Unit Selection

Reading down the column headed “Nominal Output”, it is
found that there are two unit selections at 88 rev/min, at
the first one of these read across to the maximum service
factor column, it can be seen that the unit size 862A2046
has a service factor of 1.07. This exceeds the 1.00 service

factor required and therefore is suitable for the application.

The fourth digit (letter A) signifies a foot mounted unit,
therefore the code is correct for the unit required. If
another mounting style is required a different letter is used
in place of the A, for details see page 218.

FEN01/14 : DRIVE DESIGN & MAINTENANCE MANUAL

TABLE 1 — SERVICE FACTORS (Fm)

SECTION :

Operational Hours

s e e | Under3 | 3t010 | Overto

Light Duty
Agitators (uniform density),
Belt conveyors (uniformly
loaded).

Medium Duty
Agitators and mixers (variable
density). Belt conveyors (not
uniformly loaded), Kilns,
Laundry machinery,
Lineshafts, Machine tools,
Printing machinery, Sawmill
and woodworking machinery,
Screens (rotary).

Heavy Duty
Brick machinery, Bucket
elevators, Conveyors (heavy
duty), Hoists, Quarry plant,
Rubber machinery, Screens
(vibrating), Textile machinery.

TABLE 2 - STARTING SERVICE FACTOR (Fs)

] susopsperhw
I TS A I A N TR
1.10 1.15

Factor Fs 1.00

1.0 1.1 1.2
1.1 1.2 13
1.3 1.4 15

Start/stops per hour

1.03 1.06 1.20

For ATEX certified gear units please consult your local Authorised Distributor.

(d) Overhung and Thrust Loading
As no external loads are present, no further checks are
necessary.

EXAMPLE 2

A non-uniformly loaded conveyor absorbs 1600 Nm at the
head shaft which has to rotate at 52 rev/min. A 2:1 chain-
drive utilising a triplex chain drive with 19T + 38T sprockets
connects the head shaft drum to a foot mounted gearmotor.

The conveyor stops and starts 4 times a day. Select a
suitable size Series M gearmotor for over 16 hours a day
operation.

(a) Service Factor
From table 1 below the Service Factor is 1.50 From table 2
the starting factor is 1.00.

(b) Motor Power
As the motor power is not known, it is necessary to
calculate the power requirements of the driven machine
with the following formula:
Machined absorbed power = 1600 x 52

9550
= 871kW
The nearest motor is an 11.0kW motor and is found on
page 194.

(c) Unit Selection

Reading down the column headed “Nominal Qutput" it is
found that 100 rev/min is nearest to the required output
speed of 104 rev/min and by referring to the column
headed 'Service Factor' the only gearmotor selection at

this speed has a service factor of 2.46 which is more than
adequate for the application. The code for this selection
is seen to be 865A1966. As the service factors for the
two units at speeds above and below 100 rev/min are
inadequate for the application the 865A1966 is selected.

(d) Overhung and Thrust Loading
As the 19-T sprocket will impose a radial load on the
gearmotor output shaft, it is necessary to calculate its
value by using the formula below. See page 216 for further
explanation.
Overhung load = Torque x 1000 x K
r
=800x1000x 1.0
77.16
=10368 N.

The maximum overhung load value for 865A1966 unit
selected is 21675N which exceeds the value calculated
above and is therefore suitable for the application.

181



SECTION : GEARBOXES

Series M Gearboxes : Motorised selection

Bold print indicates a 6 pole motor is used

Double reduction (see pages 199-200 for dimensions) et Ll L

Nominal | Output Overhung

Service Unit Service Unit

- . . . Output Torque . (IGET] Output Torque . Load
Triple reduction (see pages 199-200 for dimensions) R /:II' Nq Factor | Selection N R /II:II' Nq Factor | Selection N
Quadruple reduction (see pages 201-202 for dimensions) B e B [

[ 106 I 326 802A5148 7200 [ 204 D 286 801A3002 4000

0.12 KW MOTOR | 531 [EF 136 80IAO13 4000 B s 360 861A3002 4000
[ 931 G 181 861A4913 4000 B = 273 801A2605 4000

Nominal | Output | (. | . | Overhung B o 135 801A5348 4000 [ 21 356 861A2605 4000
Output | Torque | ' T o ion | 020 B 175 861A5348 4000 59 122 860A3002 1849

Rev/Min Nm N [ 910 [EEIH 286 802A5348 7200 60 150 860A2605 1631
B T | mam T B 373 862A5348 7200 | 253 [ 249 801A3102 3956
41 1658 860AIO48 1790 | 802 [EEREY 245 s02A5448 7200 [ 258 [T 323 861A3102 4000
22 T i | carmaE il | 802 RS 334 862A5M8 7200 [ 250 [ 243 801A205 4000
[ 20 [T 1547  860ATI48 1840 136 118 801ASD13 4000 [ 250 [ ST W5 TR 2705 0
B i | e T | 799 RPN 150 861A5013 4000 I v 134 860A2705 1540
62 1218 860AIO13 1900 | 79 K 1191 [ 80TASA48 [ 4000 [ 21 I 06 S 60738 0

[ 790 KN 151 861A5448 4000 [ 22 238 801A4402 4000
[ 166 [N 1182 B860A1448 1900
B e | e i [ 752 [REY 244 802A5013 7200 [ 222 [ 3.07 861A4402 4000
B T T Eh [ 719 [T 1.10 801A5113 4000 68 133 860A4402 1724
e 9 | cerimE T | 719 [ERVH 142 861A5113 4000 | 20 [ 217 801Ad502 4000
2 a0 SR i | 705 [ 223 8025548 7200 | 20 G 281 8614502 4000
100 R | e G 153 294 862A5548 7200 B 117 8GOA4502 1590
BT o i T a0 | 699 RIS 104 801AGH48 4000 T s 207 801A2905 3824
ECEE e R o | 699 [T 135 861A5548 4000 B 268 861A2905 4000
B o N T [ 694 [EREN 213 802A5113 7200 B 104 860A2905 1496
T S e Ch B s 373 803A5548 7200 [ 200 [N 196 801A4602 4000
| 597 TS 0.87 801A5313 3200 [ 200 [V 254 861A4602 3743
14 6.45 860A1713 1900
B - w0 | cem | | 597 [ 118 861AS313 3500 [ 195 [ 106 B60A4E02 1780
[ 597 AT 181 802A5313 7200 [ 189 [EEECH 181 801A3005 3706
16 566 860A1813 1900
B - o6 T o | 597 TS 244 862A5313 7200 [ 189 [T 237 861A3005 4000
| i 185 114 861A6048 3026 187 88 386 802A4602 7200
[ 616 [T 495 860A1913 1900
B 488 860A2348 1900 B v 102 86146148 3026 [ 172 [ 355 80244702 7200
B a enE T | 526 [ 165 802A5413 7200 [ 171 [ 164 801A4702 3913
B 2 s | EnvE ) | 526 [P 220 862A5413 7200 [ 171 [ 217 BBIAA702 3913
T i R T | 521 [ 1.03 861A5413 3000 100 0.90 860A4702 1450
B 2 | e =] 26 093 861A6248 3026 100 160 801A3105 3571
B 349 GR0AZGE 1900 [ 263 [T 142 802A5513 7200 100 207 861A3105 4000
BT > G AT e [ 463 [N 189 862A5513 7200 [ 157 R 155 801A4405 3829
B > 310 860A2748 1900 EREE o« 087 86IAS513 2400 10 20) | CSREAE | A
B - N T T | 435 [T 0.85 861A6348 3026 [ 153 [TV 083 86044405 730
IS & 244 803A5513 7200 [ 153 U 315 802A4405 7200
317 35 238 860A2948 1900
219 | B 2.97 802A4902 7200
= — S . [ 143 [T 392 86244902 7200
211 39 183 860A3048 1900 -
BT o TG mh 0.18 KW MOTOR [ 112 I 138 801A4902 4000
51 [ 205 s0AZ13 1900 Nominal | Output | o . unit | Overnung [ 142 140 BIAMS05 3685
m %5 159 860A3148 1900 Output Torque ervice n . Load m 116 1.80 861A4902 3654
- Factor | Selection [ 12 [T 181 861A4505 4000
B s 357 801A4448 4000 Rev/Min Nm N BTN ron ot 00
B s 199 860Ad448 1900 B 1317 850A0S02 1681 B — T T
[ 220 [T 326 801A4548 4000 :
6.2 11.06 860A1002 1778 m 127 165 861A4605 3441
I - 3.15 801A2913 4000 :
6.9 10.32 860A1102 1826 m 132 122 801A5002 3976
A - 175 860A4548 1900 [ 974 8GOA0905 1791 :
- [ 122 [EEE] 154 861A5002 3976
[ 208 [ 158 8602913 1900
79 9.52 860A1202 1856 m 137 248 80274605 7200
[ 200 S 2.94 801A4648 4000 17 :
i £ MBOUA 00 1673} [ 121 LY 330 862A4605 7200
BETEE s 381 861A4848 4000 B o 788 860ATA02 1873 :
: [ 120 EEES 249 802A5002 7102
B 159 86044648 1900 B 797 850A1105 1874
d [ 120 [REY 3.28 862A5002 7200
[ 193 [ 275 801A3013 4000
i 4} A0 772 BT 227 802A4705 7200
[ 152 [ 118 860A3013 1900 BEEE - 655 8601205 1874 :
: [ 111 3.04 862A4705 7200
[ 171 246 801A4748 4000 2 R 614 860A1702 1874
L [ 110 H 1.06 801A5102 4000
64 326 861A4748 4000 B s 561 860A1802 187
- [ 110 [T 1.09 801A4705 3243
[ 170 [ 244 801A3113 4000 16 546 850A1405 1874
- [ 110 ) 1.40 861A4705 3243
A o 135 850M748 1900 B 516  860A1S05 1868
- [ 110 TS 1.43 861A5102 3718
[ 160 [ 103 860A3113 1900 B s 5.08 860A1902 1854
: [ 106 TS 217 802A5102 7200
[ 150 [ 236 801A4413 4000 20 455 8G0A2002 1890
: : [ 106 L 291 862A5102 7200
B 1.26 860A4413 1800 784 21 423 860A1705 1822
d B 191 802A4905 7200
B s 213 801AGS13 4000 2 413 860A2102 1877 B T T
| 122 [ 207 801A4948 4000 [ 695 [ 376 860A2202 1852 B T TR T
| 12 B 270 861A4%48 4000 P 371 B60A1E05 1792 '
B s 119 861A4905 3039
I s 118 860A4513 1900 B = 325 8601905 1783
BT s 0.90 801A5302 4000
| 130 [ 115 860A4948 1830 B = 323 860A2302 1881
[ 910 [EEREN 117 861A5302 3173
[ 131 [ 189 80IAdI3 4000 EBE o 294 8602005 1786
B s 1.91 802A5302 7178
| 131 [ 252 B861A4613 4000 B 2.70 860A2502 1819
[ 910 [T 249 862A5302 6660
[ 123 S 108 8GOAdI3 1900 [ 50 [N 268 86082105 1750
[ 855 [T 328 803A5302 7200
| 122 [ 1.83 801A5048 4000 B v 243 860A2205 1719
[ 802 [ 164 802A5402 7034
| 122 [ 230 861A5048 4000 B 233 G60AZ602 1878
[ 802 [T 223 862A5402 6902
| 120 [T 373 802A5048 7200 43 376 801A2702 4000
[ 7917 1.01 861A5402 3420
[ 119 [ 0.96 860A5048 1650 [ 383 [ 207 860A2305 1712 e 0 TN P
BT v 165 801A47T13 4000 B ¢ 207 860A2702 1854 '
212 1,60 802A5005 6442
| 112 [ 213 861A4713 4000 [ 333 [T 325 801A2505 4000 T o R il
[ 110 RO 158 80IASI48 4000 [ 333 [ 323 601AZ802 4000 '
221 284 803A5005 7200
| 110 [ 2.15 861A5148 4000 | 333 [ 397 861A2902 4000
223 2.81 803A5402 7200
[ 109 [N 095  860MTI3 1360 BET s 176 8G0AZ505 1634 I — T T
[ 107 DY 0.88 8605148 1360 53 159 860A2902 1890

|



GEARBOXES SECTION :

Series M Gearboxes : Motorised selection

Nominal | Output . . Overhung 0.25 KW MOTOR Nominal | Output . . Overhung
Service Unit Service Unit
Output Torque Factor | Selection sl A Wil LD Factor | Selection foad
Rev/Min | Nm N Nominal Service | umit | Overhung Rev/Min [ Nm N
223 281 803A5402 7200 Output Factor |Selection| 23 B s 229 802A4407 6774
25 093 8G1ASI05 1766 iLrsll N [ 55 [T 304 8GAMOT 7200
28 149 8O2ASS2 7200 [ 363 R 935 860A0306 1670 [ 19s [E 102 801507 3318
230 196 862A5502 6628 [ 269 [N 785 B860A1006 1764 B 132 861A4507 3243
| 699 [PRY 090 B61ASS02 2660 [ 20 R 700 860ADS07 1768 B ¢ 211 B02AMS06 7200
B - 140 812AS105 6712 97 732 860ATI06 1810 B e 278 B62A4906 6902
A s 186 862A5105 7200 [ 200 [ERE 676 860A1206 1829 B s 098  801A4906 4000
252 249 803AS502 7200 13 582 8G0A1007 1845 [ 10 [ 128 8G1Ad906 3250
O > 244 803002 7200 [ 163 [0 560 BB0ATAOG 1841 - 207 802M07 6944
[ 621 [T 237 B03ASI05 7200 15 529 860ATI07 1844 [ 50 [ 278 862MM507 7200
B 320 863A6002 4677 EEE 526  8GOAISOS 1840 EEE v 376 803MY06 7200
B s 124 o0z 71%5 | 133 [ 471 860AT207 1845 B 090 801Ad607 2986
| 593 [ 164 86206002 4809 [ 120 [ERE 435 BBOAIZ06 1845 [ 131 120 861A4607 2790
5,87 285 119 802AS305 629 | 108 [ 398 860AT40T 8745 [ 125 [ 342 803AMS07 7200
B ~ 160 862A5305 6195 B 2 398 B60AIB06 1845 [ 122 [ 180 80204607 6749
| 533 [N 222 80346102 7200 B = 375 8G0A1507 1831 | 122 ERE 240 862A4607 6652
[ 551 Y 212 803AR305 7200 [ 925 [ 361 BB0AIS06 1800 [ 120 LS 087 8O0IASO05 3950
[ 532 RV 282 B83ABI02 467 B 323 860A006 1879 [ 20 [t 100 81ASO6 3950
[ 530 [ 1 smAei 7125 2 308 860AI707 1731 B v 177 802A5006 6988
| 530 [ 146 86206102 4809 [ 751 [ 293 8B0AZ106 1830 [ 113 [RE 233 86205006 6965
313 109 802AS405 5901 | 699 [NEC 270 860A1807 1666 [ e [ 308 803A4G07 7200
[ 517 ) 145  862A5405 5820 | 635 [ 267 860A2206 1796 BEE o 312 803AS006 7200
| 506 [BEA 192 80346202 7200 | 612 [T 237 860A1907 1647 B s 102 861A4707 2359
328 104 smAe2 7125 B 229 860AZ306 1860 B 165  802A4707 6620
329 137 86246202 4809 BEET ~ 214 860A2007 1653 B 222 862A4707 6594
T 256 863AB202 4676 [ 516 [ 357 BO1AZ506 4000 [ 108 [ 102 861ASI06 3390
[ 470 [T 181 803A5405 7200 BT s 195 860A2107 1576 B 154 802A5106 7200
| 255 (TS 093 802A5505 6203 4 192 860AZ506 1724 [ 105 [t 200 B62A5106 6764
[ 255 124 SG2AS05 5274 I 177 860A2207 1507 [ 953 [ 270 803A4T0T 7200
| 452 (S 035 8028302 7125 I = 308 801A207 4000 B 263 803AS106 7200
G = 125 8G2AG302 4809 I s 301 801AZ606 4000 [ 933 [ 139 8024907 6609
[ 240 [T 168 803A6302 7200 B s 166 860A2606 1853 BEEE 184 862A4907 8315
B 232 863AR302 4676 T 285 801A2307 4000 B ~ 087 861A4907 1920
[ 413 [ 160 803A5505 6215 BT s 372 861A2307 3873 | 905 [N 248 803A4907 7200
| 414 LS 157 803A6005 7200 387 60 150 860A2307 1493 B = 083 861A5306 2209
[ 339 [T 207 863AG005 4677 BEFE « 267 801AZI06 4000 250 136 80245306 7153
| 383 (WO 080 80206005 7125 | 32 G 346 8612706 3837 B s 177 96245306 6030
[ 333 [T 106 86206005 4809 62 147 860A2706 1801 [ 842 [T 233 803A5306 7200
[ 383 [ 203 863A6402 4675 BEE s 237 801A2507 3 : 291 117 802A5406 6841
[ 381 [ 080 s02Aed02 7125 B s 308 861A2507 3771 [ 790 [ 158 862A5408 6555
| 381 [V 106 86246402 4809 ETE 229 801A2906 4000 [ 778 [ 117 802A5007 5558
[ 373 RN 140 803AG402 7200 | 228 [ 282 861A2906 3921 B 154 86205007 6146
| 376 [EEAS 143 803AG105 7200 [ 323 [ 128 8G0A2507 1325 [ 755 207 803AS007 6988
| 348 [PTS 133 803AG02 7200 | 313 G 113 860A2906 1880 B o 199 8035406 7200
[ 323 [T 181 863AGI5 4676 [ 289 [ 203 8O01AS006 4000 EEE > 106 80245508 7200
| 342 [ 095  862A6105 4800 BETE 256 861A3006 3828 | 695 [ 139 862A5506 5962
[ 333 [T 177 Se3M6S02 4675 [ 285 [ 199 801A2607 3813 B > 102 802A5107 6144
| 332 [ 092 B62AB502 4809 [ 25 [ 259 861AZ607  36% [ 690 [ 135 862A5107 5841
B 124 8036205 7200 8 109 8602607 1319 BE 177 80356 7200
[ 321 [ 089 862A6205 4809 83 087 860A3006 1790 [ 632 [ 173 8036006 7200
| 311 S 086 862A6602 4809 | 255 [ 177 80IA3I06 3906 [ 528 [ 173 803AS107 6562
B 119 803AG602 7200 B « 229 86IA3I06 3941 B > 087 802A5307 5239
[ 311 S 165  863A6205 4676 B o 177 801A2707 3812 B v 117 862A5307 5023
[ 294 [ 156 863AG602 4675 [ 253 [ 229 8G1A207 369 B w 227 863AB006 4677
| 292 [T 081 86276305 4809 [ 29 Y 098 860A2707 121 | 585 088  802A6006 7125
B 079 862A6702 4809 B s 169 801A%406 4000 [ 585 [ 116 86206006 4809
[ 2814 D 108 803A6305 7200 BT s 218 B861A4406 3884 ] 395 157 803A6106 7200
B 150 8636305 4676 | 233 JEED 084 860A06 1520 EE w 154 803AS307 6914
[ 271 [ 140 83M6702 4675 B s 345 802AM06 7200 B 200 863A6106 4676
[ 259 [ 0.99 80346702 7200 107 150 801A2907 3619 | 523 [T 079 B802A6106 7125
[ 247 131 863AG405 4675 104 154 80IAS06 4000 B 104 86246108 4809
| 240 [ 093  803A6405 7200 106 195 861A2907 3562 B 105 862A5407 4280
B o 094 803AB802 7200 105 199 861AS06 3772 BEEE 5 137 803A6208 7200
B o 124 863A6802 4675 | 212 [0S 083 B8B0A4506 1230 B 3 098  862A6206 4809
| 225 [N 085  803AGS05 7200 | 212 [y 316 B02AM506 7200 a 132 803AS407 6375
[ 215 [ 114 863M6S05 4675 115 139 B0IAGOS 4000 a7 182 863AB206 4676
[ 195 [ 103 863A6902 1675 116 181 861A4606 3443 500 090  862A5507 3331
[ 190 [ 101 863M6605 4675 [ 102 [ 132 801A3007 3365 [ 45 [ 089 B62A6306 4809
[ 175 [ 093  863A6705 4675 | 132 [V 173 861A3007 3508 BEEE = 119 8036306 7200
[ 163 R0 087 863AT002 4674 B 274 B02MM606 7191 B s 165  863A6308 4676
[ 151 [N 0.80 863A6805 4675 T > 364 B862A4606 7200 538 117 803A5507 5067
134 252 B02MT06 771 542 115 803A6007 7200
135 336 B62A4706 7200 577 150  863M6007 4677
| 169 [EENKD 117 801A3107 307 597 1.04 803A6107 7200
[ 169 (NG 150 861A3107 3419 602 144 863ABA6 4675
| 163 [NE 117 801A4706 3812 610 1.02 803A6406 7200
[ 168 [ENEE 154 861A706 3812 659 132 8G3A6I07 4676
| 158 [T 113 801AM07 3630 661 094 803AGS06 7200
[ 158 Y 147 861A4407 3331 692 125  863ABS6 4675
FENO1/14 : DRIVE DESIGN & MAINTENANCE MANU, 183



SECTION : GEARBOXES

Series M Gearboxes : Motorised selection

Bold print indicates a 6 pole motor is used
Double reduction (see pages 199-200 for dimensions)

Nominal | Output Overhung Nominal | Output Overhung

Service Unit Service Unit

- ; A . Output Torque ) Load Output Torque . Load
Triple reduction (see pages 199-200 for dimensions) P " q Factor | Selection P " q Factor | Selection
. " . Rev/Min Nm N Rev/Min Nm N
Quadruple reduction (see pages 201-202 for dimensions)
B 372 862A2612 7200 | 762 T 141 803A5012 6626
0.25 KW MOTOR CONTINUED... [ 259 K 257 802A2712 7200 464 1.35 803A5408 7200
Nominal | Output | . Unit | Overhung T 341 862A2712 7200 an 185 863A5112 10000
Output | Torque Fe":'ce Sel "'t_ Load [ 255 NN 120 801A3108 3819 488 093  862A5112 3513
Rev/Min Nm BCION|SE CCHOn N [ 255 [N 121 801A2712 3220 478 0.95 862A5508 4820
L ¥ AT [ 255  [ERES 156 861A3108 3840 523 1.20 803A5508 7200
307 o 085 A03ABE06 [ 255  [EEREN 157 861A2712 3173 [ 635 L 118 803A6008 7200
% = = TG T [ 220 RV 115 801A4408 4000 [ 635 [T 118 803A5112 5470
% 109 SIAE30T %78 [ 20 [TV 148 861A4408 3686 [ 600 - 0.80 862A5312 3013
= il R T [ 234 [ 235 802A4408 7087 [ 597 [ 154 863A6008 4677
750 [ 095 63A5407 1675 [ 24 TS 311 862A4408 7200 5.87 572 079 862A6008 4809
B iR TG T [ 220 LS 103 801A2912 3267 B 152 863A5312 10000
] i SR i [ 20 T 134 861A2912 2812 5.76 583 107 803A6108 7200
[ 213 [T 1.05 801A4508 4000 [ 560 S 1.06 803A5312 6424
0.37 KW MOTOR [ 213 [T 135 861A4508 3383 [ 526 [ 136 863A6108 4676
Nominal | Outout Overhun [ 213 L 214 802A4508 7200 [ 523 [ 139 863A5412 8970
Output TOr(:llle Service [  Unit Load g [ 213 [ 283 862A4508 7200 [ 501 [ 093 803A6208 7200
Rev/Min Nm Factor | Selection N B ¢ 211 80242912 7200 [ 485 G 0.90 803A5412 4961
B s 630 B50A0903 pres [ 211 [T 272 862A2912 7200 704 123 863A6208 4676
s 5 BH0ATO08 a0 [ 108 [P 0.95 801A4608 4000 722 123 863A5512 7760
- [ 108 [TH 123 861A4608 2930 BEE s 112 863A6308 4676
| 23 R 48500 [660A0912 1730 B s 090  801A3012 2779 121 788 080  803AS512 3099
Lt 4Lp B60A1108 2 [ 192 VD 118 861A3012 2666 | 123 ) 079 803A6012 7200
[ 210 R 5B ) IRB60A1208 1782 [ 139 [T 188 802A3012 7200 BETE su 103 863A6012 4677
[ 180 R N R 60A1 012 i [ 139 [EEREN 21 86243012 7200 [ 398 TS 166 864A6012 18916
BT 2 S B IRECOATIE 18] B s 352 8034508 7200 B = 310 865A6012 25710
B 2 362 [1860A112 1792 B = 186 802A4608 7176 888 098  863A6408 4675
[ 152 S| WA A B 247 862A4608 6687 B - 301 865A6112 24951
B G268 IS60A1212 17% B v 316 803Ad608 7200 B - 158 864AG112 17870
[ 121 29 860A1708 1795 B o 080  801A3112 215 BEEE 090  863A6112 4676
[ 10 [ 272 8G0A1412 1795 B o 103 861A3112 2423 | 320 [T 0.85 863A6508 4675
32 210 860A1808 1795 [ 170 [T 171 80244708 7123 BT s 0.82 86346212 4676
[ 102 [T 257 860A1512 1767 | 170 Y 227 862A4708 7005 B o 259 865A6212 24951
[ 28 [ 245 860A1908 1708 | 169 [N 0.79 801A4708 3640 BE 136 864A6212 17870
[ sa [ 218 860A2008 1860 B o« 105 861A4708 3640 1243 121 864A6312 17870
[ 302 [EH n 8601712 1575 203 134 802A3112 7200 1239 231 865A6312 24951
[ 77 364 801A2108 4000 203 134 862A3112 7200 | 255 RV 217 865A6412 24951
[ 757 S 199 860A2108 1804 209 100 861A4412 2186 | 250 [REYS 114 864A6412 17870
[ 736 Y 344 801A1812 4000 216 157 802A4412 6045 [ 215 [T 183 865A6512 24951
[ 707 [ 185 860A1812 1451 277 208 862A4412 6391 | 211 [ 09  864A6512 17870
[ 633 [N 181 860A2208 1701 279 3.95 863A4412 10000 B 165 865A6612 24951
B s 3.16 801A2208 4000 24 21 803A3112 7200 | 100 [V 087  B864A6612 16792
53 303 8011912 4000 226 278 803A4708 7200 [ 181 L 154 865A6712 24951
[ 621 [ 291 801A2308 4000 233 0.90 861A4512 1945 | 173 [EER) 082 864A6712 16792
| 621 S 380 861A2308 3856 234 372 863Ad512 10000 | 146 PRV 125 865A6812 24951
[ 619 [ 162 860A1912 1415 240 141 802A4512 6506 B s 1.06 865A6912 24951
[ se7 [ 1.56 860A2308 1824 237 143 802A4908 7200 | 100 RS 088  B865A7012 24951
[ 570 G 267 801A2012 4000 239 189 862A4908 6393 [ 03 DR 1.08 868A8012 80613
| 570 G 343 861A2012 4000 237 190  862A4512 6204 | 07 [P 088  868A8112 80613
% 62 1.47. [ 860A2012 1425 22 087  861A4908 2560
66 24 801A2112 4000
26 255 803A4908 7200 0.55 KW MOTOR
| 518 G 242 801A2508 3963 255 082  861A4612 1674 :
[ 518 G 3.16 861A2112 3933 269 234 803A4512 7200 Nominal | Output | o . | | . | Overhung
| 518 | 66 319 B61A2508 3681 275 1.23 802A4612 5976 Output Torque Factor | Selection Load
68 1.34 860A2112 1278 274 164 862A4612 5713 Rev/Min Nm r ! N
I 69 130 860A2508 1562
BEE - 121 860A2212 1146 Zi ?;3 23323332 1;70;; EE A4 860A0916
B s 211 801A2212 3841 ' B 3.70 860A1016 1705
: 285 158 862A5008 6563
[ 0 G 275 861A2212 3768 G 345 860A1116 1740
298 21 803A4612 7008
B 204 801A608 4000 B 32  860A0917 1673
29 212 803A5008 7200
B 265 851A2608 3727 B 319 BG0AI2IG 7
295 295  863A4712 10000
[ 220 ) 112 850A2608 1810 0 B Temem | mE [ 1650 [ 268 8G0A1017 1720
B = 195 801A2312 3765 298 152 86204712 5556 | 169 [N 264 860A1416 1706
B 254 861A2312 3657 | [ 158 [V 244 860A1117 1715
324 105 802A5108 7200
BEA s 103 860A2312 17 | 157 [ 248 B860AI516 1703
322 140 862A5108 6018
B = 181 801A2708 4000 | 145 S 39 sMAI27 4000
339 185 803A4712 6645
B o 235 851A2708 3560 [ 190 [T 219 860AI217 1720
351 179 803A5108 7200
9 100 8G0A2708 1710 = s | emm | | 127 [ 361 BOIAIZIE 4000
B - 162 801A2512 3380 = o e | @m [ 125 [ 206 BGOAI7I6 1720
| 305 [ 211 861A2512 3380 ' 45 325 801A1417 4000
364 239 863A4912 10000
BE 331 802A2512 7200 I s 333 80IAI816 4000
370 170 803A4912 6403
BEEE 156 801A2908 4000 [ 110 [ 183 8G0AM17 1720
369 092  802A5308 710
B o 191 861A2908 3786 | 10 [T 188 860A1816 1720
376 120 862A5308 4950
BE o 083 860A2512 7% B « 173 860A1517 1671
397 158 B03A5308 7200
[ 250 [ 138 801A3008 4000 B - 295 SOIAISIT 4000
429 079 802A5408 6510
| 200 [TV 174 861A3008 3533 [ 101 [ 303 B0IAI9IG 4000
v 107 862A5408 5960
B s 1.36 801A2612 3493 8 106 86245012 4339 B - 3.74 861A1517 4000
118 177 512612 3173 [ 101 [ 38 8GTAI9I6 4000
429 203 863AS012 10000
B 280  802A2612 7200 [ 959 [EEN 170 860A1916 1570




GEARBOXES SECTION :

Series M Gearboxes : Motorised selection

Nominal . ) Overhun Nominal Output . 5 Overhun Nominal Output . . Overhun
Service Unit g P Service Unit 9 P Service Unit 9
L] Factor | Selection Load Qutput Torque Factor | Selection Load Qutput Torque Factor | Selection Load
Rev/Min N Rev/Min Nm N Rev/Min Nm N
58 278 801A2016 4000 B o 359 863A4416 10000 [ 635 TN 0.80 803A5117 3831
57 358 861A2016 3972 [ 27 [in 220 803A3116 7200 : 758 3.26 865A5217 29600
| 862 [N 153 860A2016 1831 [ 229 Y 281 8032717 7200 [ 616 [ 107 863A6016 4677
B - 252 8OIAITIY 4000 [ 225 [ 094 8614516 2800 | 616 [T 173 864A6016 18916
B - 326 861IAI717 4000 B 345 863A4516 10000 [ 611 [T 323 865A60186 25710
B ¢+ 142 860A1T17 1341 [ 20 ) 090  861A2917 1687 | 583 (NG 102 863A5317 5591
[ 802 [ 253 801A2116 3942 [ 20 [ 149 802A4516 7200 [ 568 [N 194 864AS317 20000
B - 329 s6IAZ16 3934 Bl > 197 862516 6652 | 568 [ 280 865AS317 29500
[ 732 S 138 860A2116 173 B = 371 863A2917 10000 914 314 865A6116 24951
69 231 801A1817 4000 [ 211 [ 142 80242917 6266 | 545 [ 164 864A6116 17870
B 3.02 861A1817 4000 B 183 862A2917 6249 [ 543 [ 0.95 863A6116 4676
B 126 860A2216 1558 B 257 803A2917 7200 | 523 [ 0.94 863A5417 a1z
B 125 860A1817 1129 [ 204 [N 085  861A616 2160 [ 520 [ 176 864ASA17 20000
73 220 801A2216 3885 | 196 ) 244 803A4516 7200 18 086 863A6216 EiiiA
73 287 861A2216 3798 B = 080 861A3017 1403 157 210 8552521 6 | 2
79 204 BOIAI917 4000 B - 130 802A4616 7154 T 1332 ;g; sggAgilg 1:;;:]
79 266 861A1917 4000 [ 191 [ 172 862A4616 5918 i R Lo 86405517 20000
B 202 801A2316 4000 [ 190 G 308 863A4616 10000 -
[ 420 [T 24 865A6316 24951
B - 264 861A2316 3719 [ 1389 [T 126 802A3017 6393
[ 419 [ERTEY] 126 864A6316 17870
[ 619 Y 1.09 860A1917 10066 [ 189 T 142 862A3017 6053
B ks 3.66 866A6017 41580
B s 108 860A2316 1770 269 261 863A3017 10000 3 = e T
[ 570 [ 1.80 801A2017 4000 [ 173 win 2.20 803A4616 7200 :
BEE 5 209 865A6017 25710
[ 570 [ 235 861A2017 4000 [ 173 [ 296 86344716 10000
I 1266 226 865A6416 24951
B 0.99 860A2017 10083 B s 119 802A4716 7050 B 10 R T
[ 535 S 168 801A2516 3908 [ 176 [ 158 86244716 6714 i o oF7 SR Tl
B - 222 861A2516 3380 [ 171 183 803A3017 7200 B s 08 SRR o
[ 522 [T 347 802A2117 7200 [ 169 [ 0.90 802A3117 6939 [ 352 RN 106 8606117 17870
| 513 [ 163 801A2117 3921 | 169 [ 080  862A317 6678 [ 333 [EEY 191 SE5AG51E 24950
[ 513 [N 212 861A2117 3871 [ 169 i 200 863A3117 10000 [ 3322 R, 100 864A6516 17870
| 517 [ 343 G02A%516 7200 | 156 [ 106 802A4417 4951 1526 289 866AG217 41580
[ 506 [T 091 86042516 1320 BEE 140 86244417 5177 EECEE e 174 865A6217 24951
[ 505 [ 090  860A2117 830 [ 155 [V 193 803A4716 7200 B s 091 864A6217 17870
| 450 [N 082 860A2217 603 | 155 [ 266 863AM47 9220 [ 300 [ 172 8G5AG616 24351
[ 450 KK 142 80A217 3604 [ 153 [ 142 803A3117 6908 B o 091 864AGBI6 16792
[ 450 [EEK 185 861A2217 3549 147 341 1.00 802A4916 7200 BEEEE o 255 866A6317 41580
B 3 142 801A2616 4000 [ 137 1.31 862A4916 5629 [ 281 [ERVEY) 161 865A6716 24951
B 1.84 861A2616 3469 145 347 2.50 863A4517 9072 B s 3.56 867A6317 64632
[ 22 [T 2.93 80242217 7200 [ 143 [ 248 86344916 10000 [ 275 [T 0.85 864A6716 16792
4.2 116 3.90 862A2217 6989 [ 142 [ 0.95 802A4517 5849 ) 1848 0.82 864A6317 17870
[ 33 [T 292 802A2616 7200 [ 142 ] 128 862A4517 4710 [ 2711 Rt 156 865A6317 24951
116 388 862A2616 7200 [ 142 [ 177 803A4916 7200 A 1909 231 866A6417 41580
122 131 801A2317 3414 | 126 [ 157 803A4517 7200 [ 255 RG] 146 865A6417 24951
I 17 861A2317 3332 | 124 [ 083 802A4617 4817 [ 250 [T 323 B67AG417 64632
B = 275 802A2317 7200 | 120 [ 1M 862A4617 4304 [ 229 [ty 202 866A6517 41580
T 366 862A2317 6929 B 211 B63A4E17 8636 | 226 [ 130 o65AG816 24951
[ 200 [NVY 267 80202716 7200 [ 122 [ 084 80245016 6500 | 22 [ 282 86IA6S17 64632
I 356 862A2716 7200 [ 122 [y 110 86245016 5960 | 215 [ 123 865A6517 24951
BE 1.26 801A2716 4000 [ 122 [ 21 863A5016 10000 | 206 (R0 1.82 866A6617 41580
BEE = 163 861A2716 3143 [ 119 o 402 864A5016 20000 | 197 [ 251 867A6617 64632
BE v 1.09 801A2517 2793 | 113 [y 147 803A5016 7200 I 2o m 865A6617 24951
s T T o [ 15 142 303A4617 6720 [ 192 A 1.10 865A6916 24951
B 1 263A4717 R [ 182 [ 161 866A6T17 41580
[ 320 RV 1.08 801A2916 4000 153
[ 181 [ 1.04 865A6717 24951
BETIE o 133 861A2916 3584 B s 102 862Ad4T7 3999
2871 222 867A6717 64632
B = 2.23 802A2517 6720 B 1.93 863A5116 10000
[ 164 [N 354 868A6717 80613
B - 295 862A2517 6700 [ 105 [EY 098 86245116 4900 BN —T——— T
[ 27 L 218 80242916 7200 | 108 TS 366 864A5116 20000 i e T R T
B - 275 862A2916 7200 [ 934 [l 125 803A4717 5812 EEEEE — T T
9.84 506 124 803A5116 7200 ;
BEETE s 095  801A3016 4000 | 984 | : O TR MR B
[ 300 [T 121 861A3016 3091 [ 943 K 085 862M917 256 B o oo T ooe
B 197 80243016 7200 [ 930 [N 084 B8G2A8316 3329 i T ooy T e
[ 293 [EPE] 2.20 8623016 7200 | 923 [N 161 863A4917 8407 B o0 160 867A6917 64632
175 082 801A2617 3013 [ 915 [ -4 F1803A4917. 5209 [ 119 R 256 868AG917 80613
176 119 861A2617 2391 9.04 552 158 863A5316 10000 A
439 244 8G8ATO17 80613
| 283 LY 188 802A2617 6635 | 891 [ 302 864A4917 20000 [ 110 [ 098 BGGA7017 41580
| 283 [EEREY 250 8622617 6491 | 879 [ 293 864A5316 20000 B 135 867A7017 64632
189 331 B03A2617 7200 | &3 [l 110 803A5316 7200 ] 5096 210 86BATMT 80613
B s 084 8013116 3690 [ 811 G 142 863A5416 9140 B o 082  86BATIT 41580
[ 264 [T 1.08 861A3116 3690 | 805 [ 275 864A5416 20000 0.9 5617 114 867A7117 64632
B 275 803A3016 7200 638 137 863AS017 7534 B o 176 868AT217 680613
[ 252 [T 140 802A3116 7200 658 259 8GAASOI7 20000 ] 6254 102 867A7217 64632
| 252 [T 140 862A3116 7200 [ 762 [N 085 803AS5017 6083 [ 075 [ 161 868A7317 80613
[ 259 [REG 173 802A2717 6675 1.51 668 0.94 803A5416 7200 [ 073 0.93 867A7317 64632
[ 250 [T 230 862A2I7 6491 [ 723 |G 126 8B3ASH16 7940 [ 061 R 123 88ATHIT 80711
[ 255 [T 0.82 801A2717 2481 1.15 699 125 863A5117 7534 [ 060 [ 076 867A7417 64690
[ 255 [T 106 861A2717 2391 [ 699 [ 239 864A5516 20000 [ 052 TS 1.12 868A8016 80613
| 223 [N 1.03 861A4416 3390 [ 696 [ 237 864A5117 20000 [ 051 [T 1.03 868A7517 80711
[ 22 163 802A4416 6917 [ 662 [ 084 803AB516 7200 BT 1379 089 868A7617 80711
| 222 [N 216 862A4416 6869 [ 656 [V 082 803A6016 7200 B 92 090 868A8116 80613
BT 12627 0.80 868A7717 80711
FEN01/14 : DRIVE DESIGN & MAINTENANCE MANUAL 185




SECTION : GEARBOXES

Series M Gearboxes : Motorised selection

Bold print indicates a 6 pole motor is used Nominal | Output . . Overhung Nominal | Output . . Overhung
Double reduction (see pages 199-200 for dimensions) Output | Torque Service Unit Load Output | Torque Service Unit Load
Triple reduction (see pages 199-200 for dimensions) Rev/Min Nm Factor | Selection N Rev/Min Nm Factor | Selection N

Quadruple reduction (see pages 201-202 for dimensions)

[ 53 T 138 861A2223 3306 [ 133 TS 3.44 864A4918 20000
[ ®9 LS 219 802A2223 6996 [ 123 XS 117 803A4523 7200
0.75 KW MOTOR 155 291 862A2223 6755 [ 126 [TV 083 8624623 2739
B 1.04 801A2618 4000 [ 125 [ 157 863A4623 7121
Nominal | Output . ., Overhun
p Service | Unit g [ s [ 1.35 861A2618 3182 [ 122 [ 3.08 864A4623 20000
Output | Torque | ‘o T o ion | 020 B s 214 802A2618 7124 [ 122 [ 155 863A5018 8450
Rev/Min Nm N [ ®3 L 284 862A2618 6675 [ 19 A 295 864A5018 19337
18 323 B60A0918 1536 [ 21 098 801A2323 3023 [ 113 ) 1.08 803A5018 7200
279 5 o L = [ 21 [T 128 861A2323 2971 [ 17 1.06 803A4623 6400
[ 21 TS 205 80242323 6915 588 148 863A4723 6721
247 23 243 860A0923 1610
[ 21 [T 273 862A2323 6628 B s 142 863A5118 7996
B » 253 860A1118 1694
[ m3 TS 3.76 803A2618 7200 [ 1o s 273 864A4723 20000
B > 2.34 860A1218 1633
[ 400 [ERVA 1.9 802A2718 7147 [ 108 KA 269 864A5118 19051
EECEN 41 801A1023 000 BT 261 862A2718 6769 [ 102 093 803A4723 4838
[ 133 [T 200 860A1023 1636 : -
BE 093 801A2718 4000 690 091 803A5118 7200
39 347 801A1418 4000
BEA 120 861A2718 2680 703 352 865A5218 29600
EECEE ¢ — 860AT18 il [ 363 LV 327 803A2323 7200 [ 93 [ 120 863A4923 6637
1Y) 322 801A1123 4000 : )
BE 321 803A2718 7200 [ 930 [EET 0.85 803A4923 3862
22 387 S61ATIZ3 2000 [ 351 [T 081 801A2523 2141 [ 906 EES 225 864A4923 18367
[ 151 [ 182 860A1123 1630 : -
i T TG 5 [ 351 R 1.06 861A2523 214 B = 116 863A5318 6910
: [ 0 098 861A2918 3360 8.80 774 319 865A5318 29600
[ 156 [l 313 801A1518 4000
BETE s 3.06 803A2523 7200 B s 220 864A5318 19410
[ 156 [ 375 861A1518 4000
[ 339 [T 166 80242523 6186 B s 1.04 863A5418 5530
147 47 2.92 801A1223 4000
[ 339 [ 220 86242523 6145 [ 805 IS 201 864A5418 18989
A v 353 861A1223 4000
BEEE 160 80242918 6970 855 1.02 863A5023 4794
[ 122 [ 164 860A1223 1636
211 201 86242918 6865 866 331 865A5023 29500
e — S - BE s 2.92 803A2918 7200 882 193 864A5023 17935
127 55 327 861A1718 4000 - - ‘
B G T = [ 300 [N 0.89 861A3018 2600 938 093 863A5123 479
BT o 7 T i [ 203 WS 0.89 861A2623 1521 [ 723 T 0.93 863A5518 3899
[ 293 [ 144 802A3018 7178 [ 719 S 3.00 865A5123 29500
BN o — SIS S [ 293 [ 161 862A3018 6658 [ 707 R 177 864A5123 17545
B o 244 801A1818 4000 : :
[ 291 RV 2.96 863A3018 10000 [ 699 [ 176 864A5518 18252
MR T I N T AT BT 0w swen B o7 o0 smsen o
B - 137 860A1423 1636 : :
[ 233 [T 141 802A2623 6429 [ 616 [IENS 0.79 863A6018 4677
[ 110 [ 138 860A1818 1636
[ 288 [TV 187 862A2623 5704 [ 616 IS 127 864A6018 18916
[ 103 [ 129 860A1523 1565
B - 247 803A2623 7200 B s 2.37 865A6018 25710
[ 102 [ 2.20 801A1523 4000
[ %4 ) 201 803A3018 7200 [ 533 G 378 86646118 41580
[ 102 279 861A1523 4000
[ 23 T 129 802A2723 6093 1187 2.09 865A5323 29330
[ 101 [ 222 801A1918 4000
[ 263 [ 171 86242723 5704 1181 144 864A5323 17044
[ 101 [ 281 861A1918 4000
[ 23 [ 331 863A2723 9420 [ 5a7 [P 2.30 865A6118 24951
BETE 125 860A1918 1417
B 1.03 80243118 7200 [ 545 [P 121 864A6118 17870
B Zt BN AZMB 368 [ 22 1.03 862A3118 7200 [ 528  [EREW) 131 864A5423 16406
78 262 861A2018 3957 : :
[ 262 [ 227 863A3118 10000 1344 329 86646218 41580
[ 852 [T 112 86042018 1800
[ 22 [ 1.20 802A4418 6729 1448 1.98 865A6218 24951
[ 330 [T 1.88 801A1723 4000
[ 22 N 159 862A4418 6502 [ 269 [V 1.04 864A6218 17870
[ 830 [N 243 861A1723 4000
[ 220 IS 264 863A4418 9458 [ 450 RV 116 864A5523 15789
[ 15 [ 1.06 860A1723 1081
292 161 803A3118 7200 1523 2.90 866A6318 41580
51 B 355 S 5430 [ 233 L 210 803A2723 7010 [ 421 R 273 866A6023 41580
[ 802 [ 1.86 8012118 3878 : :
[ 25 253 863A4518 9349 [ 220 [T 177 865A6318 24951
[ 202 [T 2.42 861A2118 3898
[ 220 [T 1.09 80244518 7200 [ 219 [T 0.93 864A6318 17870
[ 732 [ 1.02 8602118 1660
[ 20 KK 1.44 862A4518 6044 1670 381 867A6023 64632
R s 173 SO1A1623 4000 [ 20 [N 277 863A2923 9183 [ 205 [T 0.84 864A6023 18916
B s 2.25 861A1823 4000 : :
B o 1.06 80242923 5229 [ 205 [T 263 86646418 41580
T o« 359 802A1823 6590
[ 215 [ 137 862A2923 5192 [ 201 [T 156 865A6023 25710
B 0.93 860A1823 770
P 192 803A2923 6813 ET 166 86546418 24951
[ 710 [ 0.93 86042218 1400
[ 196 G 179 803A4518 7200 [ 393 [ERVES 0.87 8646418 17870
[ 698 [ 161 801A2218 3757
ETEE 360 0.94 802A3023 5497 BEEE s 367 867A6418 64632
[ 693 [N 21 86142218 3689
[ 193 [T 1.06 862A3023 4778 BEEEE s 248 866A6123 41580
B o 3.34 802A2218 6750
[ 191 [ 0.95 802A4618 7130 B sy 3.46 867A6123 64632
| 59 152 S o 3060 [ 191 [ 1.26 862A4618 5064 [ 359 [EERTES 151 865A6123 24951
[ 659 NG 1.98 861A1923 4000 : :
[ 101 [ 1.94 863A3023 9043 [ 350 [TV 2.30 8666518 41580
[ 642 L] 148 8012318 4000
[ 190 R 2.26 863A4618 9454 BE s 321 867A6518 64632
[ 612 I 1.94 861A2318 3568
388 161 803A4618 7200 [ 333 [ 1.40 865A6518 24951
[ 621 [ 313 802A2318 6880
385 217 8634718 9288 [ 333 [T 216 866A6223 41580
[ 635 [N 3.09 802A1923 6880
389 0.87 80244718 6970 BEEEE 2o 3.01 867A6223 64632
B 0.81 860A1923 678
390 1.16 862A4718 6390 [ 319 K] 207 866A6618 41580
EETEE 20 134 A 200 399 137 803A3023 7193 [ 309 AT 1.30 865A6223 24951
BE o 175 861A2023 4000 - : :
400 150 863A3123 9208 [ 305 K 285 867A6618 64632
B =~ 277 802A2023 7100
[ 166 [T 374 864A3123 20000 [ 300 A 1.26 865A6618 24951
B 2 3.68 862A2023 6381
[ 150 [V 1.05 862A4423 3829 [ 200 RV 1.90 866A6323 41580
B o 124 801A2518 3847
s R ' 851AZ518 2015 [ 157 [y 1.98 863A4423 8355 [ 285  [EEER 2.66 867A6323 64632
: 446 1.06 803A3123 6584 [ 232 [ 1.83 8666718 41580
B 259 802A2123 7050
[ 155 [ 142 803A4718 7200 [ 231 ) 1.18 865A6718 24951
| 3 345 123 6708 [ s s 1.87 863A4523 8042 [ 276 [IVH 116 865A6323 24951
[ 5271 [REY 121 801A2123 3833 ; :
469 0.96 862A4918 4780 [ 270 [ 252 867A6718 64632
| 27 159 B1A2128 3501 BT 0.96 862A4523 3050 [ 266 [P 173 866A6423 41580
[ 517 [EREN 252 802A2518 7052 : :
T 15 235 85202518 623 [ 13 1.82 863A4918 8661 [ 259 [TEE 1.09 865A6423 24951
BT 0 T o | 12 130 803A4918 7200 [ 258 LX) 241 867A6423 64632
488 349 864A4523 20000 [ 23 [ 158 866A6818 41580

|



GEARBOXES SECTION :

Series M Gearboxes : Motorised selection

Nominal Service Unit Overhung Nominal Service Unit Overhung Nominal | Output Service Unit Overhung
Lo Factor | Selection ol WL Factor | Selection ead Ll Lz O Factor | Selection oad
Rev/Min N Rev/Min N Rev/Min Nm N
[ 233 R 370 863A6423 80613 [ 151 R 124 860A1127 63 [ 21 186 862A2327 242
[ 233 [N 217 867A6818 64632 [ 161 [ 127 860A1524 1452 [ m10 [ 343 863A2724 252
[ 232 [ 151 866A6523 41580 [ 159 [T 218 B01A1524 4000 [ a9 [T 137 802A2724 7055
[ 226 [EENE] 095 8656818 24951 [ 159 [ 261 861A1524 4000 [ 409 [ 182 862A2724 6015
B w2 211 867A6523 64632 69 199 801A1227 69 [ w4 ) 0.84 861A2724 1870
[ 219 IV 0.92 865A6523 24951 A o 241 861A1227 69 [ 309 WL 332 863A2327 8888
[ 219 [0 348 868A6818 80613 B 112 860A1227 72 [ 363 [T 223 803A2327 281
[ 209 KA 136 866A6623 41580 [ 130 [ 185 801A1724 4000 BEE = 223 803A2724 7200
[ 208 VS 323 868A6523 80613 [ 130 [E 228 861A1724 4000 BETE s 291 863A2527 8888
[ 200 [ 132 86646918 41580 127 80 1.05 860A1724 1490 [ 312 S 292 863A2924 302
[ 200 [T 187 867A6623 64632 87 170 801A1824 4000 [ 300 [N 209 803A2527 300
[ 197 T 0.83 865A6623 24951 87 214 861A1824 4000 [ 339 [l 113 802A2527 299
[ 155 [T 182 867A6918 64632 [ 116 165 801A1427 88 [ 339 ] 150 862A2527 300
[ 192 ) 081 865A6918 24951 [ 116 [T 2.07 861A1427 88 BEE o 112 802A2924 6568
3623 299 868A6623 80613 [ 115 [ 361 802A1824 5720 303 1.40 862A2924 6279
[ 135 [ 1.20 866A6723 41580 [ 112 [ 0.96 860A1824 1490 [ 330 [N 2.04 803A2924 7200
[ 180 VD 291 868A6918 80613 B > 0.93 860A1427 91 BEI 1.01 8023024 7140
3852 165 867A6723 64632 [ 103 0.88 860A1527 9 [ 300 [EEEET] 112 862A3024 5712
3868 277 868A7018 80613 [ 103 155 801A1924 4000 [ 207 [N 2.06 863A3024 347
3996 111 86647018 41580 [ 103 [ 196 861A1924 4000 [ 289 [ 247 863A2627 8405
4097 264 868A6723 80613 [ 102 [T 150 801A1527 100 354 0.96 802A2627 354
[ 165 AV 154 867A7018 64632 [ 102 [T 191 861A1527 99 354 128 862A2627 354
[ 160 [ 1.04 866A6823 41580 103 319 802A1924 5940 B 169 803A2627 372
[ 153 [ 143 867A6823 64632 104 0.87 8601924 1150 376 1.40 803A3024 7200
[ 152 [T 2.39 868A7118 80613 B s 1.42 801A2024 3913 B 158 863A3124 385
[ 12 VG 2.28 868A6823 80613 [ o2 [TV 1.83 861A2024 3931 [ 263 [T 0.88 802A2727 386
[ 13 [ 0.93 866A7118 41580 115 2.94 802A2024 6130 [ %3 [ 117 862A2727 386
[ 133 [T 129 867A7118 64632 115 391 86242024 5743 [ 263 [T 2.26 863A2727 8405
[ 131 [ 0.87 866A6923 41580 [ 830 [P 128 801A1727 123 [ 259 [T 3.94 864A3124 399
[ 128 S 1.20 867A6923 64632 Bl 166 861A1727 122 [ 227 [ 0.84 8024424 6400
[ 128 G 2.00 868A7218 80613 [ 829 [P 275 802A2124 6229 [ 227 [l 1 862A4424 5860
[ 120 [ 0.81 866A7218 41580 [ 329 [V 3.66 86242124 5832 [ 245  [E 1.84 863A4424 420
[ 124 S 1.16 867A7218 64632 [ 819 [N 130 801A2124 3767 [ 222 [V 1.12 803A3124 7200
[ 121 191 868A6923 80613 [ 319 [N 168 861A2124 3836 [ 239 AL 382 864A4424 427
[ 117 S 183 868A7318 80613 136 1.18 801A1827 136 [ 233 [T 143 803A2727 438
[ 116 [ 1.82 868A7023 80613 [ s KT 154 861A1827 136 [ 230 [ 177 863A4524 446
[ 113 [ 1.06 867A7318 64632 [ 738 K 245 802A1827 137 [ 224 [ 1.01 86244524 4980
[ 108 GV 101 867A7023 64632 [ 133 [ERET 3.09 862A1827 138 [ 20 [ 1.89 863A2927 7755
[ 100 RN 157 868A7123 80613 [ 712 [T 112 801A2224 3534 [ 219 [T 359 864A4524 470
[ oo TV 1.40 868A7418 80711 [ 712 RV 147 861A2224 3498 B 0.93 86242927 473
[ 093 A 0.87 867A7418 64690 [ 699 [V 2.33 80242224 6512 [ 212 [ty 131 803A2927 479
[ 091 [ER 0.85 867A7123 64632 [ 699 [T 3.09 86242224 6042 [ 209 [T 349 864A2927 20000
8160 1.32 868A7223 80613 [ 659 TS 1.04 801A1927 154 [ 200 [V 125 803A4524 513
[ 0719 [V 117 868A7518 80711 [ 659 [T 135 861A1927 154 [ 195 ST 0.88 862A4624 3570
[ o S 1.20 868A7323 80613 [ 655 RS 1.03 801A2324 4000 [ 194 L 158 863A4624 529
10013 1.01 868A7618 80711 [ 655 [T 135 861A2324 3303 [ 193 I 3.27 864A4624 530
| 062 [EIIVS 091 868A7718 80711 [ 655  [RES 218 802A2324 6624 [ 191 [N 133 863A3027 7370
[ 062 D] 0.92 868A7423 80711 [ 655 [T 2.89 862A2324 5957 532 3.20 860A3027 20000
[ 052 [EREI 0.82 868A8018 80613 [ 635 [T 211 802A1927 160 [ 182 ) 151 863A4724 564
[ 635 [T 280 86241927 161 [ 181 112 803A4624 568
BETE s 0.92 801A2027 175 [ 173 [ 0.93 803A3027 585
1.1 KW MOTOR BET 120 861A2027 175 [ 172 1.02 863A3127 7823
B 189 802A2027 179 [ 171 290 864A4724 598
Nominal | Output | o . Unit Overhung [ 563 RV 251 862A2027 179 | 166 [EG] 2.55 864A3127 18720
Output | Torque | 5 f o Load | 565 [NERTY 347 s34 7200 | 158 [EGE 099 8034 649
Rev/Min | Nm actor | oelection N B v 086  801A2524 3740 641 135 863A4427 6840
o 97| RO1AG924 | 546 [EENES 113 861A2524 2459 656 260 864A4427 20000
B s e T — [ 533 [TV 177 802A2127 191 | 150 [ 403 865A4824 669
= ———— o B 235 862A2127 191 [ 152 ) 369 865A3227 29600
= - —T T [ 529 TS 326 803A2524 7200 | 18 G 128 863527 6240
— ——— o B = 176 802A2524 6794 [ 126 G 127 863Ad924 701
—5 TR — | 528 [EEREY 233 gBA524 6188 | 145 G 091 803AdE4 708
o 259 86141124 2970 194 0.83 801A2127 193 | 11 G 238 864A4527 18126
194 108 8s1A2127 193 [ 121 [ 240 864A4924 726
% 3 2357 SNAMZT 3 [ 513 [T 3.00 803A2027 199 [ 130 [ 365 865A4924 739
e Zg ?;13 gg;:ﬁz 1;?3 B > 280 803A2127 22 [ 135 [ 322 865A3327 29600
o po Lo 25080927 a I = 0.94 861A2227 22 | 125 [EE 1.07 863A4627 4470
BE — T 2992 T = 094  861A2624 2680 808 108 863A5024 825
s 232 86141224 2990 IEE s 371 863A2227 8987 812 2.10 864A4627 17846
BT o 1.49 802A2227 226 814 352 865A5024 831
% 4 163 8BOA1224 1496 BT — T 7 = 25 | e o
—m | g: ;3; 2:::3:; :: BT s 372 863A2624 231 862 1.01 863A4727 3701
i o T = 227 1.49 802A2624 6991 882 0.99 863A5124 900
0 12 S01A1424 4000 228 1.08 862A2624 6307 899 318 865A4727 29500
BT - 285 B861A1424 4000 BT — - o 318 Soars1z o
“ o o R e 427 239 26 803A2624 7200 915 1.86 864A4721 17539
S aww o ECEE W w o o R
167 A5 I 56 TR 27 Gl 243 ’ 1022 259 BG5AA827 29400

FEN01/14 : DRIVE DESIGN & MAINTENANCE MANUAL 187




SECTION : GEARBOXES

Series M Gearboxes : Motorised selection

Bold print inqicates a 6 pole motor is t_lsed ) Nominal . ) Overhung
Double reduction (see pages 199-200 for dimensions) Output Service Unit Load
Triple reduction (see pages 199-200 for dimensions) Factor | Selection

Quadruple reduction (see pages 201-202 for dimensions)

Nominal Service Unit Overhung
UL Factor | Selection et
Rev/Min N

Rev/Min N

867A6627 [ 103 RS 236 B02A1537 5670
5020 127 867A6924 5013 [ 103 K 333 862A1537 5460
Nominal | Output o . [ . | Overhung 5336 203 868A69%4 5330 i 234 802A1928 5814
Output | Torque | " | o vion | 02 5314 204 868AG627 80613 141 3.20 862A1928 5238
Rev/Min Nm N 5406 0.82 866A6727 41580 [ 02 [N 1.04 801A2028 3850
1066 082  863A4927 3539 5555 193 868A7024 5534 [ s02  JES 134 861A2028 3901
1087 384 866A5324 1109 5650 113 867A6721 64632 157 216 802A2028 5915
1109 154 854Ad9Zl 15510 5950 107 867A7024 5911 157 287 862A2028 5630
112 223 8G5A5324 135 6009 180  868A6727 80613 161 207 802A1737 5920
1114 153 8oaAs34 1138 6440 167 86BATIZA 6410 161 279 862AI737 5700
129 234 gg5AdS2] 29300 6554 097 8676821 64632 [ 843 [T 0%  801A1737 2600
1215 140 854AS424 1248 6967 156  86BA6B21 80613 | 33 [EEES 124 SGIAITZT 2300
1270 226 8GSAS02] 2928 7009 090  8G7ATIZA 7043 [ 829 [T 202 802A2128 6000
129 132 seaAs0Z] 14323 7684 140 8GBA7224 7636 | 529 |GG 269 862A2128 5710
1401 205  8GSAS12] 29258 7811 082 8676927 64632 [ 819 [N 095  801A2128 3640
1395 122 864AS524 1424 7901 081 867AT224 7829 [ 519 [EENGH 124 861A2128 3764
1410 313 866A5127 49100 8309 1.30 868A6927 80613 B 342 803A2028 7200
197 121 seaAs127 13333 8410 128 868A7324 8356 183 088 801A1837 2300
1474 283 866A5227 49100 8649 1.24 868A7027 80613 | 760 [REX 1.15 861A1837 2300
1526 289 BGGA6024 1536 10028 107 88ATIZI 80813 [ 750 RS 183 802A1837 6119
1492 166 8655220 29166 10408 098 86BA7424 10314 | 750  [ED 230 862A1837 5732
1587 089 B854A6024 1588 11968 090  868AT22] 80613 [ 714 LS 322 803A2128 7200
1601 165  865A6024 1621 12497 081 BGBA7S24 12351 | 712 [T 083 B801A2228 3280
1679 2563 866A6124 1689 13090 082 868A7327 80613 | 712 | 132 13? Zg%gg Ziig

1694 247 8G6AS32T 48700 | 69 | :
1741 1.42 865A5327 29033 | 639 [EENE 227 862A2228 5869
1733 099 s4As 11871 1.5 KW MOTOR Zgg ?;? :g::::::; ;ggg

1730 367 867A6124 1737 | 669 | |
1789 160  65A6124 1808 Nominal | Output , | overhung [N 669 NI 302 s0Mz28 7200
Service |  Unit | 656 [NV 382 863A1937 8921

1794 0.84 86446124 1795 Output Torque ; Load

1910 089  864AS427 10117 Dol || oro | | e N [ 655 099 861A2328 3000
1930 229 866A6224 1940 | 655 [l 160 802A2328 6333
1988 320 867A6224 1995 B 291 80140928 3725 | 655 [P 212 862A2328 5651
2080 138 eesABZe 2103 B S | OIS | e | 645 [EAD 157 8021931 6330
2188 o 866A6324 P B 1.65 860A0928 1484 B s 209 86241937 5904
oo —T———T— 287 49 240 801AI028 3917 BT 2 o e 9013
2328 123 se5A6 2349 | 27 R 260 | GRS EE0R | 606 [EEPAN 230 803A1937 7200
2376 185 866A6027 41580 | 255 L) | G 1517] BETE s 089 861A2037 2050
213 T 866A6424 R | 262 [ 218 801A0937 3100 [ 578 [N 341 863A2037 8727
2449 260 8GIAGDT 662 BT 25 | CHIEED 2 21 141 802A2037 6489
280 116 8e5ABe 2508 | 50 B A5 | AT £ 21 187 862A2037 6028
AT o | e Tl | 250 [V 263 861A1128 3948 B s 255 803A2328 7200
2492 106 85027 25710 |1 128 WB50A03] 980 B = 083 861AZ528 1789
2614 169 8666127 41560 | 20 R 180 | GRS L] | 5.1 [ 132 802A2137 6491
2694 2% sIAGIZT 6462 EETEE o 20 | GOAVZED | G [ sa1 [ 175 862131 6212
2703 393 sosABe 2713 EETEE o A | R <t | 535 (G 081 861A2137 1900
2763 160 8mAGE24 2776 [ 21 R A | GEONZA | (B | s5 [ 319 8G3AZ28 8300
2785 105 ssAe1Zl 24951 | 157 R (277 W EOTA1037 gl [ 529 [N 239 803A2528 7200
2849 223 867A654 2854 EECE 20 | CSLNED 2 | 528 [N 129 802A2528 6499
2929 362 sG8AEZI 80613 | 157 L CIEON ME02A 1037 ald] | 528 [N 171 862A2528 5575
' B s 1.02 860A1037 980 [ 525 [T 312 863A2137 8543
gggg ?ig ggzﬁiz; 4219522 [ 130 [ 177 801A1428 4000 B - 224 803A2037 =200
3071 144 seosee 3081 | 150 Ry A0 | A Ay | 466 [T 210 803A2137 7200
3095 206 sGIAG221 6462 B o ) | GARVA) | 1A | 58 W 277 863A231 8251
309 o G68AB524 s | 170 [ 1.64 801A1137 3100 [ 57 [ m 80242237 6232
210 19 e 3216 |0 R s | GOVAREY { 200 451 305 148 8622231 5787
TIE o oo | s [ 167 [ 342 802AN37 5270 [ mo RN 273 863A2628 8966
3265 088 GeAeR4 3293 EECEE s OB | LD il | s [ 110 802A%628 6840
335 316 8G8A6Z1 80613 EECEE UED | A 2] 310 145 862A2628 5658
; BEE s 1.60 801A1528 4000 43.7 319 197 803A2237 7200
3405 130 866A6327 41580 — s 1 — -ﬂ-_ i T SRR T
22;? ?Z, gggﬁg%i 22;? | 150 [ 148 801A1237 3100 B s 139 86242337 5501
2490 082 seAET4 314 | 150 R S/ 66 TA 12373 25 326 192 803628 7200
3510 181 86637 64632 |10 R AR WE02 1257 Al [ a0 [EEED 251 863A2728 8670
3631 175 8764 3633 |14 G W360A1237 980 | 00 [EEERY 100 80242728 6950
: [ 130 [T 136 801A1728 4000 BT 134 862AZ728 i
3757 118 866A6427 41580 e o — — —a N SR R o
2:153 i;g :::::3;: 83?; [ 13 [IE 123 801A1437 3100 BT s 166 TV e
; [ 13 [IE 155 861A1437 2300 B - 168 803A2728 il
3471 16 — baE37 [ 117 [E 125 801A1828 4000 BT 217 #63AD53] R
402 110 866AG824 4033 — R — — o B BT R i
4209 151 g67AG824 4209 — —— o R T
Y e ey EEDEM s o7 ey s BECTEN 0 Lz Wm0
e o 86706527 62637 B 265 802A1828 5611 B o 214 863A2928 T
444 242 se8AE 4475 BTN | G il BE s 082 802298 6110
e e R 11580 [ 104 [EREN 112 801A1537 3100 B 103 86242928 L
4802 0%  866A6A 4804 10 R 142 | USPAES) 2AH] BETE 0 149 803A2928 7200
T — T T | 103 [EERES 104 G01A1928 4000 B o 397 864A2928 20000
’ [ 103 [REG 144 861A1928 4000 [ 295 [T 363 864A3028 20000

|



GEARBOXES SECTION :

Series M Gearboxes : Motorised selection

Overhung 2.2 KW MOTOR

Nominal Service Unit Overhung
L Factor | Selection e
Rev/Min N

Nominal | Output

Service Unit

Output | Torque S Load
Rev/Min Nm Factor | Selection N

Nominal | Output Service Unit Overhung

WL e Factor | Selection P

464 151 863A3028 8708 A o 290 867A5337 66700 Rev/Min | Nm N
| 203 [N 184 863A2631 7246 O s 18 866AS37 47734 — — 1
[ 200 S 085 8622637 2754 B 2 193 866AG128 41560 o —
[ 286 L 350 864A2637 20000 2336 1.06 865A5337 28693 ’

499 126 803A2637 7200 260 270 867A6128 64632 ! £ | GSAWERD | SR
513 103 803A3028 7200 EEE 20 118 86506128 24951 = 112 860A0S3%6 1380
| 268 G 168 863A2737 7246 B v 250 S67ASA37  6B6OD 2 162 B01AI036 380
518 087  862A2731 2754 | 518 [ 168 866A628 41580 /2 168 | GHOAWER | G
514 116 86343128 10000 [ 50 238 867AS537 66500 2 3301 [ 802710361 (4718
| 261 |G 379 865A3128 29700 B o 235 B6TAG28 64632 % 094 B6OATOS6 1380
| 260 [ 319 864A2I37 20000 280 2836 101 865A6228  24%1 1 iy | ERUSS | R0
| 259 [N 289 864A3128 19737 | 452 LT 360 86BAG228 80B13 15 376 8620985 7200
| 2«5 [ 135 G63A4428 7426 G 2 148 B66AG328 41580 5 149 801A035 3100
| 22 [ 083 803A3128 7200 B o 211 8675637 66400 7 173 8610345 2300
| 29 [ 281 864A4428 19600 3052 331 86BASE37 80300 g 16 | GOATIES | &9
| 236 [ 107 803A2731 6301 B a4 207 G6TAGR8 6462 7 17 | GEINTES | Gl
| 20 [ 130 8G3A28 6908 B 091 865A6328 24951 3 | GIATIED | A
| 23 G 141 863A2931 6122 [ a7 S 139 866AG037 41580 2 088 8GOATIS6 1380
| 219 [ 263 864Ad528 19310 [ a5 R 184 8GTAG037 64632 N 142 B0IAIZ 3970
| 216 [ 098  803A2937 5363 T o 135 B66AB4Z8 41580 ol 164 861A1236 3970
[ 212 [ 260 864A293 18642 342 318 8GBAEIZ8 80613 & 289 BAIZE 4881
| 210 NG 375 8G5A328 29600 | a0z [EEE 085  865AB428 24951 L0 121 80lAI4E 3100
| 200 S 0% 80358 7200 BT s 188 BO67A6428 64632 10 il | CHNNTE | 28
[ 194 [ 099 863A3037 545 | 389 (G 126 866A6137 41580 103 2 | GHATD | E
| 194 [ 116 883628 7410 EE 297 868AG037 80613 1 94 | ERSCG | A
| 194 [EWE 239 8GAA3037 18360 | 37 GRS 176 S6TA6137 64632 ik} 140 | GOV 4000
[ 193 [N 240 8GAAIE28 18882 I e 288 8G8AG428 80613 i 1410 L B61AT436 4000
| 182 [ 111 863M728 6620 | 362 [T 118 866A6528 41580 Il 2R | GVRAVED | 0
787 364 8GA8 29600 [ am (e 164 B67ABS28 64632 5 382 8G2A4 48R3
| 71 [ 213 8T8 19178 A o 270 8G8AGI3T 40613 120 112 BO1ATAS 3100
810 240 865A3137 29500 | 33 [ 110 8666237 41580 120 i) | GHID | 2
| 169 [EEE 190 864A3ZT 17258 B s 153 867A6231 64632 173 233 | BRA1M5 | 5070
| 160 [JNE) 101 863A4437 5110 | 326 (WY 106 866AB628 41580 174 ECI N 567A 1135 N ]
| 158 S 302 865A4431 29500 [ 323 | 252 86GAGS28 80613 130 100 | GOATEES | A0
| 156 [N 194 8644437 18038 B o 146 867AB628 64632 150 1) | GRS | I
[ 154 [ 275 865A3Z31 20472 BEEITI 4515 235 868AG237 60613 130 L0 | GNRER | G
| 154 [N 296 8G5AME8 29462 | 208 (W 097  866AG337 41580 5] 344 8G2ATS 4915
| 150 [ 095  863A4537 4180 BT w55 233 G6GAG628 60613 138 743 I 8 603114518 N/ 200
| 145 [N 083 83A98 3640 [ 289 MWD 135 867A633 64632 17 102 BOIAI245 2650
[ 143 R 177 864A4S37 15084 4733 084  866A6T28 41580 197 iz | GHAED | 2
| 142 [EA 272 8G5AS3 23400 451 129 G67A678 64632 18 214 80201205 5130
| 141 [ 176 864M928 17066 5041 088 866A6437 41580 150 CIUUB 56251245 B 1]
[ 130 [ 268 8s5MM8 2043 T 18 208 868A637 60613 152 I 60317245 8 /0
| 137 RO 240 BG5A333) 2932 | 2620 [ENGEN 123 8GTAG437 64632 155 2 | CWNER | B
| 131 [RITG 361 866Ad928 49600 | 250 [T 206 868AG728 80613 o5 289 86736 4998
| 127 R0 264 BG5A4637 29400 [ 203 [ 081 866AG828 41580 153 WP | GWIAER | AT
| 126 RO 157 8G4Ad37 15384 | 201 [T 185 8G8AG437 8013 i 113 [ 861AI736 4000
[ 124 [N 258 8G5AB028 29348 [ 23 [ENSED 101 G67A6828 64632 7] 300 803A1M5 7200
| 121 [IKS 151 8G4AS028 16851 | 220 [ 107 867A6531 64632 173 OGN W86 TA1A35 B 0150
[ 114 [ 237 8G5AUI3 29318 T oo 178 868A6B28 80613 173 178 B02A1ME 5250
| 12 b 139 8GAMT37 14726 | 211 [ 164  868A6537 80613 15 2 | CHAE |G
| 12 [ 234 8G5AB128 29820 [ 203 [EEONG 095  BGTAG637 64632 175 084 801A1836 4000
[ 111 [N 358 86GAB128 49300 [ 199 GG 093 8676928 64632 175 00 | GRINEES | A0
I 20 138 seAnIZ8 15434 | 191 |k 152 868A6637 60613 160 179 802A1836 | 5420
T 1285 324 860AG228 49300 72771 149 868A6%28 80613 150 28 | CEONRER | GOE
| 101 [k 193 865A4837 29181 | 180 [N 084  8GTAGT3 64632 13 318 803836 7200
| oo [k 180 865A628 29200 [ 1e0 [ 142 86BAT0Z8 80613 17 097 861A1545 2000
| 985 [NV 271 8G6A4837 49000 | 169 [T 134 8G8AGT3T 8013 ik 1618 (18021154518 (5350
| 520 [EREGE 115 8G4AAIET 12244 [ 155 [ENEY 122 868ATI28 80613 153 27 | EXNED | G
| o0 [V 282 8G6AG38 48965 [ 145 [T 116 868AGB37 80613 20} 097 BG1AIS6 4000
IEETTE 515 175 8G5A4E 29081 EEE 78 103 G66A228 60613 205 372 G63MIE%6 8331
1517 163 865AG328 29166 P 50 097 868AGS3T 80613 203 I | GIPAGRS | 6RO
1519 112 864ASI8 17200 BT 48 09 GEGAVIZ8 U613 203 26 | GHED | B
| 855 [N 23 866A4937 48700 T 66 093 86BATO37 8013 217 274 803A1545 7200
| 831 [N 269 866AS037 48700 223 233 BU3AI936 7200
| 52 [ 103 864A5428 15200 227 091 861A2036 3850
1705 168 865A5037 29034 232 333 863A2036 8633
[ 789 [EERPES 098  8G4AS037 10194 33 146 802A203 5539
[ 743 [T 343 B67AS137 66800 233 193 862A20% 5431
| 731 [ 153 865A5137 28982 236 142 8021745 5540
[ 721 [T 234 866AS137 48200 237 191 862A1745 5340
| 713 [EEEV 090  8GAA5137 8434 248 248 B03AIM5 7200
[ 711 [REV 090  B8G4AS528 11700 248 315 863A1745 8620
| 692 [EEEE 211 866A5237 48136 249 136 802A2136 5598
2003 323 867A5237 66700 2%9 181 862A213 5497
[ 650 [ 212 866AB028 41580 250 084 B61A2136 3640
2002 124 865AS231 28350 256 310 863A2136 9020
[ 635 [N 297 8676028 64632 259 231 803A2036 7200
B s 121 8658028 25710 2 293 863A1845 8440

RIVE DESIGN & MAINTENANCE MANUAL




SECTION : GEARBOXES

Series M Gearboxes : Motorised selection

Bold print indicates a 6 pole motor is used

Double reduction (see pages 199-200 for dimensions) o Lo

Overhung Nominal Service Unit Overhung

Service Unit

Triple reduction (see pages 199-200 for dimensions) Outpu.t Torque Factor | Selection Load Outpu_t Factor | Selection Load
Quadruple reduction (see pages 201-202 for dimensions) Rev/Min Nm N S L/
977 253 8653336 29429 [ a9 I 159 867A6236 64632
[ 194 DTS 163 864A3045 15492 4368 243 868A6236 80613
Nominal | output | ¢ | | overhung [ 192 [T 273 B6SA4636 29429 | 452 [ 100  866A6336 41580
Output | Torque ; Load [ 192 R 270 865A3045 29400 [ 452 S 250 868A5545 80900
Rev/Min o Factor | Selection N [ 191 [T 162 864A4636 16927 T s 144 867A5645 65962
[ 183 [T 349 866A3145 49500 4476 2.26 868A5645 80865
iy 125 802MIB45 5680 B 397 G66AM7I6 49582 [ 30 e 140 8670633 64632
| 750 R 157 862A1845 5480 B 5 245 86SAA736 29376 [ 27 095  866AGDA5 41580
| 705 [ 217 803A2136 7200 1188 164 8653145 29390 [ a5 132 8GIA6045 64632
| 697 [EOY 214 803A1845 7200 | 159 [RIEG 144 8eAMTI 1772 [ a0 [ 091 866ABI3E 41580
| 694 [N 275 8632236 883 BT v 130 864A3N5 14699 [ sz (R 215 8G8AG336 60613
| 692 [N 115 B02A2236 5764 [ 153 [RPIS 335 866A3M5 49400 B o 127 8G7AB43 64632
| 692 [ 153 862A22% 5567 | 157 [P 206 865A4445 29200 B - 086 B66A6145 41580
| 652 [ 204 803A2236 7200 [ 155 [P 293 866A4M5 49200 B s 203 86BA6DA5 80613
EGCTE s 260 863A1945 il | 156 VL) 132 8G4A4M45 14606 [ 377 [ 120 867A6145 64632
| 643 [l 108 802A233 5822 [ 51 [BREE 188 865A325 29250 B s 195 868AB436 80613
315 143 862A2336 5113 [ 152 Rk 2.00 865A4836 29220 [ 358 [ 0.79 86646536 41580
[ 65 [l 107 802A1945 5820 | 152 R 313 866A335 49200 B 141 B67ABS36 64632
| 615 [l 142 862A1945 5610 1346 281 866A4835 49101 B 184 86BAGNS 80613
[ 614 [ 246 863336 80%2 A 10 121 864A4S45 12236 B oo 105 867A625 64632
| 06 KA 157 803A1945 7200 BT o 186 865A4S45 29100 [ 319 [OE 170 8686536 80613
| 578 K 233 863A2045 7790 [ 141 PR 264 866A4545 43000 [ 308 [ 098 867A6636 64632
[ 576 [EE 09  802A2045 5920 [ 120 TR 119 864A936 14328 BT oo 161 868A6205 80613
[ 526 [ 128 862A2045 2y [ 138 [V 181 865A4936 29144 [ 290 [T 157  B86BAGG36 80613
[ 559 [N 172 803A23% 7200 [ 137 R 164 865A3345 28975 [ 289 RO 092  867A6345 64632
[ 51 [ 090 802A2145 £l | 132 [Rb 290 866A4645 48900 | 273 [T 087  B67A6736 64632
[ 541 [ 120 862A2145 5750 [ 30 [EREE 244 BGOM36 48771 [ 200 |GV 142 868A6345 80613
| 529 [N 215 8G3AZ6 7680 [ 127 e 180 B65A4645 29100 B s 084 8GTAGMS 64632
| 524 [ 213 863A245 7470 B 278 8G6AS036 48771 B 139 868AG736 8013
| 523 [ 161 803A253 7200 [ 126 [RES 107 8G4AdGIS 11076 [ 20 [ 129 868AGM5 6013
[ 522 [ 087 802A2536 S | 125 [RE 400  867AS036 66923 [ 21 A 120  86BAGB36 80613
[ 522 [N 116 86242535 4504 [ 122 [EEYS 174 865A5036 29082 [ 2n RS 112 86BA6S45 8013
| 521 (K 153 803A2045 7200 [ 120 EGA 1.02 864A5036 14531 [ 191 I 1.04 868A6645 80613
[ 515 [ 345 864A2145 20000 B o 261 866A4TAS 48500 B s 101 868AG936 80613
| 656 [NCH 143 803A2145 7200 I 162 865A4745 29000 11227 0.96 868A7036 80613
| 453 [ 189 863A2205 6963 B 360 BG7A5136 66826 B s 092  B6BA6T45 80613
| 56 [ 101 862A2245 5060 [ 2 R 095  864A4T45 9804 B 06 083 868A7136 80613
a47 327 864A2245 20000 [ 111 [ 158 865A5136 29006 [ 146 [EEGT 079 868A6845 80613
BT s 184 863A2635 8001 [ 110 [RER) 242 86AS136 48360
| m3 | 4g0 0-28 ﬁzfﬁ 4%; [ 109 [EREX 093 864A5136 12174
[ 17 ) 1.34 45 7 [ 105 [ 21 A52. 4832
| 432 [ 3.45 864A2636 20190 [ 103 | 13(3)6 3.33 gg;?zi? ngzg 3.0 KW MOTOR
A 095  8G2A2345 4450 | w00 PR 132 865AdBd5 28800 e o Overh
| @22 RS 130 803AZ636 7200 | 50 T 185  8G6A4845 47635 omina UPU | Service | Unit verhung
| 205 [0 170 863A2736 7430 [ 55 N 122 8655236 28626 Output | Torque | oo | Selection | -2
[ 405 [ 169 863A2345 6666 B s 300 867A5336 66730 il || Wi N
| a4 [ 030  8G2A2736 3645 B o 190 866AS3% 47855 [ 3% | 80270938
[ 03 G 305 864A2345 20000 222 119 865A4945 28700 BEEE 144 801A0938 3100
EE ¢ 32 864A2736 20215 2248 110 865A5336 28762 BE o 170 861A0938 2300
EETE s 114 803A2345 7200 B 161 866A4SA5 46378 [ 22 [ 118 BOIAI038 3100
EETE s L1 803A2736 7200 [ 530 [P 183 866ASDA5 46425 [ 22 138 8GIAI038 2300
EETE s 148 863A2545 6666 2410 264 8G67AS0AS 6600 [ 22 Y 241 B02AT038 4648
I s 106 803A2545 7200 [ 52 [T 262 8O7AS436 66636 [ 22 Y 386 862A1038  43%
EETE s 145 863A29% 7261 2500 115 8GSASDA5 2800 B o 289 863A0953 6020
[ 333 G 273 864A2545 20000 2585 245  8O7AS536 66536 [ 256 [T 112 80IAI38 3100
| 327 [ 101 803A29%6 7200 2682 237 SGTASME 66531 [ 256 I 130 8B1ATI3E 2300
[ 321 R 268 864A2935 1882 B 104 865A5145 28500 [ 251 [ 226 B02AI38 4720
| 321 [EES 390 865A2936 29615 2775 159 8G6AS1A5 46625 B 369 862AT138 4450
[ 294 [N 245 864A3036 18617 [ 652 RN 144 866AS245 46450 B = 38  B03ATI38 7200
| 200 G 102 8B3A303% 7502 [ 655 [P 379 868AS536 80900 B - 104 80IAIZ38 3100
| 203 [ 126 863A2645 5217 2938 220 SGIAS25 66420 B - 120 861A1238 2300
700 409 865A3036 29617 2952 343 868A5636 80900 B 211 802A1238 4791
B s 239 864A2645 17987 2957 219 B67AS36 66442 B 333 G62A1238 4504
733 0.86 803A2645 7200 [ 659 [ 3.36 868A5245 80900 [ 203 [ENEY 373 803A1238 7200
758 115 863A2745 5217 T 2936 085 865A5245 28300 147 289 863A1053 8470
| 260 [WEX 218 864A2745 17718 [ a8 [N 143 966AG036 41580 [ a1 [T 333 B03AA38 7200
EETE 256 865A3136 29563 [ 628 [EDE 200 867A6035 64632 156 088 SO0IAA38 2600
| 255 [E 195 864A3136 19279 B s 310 86BAB3M5 80900 157 103 861A1438 2300
[ 22 [ 091 B63A4436 5530 3269 198 867AB35 66373 158 184 B02A1438 4911
| 238 [T 3.06 865A4436 29523 [ 601 [N 126 866A5345 46044 158 280 862A1438 4733
| 236 Y 189 8G4A4436 18900 [ 589 [EECH 130 8G6ABI36 41580 [ 165 [T 289 8G3ATIS3 8620
| 4 284 865A2845 29500 3055 307 86BAG036 80613 B s 079 SO0IAIS38 2300
| 33 284 865A3236 29546 [ s [ 182 87A6138 64632 [ 156 [V 095  B6IAIS38 2200
. 884 0.88 863A4536 4630 3677 173 867A5445 66232 [ 156 [EEPE 168 802A1538 4968
| 23 [ 096  863A2945 3265 | 526 |G 279 868A6136 80613 [ 156 [ERVA 252 862A1538 479
[ 216 [N 178 8G4A453 18103 [ 512 [ 104 866A6236 41580 [ 153 [T 289 863A153 8750
| 214 [T 281 865A4536 29423 [ 510 [N 163 867A5545 66115 [ 122 [T 304 803A1538 7200
| 212 R 178 864A2945 16267 3935 280 868A5MS5 80300 [ 130 [ 146 802A1738 5026
[ 212 [ 257 865A2945 29500




GEARBOXES SECTION :

Series M Gearboxes : Motorised selection

Nominal Overhung

Nominal Service Unit Overhung

Nominal Overhung

Output SF:::‘:)cre Se::el::lttion toad
Rev/Min N

L SF:::‘:JCre Sell.('el::lt‘ion ol
Rev/Min N

Output t S
Rev/Min Factor | Selection N

[ 130 | 862A1738 [ 232 RS 208 865A3238 29370 868A5553

127 218 083 861A1738 2000 [ 29 [V 347 866A3338 49452 5977 178 8686238 80613
B 273 803A1738 7200 [ 25 VS 337 866A2953 49400 6000 108 867A5653 65462
[ 125 [V 327 863A1738 7698 BE s 133 864A2953 13552 5976 169 868A5653 80825
238 289 863A1453 9090 | 216 [P 193 865A2953 29303 6235 1.02 867A6338 64632
B 303 863A1838 7607 B 3 130 864A4538 16724 6778 157 868A6338 80613
[ 13 [T 131 802A1838 5202 BT 1286 206 865A4538 29235 6877 093 867A6438 64632
[ 113 [T 174 862A1838 4855 [ 212 [ERVEI) 293 86644538 29500 7476 142 868A6438 80613
[ 105 [ 233 803A1838 7200 1337 185 865A3338 29234 7878 081 867A6538 64632
[ 103 [ 275 863A1553 9240 [ 200  [RELY) 3.09 866A3053 49100 8563 124 868A6538 80613
BEI = 272 863A1938 7670 [ 200 [k 322 866A4638 29500 9440 115 868A6638 80613
[ 974 [ 116 802A1938 5343 [ 198 [ERELY 122 864A3053 12214 10673 102 868A6738 80613
[ 974 L 158 862A1938 4762 [ 196 [T 202 865A3053 29067 12346 088 868A6838 80613
[ 915 G 174 803A1938 7200 [ 101 RV 2.00 865A4638 29194
B s 248 863A2038 7956 [ 190 [EERVEY 1.19 864A4638 14693
[ 871 [T 107 802A2038 5110 1481 262 866A3153 48845
B o 142 862A2038 5204 [ 130 [T 2.90 86644738 48921 4.0 KW MOTOR
328 2.36 863A1753 7950 [ 174 S 123 865A3153 29150 Nominal | Output ; ; Overhung
341 1.00 802A2138 5140 [ 172 L 1.80 865A4738 29120 outout | Toraue | S€™Vice |  Unit S
340 133 862A2138 5254 [ 172 G 0.97 864A3153 11775 pu 4 Factor | Selection
31 227 863A2138 8480 B 105 864A9738 16100 e .
354 169 803A2038 7200 [ 166 TG 251 866A3253 48681 2 221 802A0946 413
356 382 864A2138 18200 [ 159 [V 0.9 864A4453 10683 92 318 862A0946 4160
362 220 863A1853 7683 1760 141 865A3253 28995 92 1.09 801A0946 3100
3% 159 803A2138 7200 1742 3.56 867A4838 66900 92 1.29 861A0946 2300
[ 691 [ 201 863A2238 8190 [ 155 [V 2.34 866A3353 48436 94 3.26 863A0946 7490
403 112 86242238 5221 [ 151 [T 146 865A4838 28944 114 318 803A1046 7200
403 363 864A2238 18800 [ 150 [ERETY 337 867A4553 66800 129 0.90 801A1046 2650
BT o5 195 863A1953 7218 [ 149 R 205 86644838 48286 129 1.05 861A1046 2300
B o 149 803A2238 7200 [ 145 L) 091 864A4553 7953 130 1.83 802A1046 4561
[ 646 [T 1.05 86242338 4500 [ 141 RN 3.20 867A4938 66700 130 293 862A1046 4345
[ 533 [N 374 864A1953 19300 [ 140 [REV] 123 865A3353 28520 131 326 863A1046 7780
[ 611 [ 180 863A2338 7040 [ 139 [ERIG 087 864A4938 11200 142 217 863A0955 7888
[ 609 [ 337 864A2338 19500 [ 137 ) 132 865A4938 28813 143 0.85 801A1146 2400
B o 174 863A2053 6718 [ 135 [ 313 867A4653 66700 142 0.99 861A1146 2300
[ 575 [T 295 864A2053 19900 [ 129 WAL 178 866A4938 47825 145 172 802A1146 4620

55.7 499 126 803A2338 7200 A 2,04 866A5038 47825 146 281 862A1146 4394
[ 535 ST 159 863A2153 6243 [ 125 I 2.93 867A5038 66738 147 3.26 863A1146 7930

52.7 525 158 863A2538 6400 [ 122 V) 127 865A5038 28779 161 293 803A1146 7200
B 258 864A2153 18460 [ 120 [ 278 867A4753 66600 161 3.26 863A1246 8050
[ 521 [ 118 803A2538 7200 [ 112 AL 263 867A5138 66611 161 0.9 861A1246 2100
[ 520 [N 0.85 862A2538 3280 [ 110 [T 115 865A5138 28648 163 161 802A1246 4678
[ 502 [ 288 864A2538 20000 [ 109 ) 177 866A5138 47287 163 254 862A1246 4438
594 141 863A2253 5491 [ 106 [ 241 867A4853 66600 180 284 803A1246 7200
[ %5 [ 245 864A2253 18233 T 2606 1560 866A5238 47214 197 217 863A1055 8290
| w2 S 135 863A2638 6898 [ 102 [T 244 867A5238 66511 202 254 803A1446 7200
B s 253 864A2638 18667 [ 100 [wan 373 868A5238 80900 207 140 802A1446 4770
[ 20 [ 0.95 803A2638 7200 2792 0.89 865A5238 28400 208 213 862A1446 4596
BEE o 127 863A2353 5050 [ 950 RV 216 867A4953 66500 211 311 863A1446 8370
[ w2 228 864A2353 18181 [ 919 IV 343 868A5338 80900 221 217 863A1155 8420
B s 124 863A2738 6012 [ 917 RN 2.20 867A5338 66484 235 128 802A1546 4809
BEET o 409 865A2738 29600 [ 907 S 139 866A5338 46586 236 1.91 862A1546 4634
[ 302 [ 2.35 864A2738 18492 3076 081 865A5338 28300 241 2.86 863A1546 8510
BETE 350 865A2453 29500 [ 845 AL 198 867A5053 66328 243 217 8631255 8522
B 111 863A2553 5050 [ 820 [EEERV) 1.92 867A5438 66345 257 231 803A1546 7200
BET s 081 803A2738 7200 3537 180 867A5538 66245 281 M 802A1746 4835
[ 353 |G 315 865A2838 29600 [ 769 [ 312 868A5053 80900 281 161 862A1746 4666
817 205 864A2553 18181 3551 3.10 868A5438 80900 292 2,08 803A1746 7200
| 337 1.06 863A2938 5750 [ 759 [ 178 867A5153 66225 292 2.49 863A1746 7128
BET s 317 865A2553 29500 [ 710 [ETEE] 287 868A5153 80900 318 217 863A1455 8334
[ 320 [ 196 864A2938 17475 [ 691 K 1565 867A5253 66100 321 231 863A1846 6943
[ 20 [T 2.85 865A2938 29492 [ 683 [ 277 868A5538 80900 321 343 864A1455 16700
| 209 0.94 863A2653 2898 [ 673 K 252 868A5253 80900 323 1.00 802A1846 4930
[ 207 [ 3.06 865A2653 29500 [ 670 [y 1,60 867A5638 66103 323 132 862A1846 4653
[ 203 [ 179 864A3038 17036 T 4039 251 868A5638 80900 347 177 803A1846 7200
[ 201 [ 179 864A2653 15687 B o 1.05 866A6038 41580 361 2,06 863A1555 8232
[ 289 [ 2.99 865A3038 29478 [ 626 [EWE) 1.46 867A6038 64632 362 343 864A1555 17000
1005 386 866A3138 46600 [ 52 R 2.32 868A5353 80900 369 207 863A1946 6844
1012 0.86 863A2753 2898 [ 620  [ECS 1.48 867A5353 66000 376 1.20 862A1946 4445
[ 269 [T 277 865A2753 29400 [ 587 R 0.95 866A6138 41580 401 132 803A1946 7200
[ 25 [ 163 864A2753 15111 [ 576 [ 2.25 8686038 80613 418 1.89 863A2046 7110
| 257 [RVA 187 865A3138 29407 | 569 [T 133 867A6138 64632 420 1.08 862A2046 4920
[ 255 [N 143 864A3138 18755 [ 554 [ 1.30 867A5453 65812 427 333 864A2046 17400
[ 206 [REIT 373 866A3238 48400 [ 520 [N 2,04 868A6138 80613 438 177 863A1755 4
| 239 [T 213 865A2853 28790 [ 521 I 122 867A5553 65675 an 3.40 864A1755 17500
[ 237 I 2.24 8654438 29335 [ 513 TS 210 868A5453 80900 448 1.01 862A2146 4950
B - 325 866A4438 29500 [ 511 R 083 866A6238 41580 461 173 863A2146 7804
[ 235  [RIE 139 864A4438 18100 [ 295 [T 116 867A6238 64632 465 129 803A2046 7200

468 291 864A2146 16986

FEN01/14 : DRIVE DESIGN & MAINTENANCE MANUAL 191




SECTION : GEARBOXES

Series M Gearboxes : Motorised selection

Bold print indicates a 6 pole motor is used

: : - Nominal | Output . ) Overhung Nominal | Output . ) Overhung
Double reduction (see pages 199-200 for dimensions) Service Unit Service Unit
; ; . . Output Torque ; Load Output Torque ) Load
Triple reduction (see pages 199-200 for dimensions) " Factor | Selection : Factor | Selection
Q . ; . Rev/Min Nm N Rev/Min Nm N
uadruple reduction (see pages 201-202 for dimensions) o 353 T prom preype
[ 200 [EEEY 232 866A3055 47958 8912 119 868A6346 80613
1863 0.92 864A3055 8116 BET s 1.08 868A6446 80613
Nominal | Output | o . | .  |Overhung [ 196 [REL 152 865A3055 28652 [ 323 [V 0.95 868A6546 80613
Output | Torque | o " | o loction | 1030 [ 194 [RE 152 865A4646 28900 [ 293[RV 0.88 868A6646 80613
Rev/Min Nm N [ 193 [RER] 090 864A4646 11900
BRrE o o ows oon  EEIEE 5 s mes
| 73 [ 310 864A18E5 18100 : 5.5 KW MOTOR
[ 179 IR 313 867A4746 66841
[ N3 ) 121 803A2146 7200 —5 ] .
_ 527 153 863A2246 7385 2098 137 865A4746 28800 Nominal S . Overhung
BT 2 092 865A3155 28850 ervice Unit
| 599 [N 0.85 862A2246 47900 Output . Load
[ 169 IV 285 867A4455 66700 . Factor | Selection
[ 697 [ 2.76 864A2246 17340 Rev/Min N
B - oW R A [ 166 [WAIK 1.88 866A3255 47784
: 802A0954
B s 113 803A2246 7200 | 159 A s | CENIED | G
[ 159 R 271 867A4846 66800 407 125 236 862A0954 4160
B 280 864A1955 17670
BEEE 5 1.06 865A3255 28677 128 240 863A0954 7393
20 B — R ek [ 155 | A BET 235 803A1054 7200
B 256 8O4AZ346 17752 20 /51 66671335 B 751 '
50 o T i | 153 [ m 865A4846 28600 [ 200 [T 135 B802A1054 4430
575 642 27 36822055 17998 [ 151 IV 156 866A4846 47267 BT 217 862A1054 4270
[ 150 [ 253 867A4555 66741 177 240 863A1054 7647
[ 565 G 0.96 803A2346 7200
[ 53 G 353 865A2446 27400 BTV 255 1 56/31555 8 M50 R s LS8R 1 §63A0957 4 B /651
} X [ 13 244 867A4946 66611 [ 261 [ET 250 864A0957 14328
[ 535 [ 1.20 863A2155 4710
s R —T—— 160 [ 10 RS 092  8G5A3B5 27952 | 258 [N 127 B02ATIBA 4470
: [ 139 [T 100 865A4946 28400 B 207 862A1154 4310
| 529 [0V 0.90 803A2546 7200 e - e o R 240 GB3ATI5d 7709
BEE © 194 864A2185 16537 ity 163 iS00 :
[ 135 [ 235 867A4655 66616 234 219 217 803A1154 7200
I s 358 865A2155 27900
[ 131 136 866A4946 46641 [ 22 [l 240 863A1254 7732
BE s 219 864A2546 17785
B — T T | 128 [P 155 866AS046  46BA1 [ 230 [ 119 802A1254 4510
: [ 127 S 223 867A5046 66507 B 187 862A1254 4340
791 1.06 863A2255 3650
[ 122 [T 097 865ASD45 28400 [ 20 [ 209 B03AI254 7200
[ 456 [ 358 865A2255 29000
| 121 [N 147 866A47S55 46358 270 158 863A1057 8020
B s 184 864A2255 16025
63 —T—— 5520 [ 120 EEVE 209 867A4TS5 66516 B 187 803AT4B4 7200
' B 2 351 868A5046 80900 I s 250  864A1057 15164
[ s T 343 865A2646 29300
B o T onm s | 14 EES 200 867AS146 66342 [ 131 ] 103 802A1454 4560
' [ 112 [ 0.88 865A5146 28200 [ 181 [ 157 862A1454 4390
[ 20 [ 323 865A2355 29500
B 095  863A2355 e BT 2 135 8665146 45946 | 173 [ED 229 863A1454 722
. R — T i 3408 323 868AS146 80900 [ 175 [ 379 8G4A1454 15336
' | 106 IS 122 866A5246 45824 [ 168 [T 158 863A1157 8120
[ a0 ) 0.95 863A2746 4240
O a1 S65A2748 pT [ 106 [ 181 867A4855 66437 [ 166 [ 250 864A1157 15442
' | 104 IS 186 867A5246 66242 [ 160 [T 0.94 802A1554 4570
BETE 95 179 864A2746 16338
BETE o — T T [ 102 R 310 86BA4SS5 80900 [ 160 [ 141 862A1554 4400
' [ 100 2.84 868A5246 80900 [ 156 [N 211 8631554 7667
[ 353 [N 2.39 865A2846 29111
5 R —T 2030 B s 104 8G6A48S5 44125 [ 155 [ 376 8641554 15648
' [ om0 ) 162 8674955 66325 [ 153 [T 158 863A1257 8180
BETEE 0% 154 864A2555 15909
1095 — T T [ oa0 283 868AA955 80900 BT 250 8G4MI257 15614
: [ 02 [ 261 86BAS346 80900 [ 196 RV 171 803A1554 7200
BET o 238 865A2555 28275
| 930 DG 167 867A5346 66176 [ 130 [ 119 862A1754 4390
BEE 6 1.49 864A2946 15792
B 217 OR5A2945 T [ 920 [ 106 866A5346 45000 [ 129 [ 153 803A1754 7200
: 4189 080  866A4955 40408 [ 120 [N 184 863A1754 6273
EETHE 1150 325 BEEAZSSS U0 [ sm2 | [ 127 [ 3.28 864A1754 16175
[ 312 [T 373 B66A2655 44700 29 IO RB56 5055 B M5/ :
| 845 [N 148 8675055 65988 436 170 863A1854 5948
BET 12 348 866A3046 45100
1212 R W T [ 831 [ 146 867A5446 65981 17 437 158 863A1457 7200
[ 27 R 279" sgeAzes5 " | 26750 4650 137 867A5546 65881 [ 116 [T 098 862A1854 4350
BETEE — T [ 236 BG8ASMS 80900 | 115 [ 250 8G4AT4ST 15800
: am 231 86BAS0S5 80900 [ 113 [ 299 864A1854 16393
[ 201 [V 134 864A2655 12812
[ 759 [N 133 867A5155 65841 B o 131 803A1854 7200
[ 230 [EEA 2.93 866A3146 46066
[ 739 [T 090  866ASIS5 42575 [ 103 D 150 863A1557 6720
| 221 R 323 866A2755 46600
B o | o | e BT 50 216 868AS5155 80900 [ 103 [ 250 8G4A1557 15821
B s 122" | 854n2755 = ! 5164 081 866A5255 42113 | 102 [ 153 863A1954 5604
[ %1 BRI 142 ST T | 692 [N 21 868A5546 80900 [ 100 [N 089 862A1954 3970
BT < 293 866A2855 47300 | 691 [EEY 124 867A5255 65700 971 524 270 8G4A1954 16821
' 5311 191 8G8ASG46 80900 I s 098 803A1954 7200
BT 3 1.09 864A3146 18100
BT o e AT o B s 1.22 867A5646 65678 89.8 566 1.39 863A2054 5840
: 5358 189 86BAS5255 80900 I 5 245 864A2054 15526
[ 21 RIS 170 865A4446 29100
[ 239 [L 247 866A4446 29411 T 551 DD BE6 5015 560 ne — S B =
20 BRI 5 emnms | o | 635 [N 112 8G7A804 64632 | 57 248 BGMITS] 15777
B s 6| s | e | 622  [E 174 868A5355 80900 | 814 [ 127 863A2154 6791
[ 620 [N 111 867A5355 65533 631 0.95 803A2054 7200
| 236 [REV 158 865A3246 29151
B o 171 868AG46 80613 635 215 864A2154 15166
|22 R B o 01 srAsi6 64632 [ 769 [ 120 863AIES7 5320
| 25 [0 253 866A2955 48566 : '
[ 20 R 2 TR e | 550 GG 097 867A5455 65267 [ 73 [ 226 B864A1857 15980
m 1674 0-99 864A4546 15000 m 6841 1.55 868A6146 80613 72.3 705 0.89 803A2154 7200
2 B 5 T TR | 521 G 091 867A5555 65125 T s 113 863A2254 6178
09 1 [ 513 [0 157 868AS4S5 80900 720 379 865A2254 25256
[ 215 BRI | ores 29023 | 502 [NV 088 867A6246 64632 [ 707 [IE 206 864A2254 15150
; [ 452 [REE 135 868A6246 80613 752 084 B03A2254 7200
[ 215 |G 223 866A4546 29411
[ 20 I 4 AR e B s 141 868AS555 80798 | 669 |G 107 863A1957 4379
EEDEE o 245 BOBAIGA s [ 253 RN 081 867A5655 64837 T s 370 865A1957 25700

8




GEARBOXES SECTION :

Series M Gearboxes : Motorised selection

Nominal . . Overhun Nominal | Output . ) Overhun Nominal | Output . ) Overhun
Service Unit 9 P Service Unit 9 P Service Unit 9
Output Factor | Selection Load Output Torque Factor | Selection Load Output Torque Factor | Selection Load
Rev/Min N Rev/Min Nm N Rev/Min Nm N
[ 638 [RED 347 865A2354 26068 [ 150 ESR 184 867A4557 66654 [ e G 371 865A1565 23000
[ 633 LT 204 864A1957 15225 147 3430 3.24 868A4557 80900 [ 11 112 863A1956 3952
[ 629 [ 101 8632354 3751 [ s 180 867A4954 66477 [ 100 [ 363 865A1956 23200
[ 626 [V 1.89 864A2354 15130 [ s 1.08 866A4557 49000 717 197 864A1956 14395
[ 500 ) 0.95 863A2057 3369 [ 113 G 317 868A4954 80900 [ 15 [N 3.06 865A1665 23300
[ 579 S 286 865A2057 25816 [ 135 S 119 866A4657 48900 [ 395 [ 102 863A2056 4148
[ 515 [ 161 864A2057 15146 [ 135 UL 171 867A4657 66491 [ 877 [EN 277 865A2056 23212
[ 561 [ 260 865A2454 26609 [ 133 [ 1.00 86644954 44866 B -~ 1.80 864A2056 13028
B 3 0.89 863A2554 2400 [ 130 [ETE 114 866A5054 44866 [ 229  [EETY] 278 865A1765 22983
[ 535 ) 0,87 863A2157 2409 [ 129 YA 164 867A5054 66161 [ 811 S 093 863A2156 5440
[ 526 G 141 864A2157 13651 [ 122 [ 270 868A4657 80900 869 157 864A2156 12740
[ 521 [T 260 865A2157 26386 [ 121 R 107 866A4757 44490 [ 89 ) 253 865A2156 23415
51.7 981 162 864A2554 14463 [ 120 ALY 152 867A4757 66391 [ 708 [ 083 863A2256 4570
[ 508 [T 2.38 865A2554 2177 4261 259 868A5054 80900 [ 707 T 2.77 865A2256 24134
1045 361 86642554 38534 [ 15 [ 148 867A5154 65938 [ 04 [T 1.49 864A2256 12230
[ 466 [ 260 865A2257 27367 [ 12 099 866A5154 43934 [ 636 [N 253 865A2356 24702
[ 45 [N 134 864A2257 12713 [ 11 SH 244 868A4757 80900 B s 1.38 864A2356 11635
[ 452 [ERTEY) 253 865A2654 28168 [ 108 [T 238 868A5154 80900 BT s 3.20 866A2065 35800
BEE 6 142 864A2654 13907 [ w08 [y 0.90 866A5254 43739 [ 581 [EERTE 1.20 864A2065 11344
[ 20 RV 235 865A2357 27621 [ 106 KN 132 867A4857 66193 [ 559 [T 3.04 866A2456 36300
[ 512 VRS 357 866A2754 40553 [ 105 [ 137 867A5254 65838 [ 559 [V 1.90 865A2456 25554
[ s2 [P 125 864A2357 12500 [ 102 [ 2.09 868A5254 80900 [ 532 RN 2.89 866A2165 36900
[ w09 [PE 229 865A2754 27558 [ 102 e 2.26 868A4857 80900 [ 531 KA 1.05 864A2165 9803
[ w3 VS 132 864A2754 13107 [ o500 I 1.18 867A4957 66062 [ 515 [RETY 1.18 864A2556 10034
EET 323 86642854 41131 B 5 193 868A5354 80900 BT 380 174 865A2556 25813
[ 369 [RKEE 191 865A2457 26812 [ o3 L 123 867A5354 65715 [ 5 RV 264 866A2556 37839
[ %3 [V 177 865A2854 28377 BT 5309 210 868A4957 80900 1465 3.02 866A2656 38185
BEF s 281 86642954 42931 [ 845 [EIEE 1.08 867A5057 65479 [ w0 RS 0.99 864A2265 8297
BET 1498 112 864A2557 12500 [ 83 [N 108 867A5454 65436 [ 450 R 185 865A2656 26659
BE 5 173 865A2557 26437 [ 792 [ 101 867A5554 65336 1568 1.04 864A2656 10200
[ 209 RN 1.10 864A2954 13268 6331 174 868A5454 80900 B 0.93 864A2365 7954
BETE 50 160 865A2954 29107 [ 769 L 170 868A5057 80900 [ a0 261 86642756 39480
[ 20 [EEH 237 866A2557 42700 [ 750 R 0.97 867A5157 65266 [ a0 [T 379 867A2756 66500
[ 312 [l 271 866A2657 43141 7027 157 868A5157 80900 1710 168 865A2756 25925
[ 05 [ 257 866A3054 44336 [ 702 [T 156 868A5554 80900 [ w2  [EHE 0.97 864A2756 8800
IETT 1685 101 864A3054 12097 B 2 0.90 867A5257 65100 BEEE s 236 866A2856 40372
BETE 09 168 865A3054 29046 7216 0.90 867A5654 65042 [ 373 RPN 3,50 867A2856 66800
177 167 865A2657 26375 7202 141 868A5654 80900 BEFE 99 129 865A2856 27400
[ 291 [my 098 864A2657 8500 [ 613 [EY] 1.38 868A5257 80900 BEE o2 0.83 860A2565 7954
[ 284 [EVEN 217 866A3154 45266 [ 622 Y 127 868A5357 80900 BEE 02 2,05 86642956 42040
[ 271 REN 235 866A2757 44541 [ 620 [V 0.81 867A5357 65833 [ 335 [T 3.16 867A2956 66700
1868 340 867A2757 66700 [ 592  [EEE 1.26 868A6054 80613 [ 328 [ 117 865A2956 28800
[ 29 LA 151 865A2757 25795 B o 115 868A6154 80613 BEY 2 188 86643056 43318
[ 265 [EED 0.89 864A2757 6963 [ 513 [N 115 868A5457 80900 2339 123 865A3056 28700
[ 265 [EEE 105 865A3154 28919 T 10658 1.00 868A6254 80613 [ 283 I 158 866A3156 44200
[ 259 [RESS 213 866A2857 45717 [ 4652 RN 1.02 868A5557 80713 [ 272 5 112 865A2765 22912
1954 317 867A4454 66701 10957 0.93 868A5657 80700 B s 2.32 867A4456 66670
[ 253 [RECH 2.09 866A3254 46900 I 12036 0.88 868A6354 80613 [ 252 Y 153 866A3256 45700
[ 26 Y 317 867A2857 66700 B s 376 868A4456 66400
BEEE o 182 866A4454 29277 [ 202 RS 133 866A4456 29100
[ 201 [ 2.84 867A4157 66700 2878 0.86 865A2865 24802
[ 239 VS 117 865A3254 28821 7.5 KW MOTOR [ 235 GRS 142 866A3356 46576
[ 239 [IEX 1.16 865A2857 26575 ] 3057 137 866A2965 45650
| 235 [ 195  866A3354 47854 N[;"“'"a' 19“"’"‘ Service |  Unit 0":"‘:““ 3029 205 867AISS6 66779
BT o 281 867A4554 66848 Jigguid orque | ctor | Selection o4 | 22 [V 348 868A4556 66400
[ 25 IS 184 866A2957 47316 Rev/Min |  Nm N 3148 120 866AdSSE 29100
[ 21 AR 284 86TA2957 66600 863A0956 | 205 [EOD 132 866Ad656 29100
[ 213 [N 164 866A4554 29277 174 277 864A0956 13458 [ 204 [ 1.90 867A4656 66640
[ 217 [EE 275 867A4257 66600 22 176 863A1056 7470 [ 202 [N 125 866A3065 43962
[ 215 [ 1.05 865A2957 28690 248 277 864A1056 13997 [ 133 I 1.06 866A3165 45163
[ 212 e 1.04 865A3354 28624 B » 185 864A0965 14100 [ 185 G 2.99 868A4656 66400
[ 205 [T 181 866A4654 29277 B 176 863A1156 7415 3716 1.19 866A4756 45200
[ 205 [ 2.60 867A4654 66731 BEEE 277 864A1156 14177 [ 181 Y 1.69 867A4756 66637
[ 200 [ 169 866A3057 46245 [ 231 ) 176 863A1256 7310 4106 1.02 866A3265 44642
[ 196 [N 1.10 865A3057 28030 [ 226 R 277 864A1256 14357 [ 168 |G 272 868A4756 80900
[ 192 S 2.44 867A4357 66500 [ 186 K 185 864A1065 14850 [ 160 V3 1.46 867A4856 66450
[ 187 1.43 866A3157 46800 392 168 863A1456 6860 [ 156 KL 0.95 866A3365 44140
[ 185 A 163 866A4754 46853 397 277 864A1456 14612 [ 154 MK 252 868A4856 80900
[ 132 I 2.31 867A4754 66754 [ 167 [ 185 864A1165 15100 [ 153 e 0.84 866A4856 43700
[ 169 [ 2.08 867A4457 66637 [ 156 [T 154 863A1556 6545 [ 124 VAN 131 867A4956 66300
[ 168 [WEC) 3.72 868A4754 80900 [ 156 [T 275 864A1556 14670 [ 122 ES 232 868A4956 80900
[ 166 [N 137 866A3257 46437 BEEE - 185 864A1265 15100 [ 129 L 084 866A5056 42500
[ 162 G 359 868A4457 80900 [ 128 [N 134 863A1756 5134 [ 123 SN 1.20 867A5056 65700
B 0 2.00 867A4854 66650 B 240 864A1756 14656 [ 17 1.89 868A5056 80900
[ 159 D 1.20 866A4457 49200 B = 399 865A1465 22500 [ 115 [N 1.08 867A5156 65400
[ 155 [V 128 866A3357 46050 59 125 863AI8S6 4621 [ 105 [V 174 86BASISE 80900
[ 155 VS 345 868A4854 80900 B 397 865A1856 22600 [ 105 [ 1.00 867A5256 65300
[ 153 [T 115 866A4854 45738 B o 219 8641856 14523 [ 102 Y 153 868A5256 80900
FEN01/14 : DRIVE DESIGN & MAINTENANCE MANUAL 193




SECTION : GEARBOXES

Series M Gearboxes : Motorised selection

Bold print indicates a 6 pole motor is used
Double reduction (see pages 199-200 for dimensions)

Overhung Nominal Overhung

Nominal | Output Service Unit

Service Unit

Triple reduction (see pages 199-200 for dimensions) Outpu.t LD Factor | Selection Load Outpu.t Factor | Selection Load
Quadruple reduction (see pages 201-202 for dimensions) Rev/Min Nm N Rev/Min N
[ na RS 261 867A2766 65208 [ 212 | 865A0974
[ m12 [t 1.16 865A2766 23066 [ 18 ] 249 865A1368 19772
[ 397 S 163 866A2866 39044 [ 195 [T 349 866A1074 27700
- B 575 242 867A2866 65228 [ 131 [ 349 866A1174 28100
Nominal | Output Service Unit Overhung BEE s 368 868A2866 80924 782 267 865A1468 20227
Output | Torque [ " | cojection | 02 [ 363 [N 202 867A4166 50560 [ 176 1.40 864A1468 11900
Rev/Min Nm N BEE s 0.89 865A2866 25688 | 159 S 2.48 865A1568 20381
858A5356 BET »0 346 868A4166 66432 | 157 139 864A1568 11000
7196 0.90 867A5356 65100 BT 2950 142 866A2966 40481 144 966 349 866A1274 29200
8663 127 868A5456 80900 2925 342 868A2966 80900 [ 13 [ 201 865A1668 19486
9695 114 868A5556 80900 [ 33 LY 218 867A2966 66000 [ 133 [T 3.66 866A1668 29400
9855 103 868A5656 80900 BET oz 0.88 865A2567 19700 BEE 07 1.90 865A1374 20033
10787 0.94 868A5365 80900 [ 333 NG 2.05 867A4266 50560 [ 122 I 121 864A1768 8959
13002 085 868A5465 80900 [ 307 [ 130 86643066 41536 I s 183 865A1768 19966
BEE 2 336 868A4266 66432 [ 122 i 331 866A1768 30000
BE s+ 1.92 867A2667 64772 1188 328 866A1868 30200
B 306 1.86 867A4366 50560 [ 15 [T 2.00 865A1868 20266
11.0 KW MOTOR [ 286 |G 109 866A3166 42333 B 110 864A1868 7509
: [ 273 G 172 867A2767 64702 B 1.86 865A1574 20033
Nominal | Output | o . Unit Overhung [ 269 K 2.96 868A4366 66432 [ 13 [ 3.02 866A1968 30954
Output | Torque | | selection | 1220 | 258 [ 1,60 867A4466 66616 [ 101 KRS 1.83 865A1968 19933
Rev/Min Nm N [ 255 [ 1.06 866A3266 43600 B o 1.00 864A1968 5299
253 121 863A0966 7040 BT o2 160 867A2867 63983 1478 153 865A1674 19166
B = 191 8640966 13197 4054 2.59 868A4466 66275 [ 892 [REG 242 866A2068 31354
B = 121 863A1066 7160 [ 24 [T 0.92 866A4466 28788 1585 1.40 865A2068 20202
| 2.2 [T 191 864A1066 13625 4258 0.98 866A3366 44339 1573 0.91 864A2068 3659
395 1.21 863A1166 6900 [ 29 kL 1.42 867A4566 66658 [ 229 TS 139 865A1774 18045
| 250 [ 191 864A1166 13768 [ 24 v 2.40 868A4566 66275 [ 814 R 364 867A2168 55200
B - 121 863A1266 6570 [ 23 144 867A2967 65900 [ 803 [RVEE 218 86642168 31312
| 23 3 191 864A1266 13910 [ 20 [ 083 86644566 28788 [ 795 [EVE 128 865A2168 19528
| 199 G 341 865A1366 20209 207 4858 0.91 8664666 28788 B 359 867A1874 55600
B 116 863A1466 5350 [ 206 [T 131 867A4666 66481 [ 762 [EREXY) 150 865A1874 18329
B o 365 865A1466 20624 [ 202 [ 0.85 866A3067 39966 [ 755 [EEE 240 866A2268 31628
B 191 864A1466 13346 5352 206 868A4666 66206 [ 32 L 337 867A2268 56100
| 160 [ 340 865A1566 21072 [ 183 R 117 867A4766 66433 [ 72 L 1.40 865A2268 19926
[ 157 [ 1.06 863A1566 4580 5879 188 86844766 80900 [ 691 [ 314 867A1974 56600
646 189 864A1566 12957 I 7 101 867A4866 66100 GEE 2056 216 86642368 30688
B 275 865A1666 20720 [ 155 [ 174 868A4866 80900 2092 137 865A1974 17921
B s 0.93 863A1766 3140 [ s 0.91 867A4966 65988 [ 650 VL 299 867A2368 56772
| 123 A 165 864A1766 11998 BT 552 160 868A4966 80900 B 26 128 865A2368 19580
| 126 Y 250 865A1766 21211 [ 13 I 130 868A5066 80900 [ 585  [EWELY 1.06 865A2074 17688
B 0.86 863A1866 2300 [ 109 [ETE 120 868A5166 80900 [ 576 IS 258 867A2468 58681
B s 273 865A1866 21464 [ 103 EEGE 1.06 868A5266 80900 [ 563 [ 153 86642468 34179
B s 151 86441866 11250 [ 952 [Ny 0.97 868A5366 80900 [ 563 [ 0.96 865A2468 21600
B o 250 865A1966 21675 12821 086 868A5067 80900 [ 526 G 0.97 865A2174 16802
1041 136 864A1966 10251 [ 519 |G 375  86BAZ568 79400
B s 339 866A1667 32000 2676 232 867AZ568 60368
[ 895 [EENEE 331 866A2066 32215 [ 517 SR 232 867A2568 60368
1158 191 865A2066 21760 15.0KW MOTOR [ 510 [N 0.88 865A2568 20700
1150 124 864A2086 8656 —rr ] | overhung 281 133 866AZSE8 35232
[ 510 [EPEY 299 BG6A1T67 32600 G | s Service | Unit Load 2801 133 866AZS68 35232
[ 05 RV 298 866A2166 32896 Rev/Min Nm Factor | Selection N 2910 152 866A2668 35762
| e05 VG 108 8B4A2166 8493 T o0 152 866A2668 35762
BT 0 175 865A2166 21602 | 6% | 865A0174 [ a2 R 097  8e5A2214 17028
[ 57 [REN 320 8G6A2266 33324 29 265  865A02714 17100 171 2969 097 865A2274 17028
B 191 865A2266 22170 BT 270 865A0668 17400 [ 460 KV 212 867A2668 61752
B 103 864A2266 7120 B s 349 866A0374 23700 [ %0 W) 212 867A%68 61752
B 295  8GG6AZ366 32667 B o 250 86SA0374 17700 B 329 86BA%668 80900
B s 103 864A1967 6260 BT 3 140 864A0968 12900 124 3291 087  865AZ374 15725
[ 613 R 175 865A2366 22312 352 2.48 865A0768 18000 | w13 RS 132 866A2768 35456
B 095 864A2366 5517 [ 330 [ 349 8660474 24700 [ 013 K] 191 867A2768 63733
[ 591 [VEY) 218 866A2067 33980 BE o 2.36 865A0474 18200 BET 0 1.19 866A2868 37527
B v 082 864A2067 2690 A s 3.10 865A0574 18600 ETE 56 308 868A2768 80900
578 1756 353 B67A2466 60039 430 349 8G6AOS74 26000 3661 177 867A2888 63433
[ 565 [T 210 86642466 35310 T s 3.28 865A0968 18700 3699 269 868A2868 80827
[ 565 [RER 131 8652466 23700 [ 200 [EETH 33  866A0674 26100 [ 367 148 867A4168 49920
[ 52 (R 197 806A2167 34507 | 201 [ 205 8650674 18700 BET s 253 8GBA4I6B 66304
| 520 [T 0.82 864A2566 2284 | 280 [N 349 865A1068 18900 [ 3 [y 1.04 866A2968 38700
BE o 318 867A%566 61744 [ 21 [ 140 BG4AI088 13200 | 33 W) 250  86BA2968 80900
[ 512 120 BG5AZ566 23427 506 311 866A0TT4 26300 [ 337 [ 159 867A2968 65200
[ 500 NI 216 866A2267 35273 [ 253 [ 190 865A0774 18884 BT s 150 867A488 49920
[ 20 [0S 182 866AZS66 36623 | 2 [T 329 BGSA1168 19200 [ 315 [EEH 101 866A2674 33272
738 2127 208 BOGAZ666 37054 I 5 140 BGAATIGE 13300 [ 306 [HE 095  8G6A3068 39500
B o 132 865A2267 21381 EEE s 285 865A0874 19305 BE 52 141 867A2674 62684
T o 290 867A2666 63271 [ 22 [ 343 866A0ST4 27100 T v 246 8GBA4268 66304
[ 455 [ 128 865A2666 24028 [ 27 140 864A1268 13400 | 203 [ 1.36 867A4368 49920
| 50 ARG 195 866A2367 35797 | 21 [ 270 865A1268 19500 [ 21 [E 218 868A2674 79109
[ a5 [ 1.80 866A2766 37602 213 G 348 866A0974 27300 | 274 [EVH 087 866A2774 31505




GEARBOXES SECTION :

Series M Gearboxes : Motorised selection

Overhung 22.0 KW MOTOR

Nominal Output

Nominal Overhung

Service Unit Service Unit
Output Factor | Selection e

Rev/Min N

Outj
. pu.t I Factor Selection L
Rev/Min Nm N

Nominal | Output Service Unit Overhung

e Uz O Factor | Selection Lol

867A2774 1955 114 865A2076 18651 Rev/Min | Nm N
[ %5 217 868AA68 66304 1978 301 8GTATIT5 54200 e [N 360 866A0IZ8 18100
[ 250 [N 204 8BBAZIA 78390 | 833 [ 114 865A1775 15741 B 279 8650178 13447
5312 117 867AM68 66554 | 814 [ 295 BG7A2176 54351 281 360 B66A0278 20200
| 29 [ 118 867A2874 62008 | 603 Ry L7788 505 21175 7976 285 238 8G5A08 14860
5548 190 8G9AMGS 66133 | 795 L 104 8G5A2176 17714 BE o 360 BGBAGTE 20600
B 182 ©68A2874  80B0O 2174 293 BGTATEIS 54733 BEE 213 sesA0Is4 15213
| 23 CNE 104 867A4568 66520 2248 122 [ 865A1875 | 15962 B 225 BeAE 15413
6046 168 B6BA2974 80823 268 55 M 662 777 0704 B s 360 BGBAMTE 21400
BT 60 176 86BAdS6 66133 220 273 BOTAZTE 55137 359 211 gG5AMT8 15913
| 23 NGEE 106 867AZ974 65390 [ 72 Rl I 77 3 3 279 eSA08 16813
BT 639 09 G67A668 66300 BECT 264 25 G7AI95 55550 5 360 G6AS78 22800
B 151 G6BAIG68 65986 2623 175 806A2376 28955 I 240 8GoA0284 22847
B 2 085 GAUG8 66200 2566 112 86SAI9T5 15055 09 18 sosA0284 16773
[ 169 [ 137 86BA4768 80900 IGCTI 2625 242 BGTAZ3T6 55689 455 346 B6BAGBTS 23300
[ 55 [ 127 86BAI868 80900 [ 61 [l 104 865A2376 17190 [ 18 8GsA0GTE 17166
| 13 [ 117 868Ad968 80900 [ 611 [ 387 BGBAZSTE 75200 481 172 8eA4 1732
IETEE 152 035 868AS068 80900 [ 611 [EEL 221 B67A2075 56896 [ ms ) 321 SB6AOTI8 23800
[ 108 [P 088 8G8A5168 80900 2935 087 | 865A2075 14694 517 170 8GADIB 17743
2964 210 867A2476 57493 B 240 366A0484 20373
[ 563 [EEN 124 8B6A2476 33189 [ ) | o 17826
[ 562 Y 349 868A2476 77000 ;
18.5 KW MOTOR s — 572 233 865A0878 18143
: [ 351 [ 3.60 866A0878 25300
Nominal | Output : | Overhung | 519 R L 6654776 I S/ E6 BEE s 298 867A0584 44375
Output, || Torque || orice [ Unit Load | 517 Rl G 673775 ) MC 16 B - 360 G66A0ST8 25600
p q i
] Factor | Selection 3504 1.08 866A2576 34026
RevMin | Nm N 643 225 885A0978 18420
3589 123 866A2676 34631 B 298 867A0680 14865
676 254 285 866A0175 20700 3703 172 867A2676 60423 A 360 66A1078 25900
B - 253 865A0175 15306 [ 452 O 117 866A2375 29364 B o 238 S65AI1078 18620
572 302 251 865A0476 16006 | 25 [l 267 868A2676 79736 B 250 SERATITE 26200
355 285  866A02I5 23000 BEE as 107 866A2776 33578 [ D o | o |
361 2.16 8650275 16936 [ s3I 155 867A2776 62442 B o 275 865A1178 18850
I 285  866A0375 23560 BE oz 0.97 866A2876 36200 w2 2w | o | o
B s 219 865A0676 17283 [ 392 R 250 868A2776 79675 2 240 2660884 26586
421 405 204 865A0375 17513 | 376 |G 144 867A2876 61862 T o | e 19020
435 2.02 865A0776 17871 BEE 5 083  866A2475 31417 1 208 e57A0088 46617
BE w 285 866A0475 24536 BE s 2.18 868A2876 80742 8 235 866A1278 26800
[ 31 [ 192 865A0475 18013 4624 120 867A4176 49360 B o o | e |z
[ 358 [y 283 865A0876 18271 BEET 2.05 868A4176 66192 B o 70 865A1378 19009
BE 355  86TAOSTS 44500 [ 343 [ 203 868A2976 80900 i R | o |
B 285 866A0575 25813 5012 129 867A2976 64500 B v 301 S66AT478 27502
[ 30 267 865A0976 18560 | 332 [ 122 867A4276 49360 B v e 865A1478 19257
B = 355  867A0675 45000 31.7 5391 082  B866A2675 29636 s BRI 2w | o | e
BE ¢ 274 8660675 25866 [ 306 [ 1.5 867A2675 60857 7 R 287 466A1578 27933
B s 283 865A1076 18760 B s 199 86BA276 66192 EE | A 19172
620 254 866AO7I5 26066 [ 293 [ 110 867A4376 49360 1903 295 8GIAIZ84 49031
| 263 [T 355 86TAOTIS 45700 [ 275 [GES 103 867A2775 61977 B o | mae 17327
[ 258 [T 267 865A1176 19025 [ %63 [ 176 868A4376 66192 i R 298 867A1384 49812
| 22 [NV 355 867A0875 46300 6552 095  867A4476 66500 EEEE s 249 GEGAIETE 28793
| 233 Y 285  866A0875 26843 [ 250  [EGEE 096  867A2875 60279 1 R 26 SGIATT8 50400
B s 219 865A1276 19255 6842 154 868A4476 66008 B 298 967A1484 50854
| 21 [ 355  867A0975 46800 | 28 [ 0.84 867A4576 66400 5 BRI 5 651778 17788
[ 215 [V 285 8660975 27043 | 25 [ENEE 0.86 867A2975 64945 2 R 2% S66A1778 29323
B s 380  866AI3TE 27300 | 24 RS 142 B8GBAS76 66008 B CEoR N T
B s 2.02 865A1376 19390 [ 186 [EEIRY 122 868A4676 65793 1743 294 S66A1878 29523
[ 193 [ 355  867A1075 47600 [ 169 [T 111 868A4776 80900 s R T R 17895
B o 358 866A1476 27700 [ 155  [EL 103 868A4876 80900 B o 2 | i 51558
964 2.16 865A1476 19692 I s 095 868A4976 80900 [ R e SRTAT978 52028
[ 176 [ 355  867AM175 48400 [ 124 R 082  868A4675 80900 s R o S66A1978 30248
[ 1 341 866A1576 28166 [0 e 125 865A1978 16884
[ 159 [ERLEN 201 BSAISTS 19777 2075 298 SGTAIGB 52476
1096 355  867A12715 49300 B 105  865A1684 15308
| 13 [P 163 865A1676 18406
B 2 280 867A2078 52817
[ 112 [ERNE 355 8GTAI315 50100 B o 165 866A2078 29848
| 138 | g‘s gg; ﬁsﬁli;g :?ggg 2325 096 865A2078 17200
[ 125 | : [ 833 [ 095  865A1784 13436
I s 1.49 865A1776 18877 B 5 248 867A2178 53502
[ 12 [EREG 269 B6GAT7ZS 29661 B v 149 8G6A2178 28540
B e e s e o EEE R
: [ 765 O 1.03 8651884 13634
[ 13 [REY 35 8GTAISIS 52000 [ 755 164 866A2278 28660
| 105 [EREE 151 85A1575 18648 B 230 86IAZZI8  SAITS
| 104 [REE 384 BOTAIOTE 52700 [ 7z 09  8G5AZZ/8 15999
T 1655 245 866A1976 30551 | 679 [N 147 866A2378 27223
T 1709 149 BGSAIE 18408 [ 674 N 353 868A2278 73600
98.6 1745 355 857:1575 53100 _ 3052 0.94 865A1984 12190
| 950 [T 125 865A1675 17237
IETEE s 33 SIANG 53508 % T T
[ 892 I 197 86642076 30602

RIVE DESIGN & MAINTENANCE MANUAL




SECTION : GEARBOXES

Series M Gearboxes : Motorised selection

Bold print indicates a 6 pole motor is used Nominal | Output . . Overhung Nominal . . Overhung
Double reduction (see pages 199-200 for dimensions) Output Torque Service Unit Load Output Service Unit Load
Triple reduction (see pages 199-200 for dimensions) " Factor | Selection ¥ Factor | Selection
Quadruple reduction (see pages 201-202 for dimensions) Al b N Rev/Min N
873 165 865A0988 18100 867A2783
B o 310 868A06I1 58400 7009 155 B6BA2788 75650
941 104 865A0691 17600 7296 0.89 867A2888 56700
Nominal | Output Senvice Unit Overhung [ 208 [E 2.65 866A1088 25621 7372 1.35 868A2888 80463
Output Torque ! Load A o 330 867A1088 44300 7686 127 868A4188 65824
Rev/Min Nm Factor | Selection N [ 200 [ 176 865A1088 18300 7976 1.26 868A2988 80900
[z 158 866AO791 25300 8943 124 868A4288 65824
[ 611 [ 3.25 868A2378 74382 0 G S66A1158 25886 9686 Y 868A2691 72393
3525 176 867A2478 56306 267 1051 097 865A0791 17700 10141 1.09 868A4388 65824
| 563 [N 1.05 866A2478 32200 | 265 [T 330 867A1188 45300 10456 1.04 868A2791 71356
B s 293 868A2478 75965 B oo 165 865A1188 18450 10978 093 868A2891 80600
BEEE 256 868A2578 77807 B o 310 868A0791 59600 11057 095 868A4488 65600
| 517 [ 158 | [ 867A2576 | | 57960 244 1139 310 868A0891 60000 11908 085  868A2991 80671
| %9 [y 091 866A2578 32800 161 135 scAose 18200 12178 088 G6BAISBB 65600
[ 76 [V 1.04 866A2678 33500 27 179 330 867A1288 45800 13345 0.83 868A4291 64700
[ 460 [T 145 867A2678 59094 180 178 866A0891 26000
[ 25 [N 225 868A2678 78572 22 R 136 8651288 18450
BEE o 0.90 866A2778 31700 B 247 8661288 26417
BE s oo oo W N Sa W oo
B s 121 67A2878 60291 [ 215 [EREW 127 BOBAEI] 1500 Nominal | Output Seri Uni Overhung
[ 32 184 86BA2878 80657 e — Output | Torque | (o0 i o
B s 2.35 866A1338 26649 . Factor | Selection
[ 367 [ (01 575175 T B 6 1411 125 8651388 18136 il || -
[ 354 S 173 868A4178 66080 B o 230 a67A1A88 100 866A0194
| 343 [ 17 868A2978 80300 T o | oo | i 345 167 865A0194 13220
[ 337 ) 1.09 867A2978 63800 5 RN 310 268A1001 62000 470 215 866A0294 19839
| 32 Qe 1.02 8674278 48800 B 134 865A1488 18263 475 143 865A0294 14560
[ 306 [EGHK 097 8G7AZ684 53030 [ R 211 8GeATSBE 27400 512 215 8G6AUS%4 20339
[ 304 GG 168 86BA4278 66080 [ BRI 330 8E7AIS88 47800 534 135  865A0394 15023
[ 203 [ 093 867A4378 48800 [ 162 3.10 868A1191 63200 [ 53 [ 215 866A0494 21139
| 283 [V 1.50 868A2684 75975 [ 160 [y 125 865A1588 17790 599 127 865A0494 16513
| 225 [EE: 087 867A2784 60706 [ 150 [T 310 868A1291 64200 [ 511 [ 377 868A0594 50300
| 263 R 148 86BA4378 66080 B s 330 8G7A1688 48800 EEDEE 66 268 8G7A0534 39071
| %1 0 | CEIHC) | i [ 3 R 101 8G5ATEES 14859 | 47 [N 167 865A0504 16413
| 250 L1c I 1567255 5] [ 139 [ 184 866AIG88 28100 | 43 [N 215 BGGAS94 22473
8133 iy | CEPVIL | G B s 310 8GBATI 65300 | 43 [NIE 268 867A0634 40071
8136 IED | GEIMID | R [ 131 [ 280 867AI788 49517 | 45 [ 207 866A094 22843
| 28 i | CERER | G [ 125 [ 092  B5AI788 15300 EEE 377 868ADGI4 52100
| 24 [T 120 868A4578 65684 BEE 2 166 8661788 28550 I 110 865A0694 16666
| 186 Rl 103 868A4G8  BS6Q0 BEEE 5 102 865A1491 15700 [ 21 [ 182 866A07T%4 23343
| 169 [NRIRER 094 [ B6BA4T78 | 80900 [ 19 R 277 867A1888 50288 [ 405 [n 268 867A0794 41648
155 JERPER (672 5653575 ) 0500 B s 165  866A1838 28750 | 40 [N 102 865A0794 17193
B o 100 865A1888 15300 T s 377 8GBADTHL 54600
[ 15 IR 160  866A1591 28300 | 366 [N 268 867A0854 42825
30.0 KW MOTOR [ e YR 310 86BAM491 67100 [ 366 [y 377 868A0B94 55400
2605 085  865A1591 14100 | 361 [ 143 865A0894 17593
Nominal | Output | ¢ . | . | Overhung [ 105 [ 238 B67A1988 50461 BEEE o2 215 860A0BI4 24843
Output | Torque | W% | B | Load [ G 152 G66AIe8 29227 EE o 252 86BADS%2 56704
RevMin | Nm N B 310 86BA1591 68200 EE o 268 867A0954 43913
p — T T I s 09  8G5A1988 13400 [ 325 [ 377 8G8A0SHL 57400
20 T T BEG | 92 [ 365 868A1988 68600 EEE 100 2.15 866A0954 25143
- — T [ %0 SR 078  865A1691 10900 | 32 K 135 865A0994 17620
' | 930 [ 126 866A1691 28700 BECE s 179 | GHRUER | A
G /G E55 30755 1 M/ [ 21 206 867A2088 51237 [ 303 [l 252 86BAOG®2 58176
e A | G | AN [ 895 RN 122 8GoA088 28127 | 209 [EITY 215 866ATOSL 25378
2Ll 19 | CELED | T [ a5 [N 359 86BAZ083 69500 | 203 [IVE 268 867A109 44590
434 M | GRS | I . 3175 188 BGTMI791 51584 | 201 [IEY 143 86SA1094 18020
473 265 866A0488 21260 B o | o | 5 n 1237 377 86BAI034 58800
&y 5 | GBRORS | o [ ez [ 326 868A2188 70600 1251 215 BG6ATIS4 25613
il SO IC67 20555 1 M 5900 [ 505 [T 110 866A2188 25372 I 1288 268 BGIA1184 45066
iz 205 RCE5A1555 I S 6510 [ 95 [T 182 8GIA1891 51887 | 259 [k 185 BB9SAI1I94 18100
bl 265 664050 W 77675 3666 121 8G6A288 25268 B o 252 sesAOTR2 59320
ol 15 650231 S .10 [ 15 L 169 8674288 51975 | 206 [N 377 B6BAII94 59600
505 ) | GIRWED | VL [ 0z [ 160 867A1991 52100 149 268 867A1294 45543
513 85 | GOWED | A B s 109 866A2388 23264 | 25 b 377 86BAI294 60200
ik 55 | GBOEED | G 4090 260 86BAZBB 71941 | 223 Y 179 867A09%2 45636
i 17738 65540331 1 S 6910 [ 652 [ 150 867AZ388 52132 EZEE 156 110 8691294 1760
67 2.36 S U075 T 7355 [ 617 R 138 867A2091 52612 | 219 [E 201 8G6A1294 26082
8] S0 | GIRUED | G [ 613 N 239 8G8AZ38B 72513 BETI 60 268 867AI394 46020
M % | GENE | T [ s00 [ 082 8G6AZ91 24100 | 203 RGN 192 8G6AI3% 26252
HE /S OG0 ADA91 I 700 479 130 867A2488 53590 | 203 [ 377 8GBAI34 60900
723 70 56540457118 700 B v 216 8G8A2488 73600 | 199 [EVES 102 8G5AI3%4 17372
53 S50 | GORGED | R B s 123 S67AZI91 52868 [ 10 [ 268 8G7AT494 46773
221 76 650055 173510 [ 521 R 188 868AZ88 75967 | 155 [T 181 B06A1494 26652
731 2265 ) cE6 55 I 051155 B 107 867A288 55208 | 155 [RE 252 8G8AT082 61608
8l S0 | CERUS | Go [ w2 S 113 seIAZ91 53775 | 179 SR 108 865A14%4 17393
i S-S0 5670050 100 5984 107 867A7688 56057 [ 172 e 172 86GAIS94 26933
B 15 G559 Ti 7500 [ 26 [T 165  86GA2688 75912 N 20 288 B67A1594 47368
863 265 866A0988 25356 [ 170 [l 377 868A1494 62400




GEARBOXES SECTION :

Series M Gearboxes : Motorised selection

Overhung 45.0 KW MOTOR Nominal | Output Service Unit Overhung

Nominal | Output . .
L0 Sl Output Torque Load

Output Torque Load

Rew/Min Nm Factor | Selection N Nominal | Output Service Unit Overhung Rev/Min Factor | Selection N

Output Torque Fact Selecti Load

B 2083 252 868A1192 62780 [ actor | Selection N [ 898 | 866A2095

[ 161 [T 102 865A1594 16581 BT 632 240 8682095 68275
B o 179 86IA1292 47880 | 103 | BERADISS 0 4758 125 S6IAI83 48173
[ 153 R 3.77 868A1594 63400 419 137 BEsA015S 13100 [ %62 [tis 207 868A1793 68360
[ 13 R 268 BO7A1694 48181 a1 177 | GERAWES | ieHI 5089 122 8IA2I95 47925
147 2336 377 86BAI6Y4 63900 BiA 118 B65A0295 14400 B v 218 868A2195 68850
B s 082 865A1634 12700 £73 (2 70 | GRRAWERD | AVAC) [ 795 KD 122 86IA1883 48175
B 179 8GIA1392 48579 649 111 865A0395 14800 B s T Bicanissn ) T
[ 139 [ 150 8G6A1694 27493 | 553 R L/ IG5 1001 5629 113 867A2295 47850
| 135 [ 252 BGBAT392 64768 129 104 I8 6550145 T [ 5900 | 02 [E 107 867A1983 47600
| 132 [ 228 BGTAI794 46745 [ 51 R 3D | GREROD | SO G o 174 868A2295 68830
| 129 G 377 8GBAI794 65200 | 58 [ 2| | RO | S | 654 [ 101 867A23%5 47433
2707 179 seIAMS2 49375 839 137 865A0595 16200 [ 651 B T WEsATHR T
BE s 135 866A1794 27873 LD £l | GRS | 22 6755 092 867A2083 47025
| 119 ) 221 8O7AI894 49402 | 463 [ 220 86740695 39925 [ 615 R 160  86BA2395 69020
| 18 NV 134 866A1894 28073 | 45 e | GEEWEED [ 2250 [ 600 [ 161 868A2093 71566
N 2997 179 867A1592 49668 BN o 1 O 6E5.0075 1 17 BEED e 087 867A2495 48500
I 3066 333 86BAI8%4 66700 | a7 (0] 86540635 EI] BE 145  86BA2495 69167
B 194 867A1994 49098 |21 LD | GRS | A B s 146 868A2193 72336
BT s 124 866A1934 28421 [ a5 Rl 220 8G7A07%5 41475 B = 126 B86BAZ595 72575
| 996 [EZE 179 867A1692 49805 BT 050 05 6050/ I 6500 B o 111 868A95 70925
3603 297 B6BAI9%4 67981 EEECEN s .10 6554075 I o 1449 BEETI 0477 104 86BAZ7%5 70400
| 924 [0 168 86742094 49855 | 365 oA | GYRUSDH | A EEO o 091  86BA2895 80200

3820 099 866A2094 26621 | 366 [ERIZD 310 86BA0BY5 55249

3809 292 868A2094 68981 EEET o 118 865A0895 7LD

3912 152 867A1792 49993 B s 177 866A0835 24600

| 852 KL 252 86BA1792 69268 T s 207 | 86BAOS33 56480

| s20  [wiEn 149 867A2194 49865 B o 221 867A09%5 43700

| 814 L 265  868A2194 69783 I o 310 868A0SS5 57218

4245 089  866A2194 22600 o iy | GEUEE | 200

4307 148 8GIA18%2 50155 [ 322 K 11 865A0995 17500

| 760 [ 098  866A2294 22300 T s 148 ' 867A0683 43983

B v 223 868A1892 70620 [ 303 [REYA] 207 868A0693 57920

| 37 138 867A2294 50050 [ 29 [EREY) 177 866A1095 25100

[ 02 bR 130 867A1992 50000 | 23 [T 221 867A1095 44350

684 5013 088 866A2334 19800 B s 118 [ 865A1095 | 17700

G o 2.1 868A2294 70489 1505 3.10 868A105 58588

B 122 867A2394 49967 1522 177 866A1195 25300

B s 199 868A1992 71327 | 266 [T 221 867A1195 44800

B 112 867A2002 50005 [ 259 [T 11 865A1195 17700

| 615 GG 195  86BA2334 70879 [ 28 b 207 8GBAO793 | 59000

[ 600 [0 195  868A2002 72900 | 25 [ 3.10 868A1195 59358

[ 50 106 SE7A24%4 51215 [ 238 [ 221 8671295 45250

[ 566 [EVE 176 868A249 71531 | 25 il S0 | GENAD | G

BEEO o 177 se8A21%2 74046 | 2 Ly IS IR E67A0393 ) [ 5271

B - 153 868A2594 74395 | 23 Rt ] HEERS | i

B 095  B867A2594 52800 T 505 1 | GRRAPRD | A5

[z i o FRET [ 211 L 221 867A1395 45700

[ 453 [REEY 087  867A2694 53400 | 23 R LY | GRS | 2SI

37 7807 082  867A2382 50204 | 203 R 30 | GREWGRED | 1A

[ 28 [REH 135 868A2694 73585 | 199 Rl % | GENEED | il

[ 395 [EHH 126 868AZ794 73200 [ 150 Ry A | GAEED | AT

BEI o 110 868A2894 80293 | 185 R 168 | GERNAED | A0

357 9447 104 8G9A4I% 65600 119 ;ggg gg; ggg::g:: ?élgg

o EEEIER AR

o | o | e 17 2434 221 867A1595 46875

12464 089 868A4394 65600 2551 G0 | GREWAD | G

B 0 084  868A2792 67840 | 160 R 207 | CRLWED | GE

[ 161 A 0.84 865A1595 15200

BEE 639 148 867A1293 47267

[ 153 [Ny 310 868A1595 63022

[ 149 221 867A1695 47475

147 2842 310 868A16Y5 63507

[ 139 [N 1.23 866A1695 26800

[ 135 IV 207 868A1393 64160

[ 132 W 1.87 867A1795 47863

[ 129 VA 310 868A1795 64762

[ 121 ) 1.48 867A1493 48586

[ 123 KL 111 866A1795 27100

B 3408 1.82 867A1895 48391

[ ns 1.10 86641895 27300

[ 12 S 1.48 867A1593 48660

[ m N 274 868A1895 66171

[ 105 KR 159 867A1995 47540

B 399 1.02 866A1995 27500

[ 995 LS 148 867A1693 48380

4260 245 868A1995 67275

[ 24 GE 138 867A2095 48275

FEN01/14 : DRIVE DESIGN & MAINTENANCE MANUAL 197



SECTION : GEARBOXES

Series M Gearboxes : Motorised selection

Bold print indicates a 6 pole motor is used 75.0 KW MOTOR 90.0 KW MOTOR
Double reduction (see pages 199-200 for dimensions) . X
Triple reduction (see pages 199-200 for dimensions) Nominal | Output | o - ni¢ | Overhung Nominal | Output | o . o [ Overhung
Quadruple reduction (see pages 201-202 for dimensions) Output | Torque | ‘" | o ection | 102 Output | Torque | " | selection | 1224
Rev/Min Nm N Rev/Min Nm |
1347 188 8GBAOS98 49798 [ 514 | 858A0599
55.0 KW MOTOR 1361 134 867A0598 38375 | 511 [RIH 111 867A0599 38100
1496 134 867A0698 39375 “ 1795 m 867A0699 39100
Nominal | Output Service Unit Overhung 1518 188 868A0698 51526 1822 156 868A0699 51300
Output Torque Factor | Selection Load 108 1699 134 867A0798 40825 408 2039 1.1 867A0799 40500
Rev/Min Nm N “ 1780 188 868A0798 53883 2136 1.56 868A0799 53600
995 254 868A0596 50062 [ 369 KLY 134 867A0898 41875 | 369 [ 11 867A0899 41500
1005 181 867A0596 38741 [ 369 KLY 1.88 868A0898 54683 | 369 [wn 156 868A0899 54400
1105 181 867A0696 39741 EE s 134 867A0998 42900 | 336 (IR m 867A0993 42500
121 250 8GADG 51628 A 22 188 8GBAD99 56539 2547 156 8GBADSSY 56200
125 181 G6A0% 41258 BE  s61 13 BAIS 43S0 BEETI s 0 A0S 43000
1314 254 868A0796 54260 218 2491 1.88 868A1098 57796 2989 1.56 868A1099 57400
138 181 G67A08% 42375 BT 25 13 G7ATIS8 43800 EETEE stz T G7ANGY 4330
1393 250 868A0S96 55060 DA 20 188 BGBATI98 58452 3361 156 BGBAII9Y 58000
T i e | B o 134 867AI298 44150 | 29 [ 111 867A1299 43600
1532 181 G57A06 43433 [ 27 IR YL 21 b | s | GERNAD | RSN
1567 254 868A0996 56992 3233 1.34 867A1398 44500 “ 3880 1 867A1399 43900
e T e | 3400 188 868A1398 50609 | 200 [N 156 868A1393 59100
1678 170 868A0697 57600 3639 1.34 867A1498 45000 | 191 R 1 867A1499 44300
1743 181 BOGIAI09 44050 4030 134 8O7AIS98 45025 172 4836 L1 867A1599 44100
1839 2,54 868A1096 58324 4046 1.88 868A1498 60750 4856 1.56 868A1499 60200
1915 181 867A1196 44466 4490 1.88 868A1598 61607 “ 5388 1.56 868A1599 60900
1958 5 A0S S50 4639 134 867A1698 44825 [ 150 [ 1.1 867A1699 43500
2068 254 868A1196 59056 4704 1.88 868A1698 62035 “ 5645 1.56 868A1699 61300
2154 181 867A1296 44883 5260 1.13 867A1798 44554 “ 6312 095 867A1799 42900
2261 254 868A1296 59622 5335 1.88 868A1798 63120 “ 6402 1.56 868A1799 62300
2294 121 867A0997 44900 5791 1.10 867A1898 44597 “ 6949 0.92 867A1899 42100
2387 181 867A1396 45300 6173 1.66 868A1898 64190 “ 7408 1.38 868A1899 63200
2510 254 868A1396 60288 6552 0.96 867A1998 41700 m 8462 1.23 868A1999 63300
2687 181 867A1495 45933 7052 148 B86BA1998 64625 | %04 e 129 £6832099 18 NS00
T o T oy | 7669 145 868A2098 65625 I 10140 110 868A2199 63600
P TR R 8450 132 868A2198 65350 | 633 [NV 088 868A2299 59500
2988 254 868A1496 61618 10121 1.05 868A2298 62610 | 620 [RET 0.81 868A2399 58500
3097 170 868A1197 61700 11187 0.97 868A2398 62003
3225 121 867A1297 46500 12167 0.88 868A2498 60300
3315 254 868A1596 62550
3425 181 867A1696 46591
3473 254 868A1696 63026
3759 1.70 868A1397 63400
3883 153 867A1796 46760
3939 254 868A1796 64215
4023 121 867A1497 47600
4276 1.49 867A1896 47126
4456 121 867A1597 47400
4558 224 868A1896 65511
4838 131 867A1996 45593
5129 121 867A1697 46600
5207 2.00 868A1996 66391
5513 113 867A2096 46300
5662 1.97 8682096 67391
5815 1.03 867A1797 45900
5898 1.70 868A1797 67200
6219 1.00 867A2196 45500
6239 178 868A2196 67683
6403 1.00 867A1897 45700
6625 150 868A1897 68100
6880 093 867A2296 45100
7244 0.87 867A1997 44600
7472 142 868A2296 66757
7750 0.82 867A2396 44400
7797 134 868A1997 68000
8259 131 868A2396 66674
8478 131 868A2097 69900
8983 1.18 868A2496 66211
9342 119 868A2197 70200
9695 1.03 868A2596 70300
11855 0.91 868A2696 67600
12806 0.85 868A2796 66900




GEARBOXES SECTION :

Series M Gearboxes : Dimensions Motorised

Foot Mounted Motorised

Double/Triple Reduction
Output _ Y
G X* Shaft ] k
o) ul
vl wil ] (o) o o
= | | - . N
a zr*
L ]/ © o \E =
L c
D
B @ n'--'n] | o |
Tapped s n
Hole
i a di b
& f

B SN N S T N

860 110 110 131 135 149 (20 k6 225 M6 x 1.0 x 16 deep
130 110 16 152 145 90 75 84 86 180 025 k6 50 280 8 40 M10 x 1.5 x 22 deep
130 110 16 152 145 90 75 84 86 180 025 k6 50 280 8 40 M10x 1.5 x 22 deep
165 135 20 200 190 115 90 97 107 208 @30 k6 60 33.0 8 50 M10x 1.5 x 22 deep
165 135 20 200 190 115 100 97 107 208 035 kb 70 38.0 10 60 M12 x 1.75 x 28 deep
195 150 24 235 210 130 100 110 110 214 35 k6 70 38.0 10 60 M12 x 1.75 x 28 deep
205 170 25 245 230 140 115 119 133 250 @40 k6 80 43.0 12 70 M16 x 2.0 x 36 deep
260 215 35 310 290 180 140 167 153 310 250 k6 100 53.5 14 10 80 M16 x 2.0 x 36 deep
310 250 40 365 340 225 160 200 172 394 260 m6 120 64.0 18 10 100  M20x 2.5 x 42 deep
370 290 45 440 400 250 185 225 203 446 (70 m6 140 745 20 15 110 M20x 2.5 x 42 deep
410 340 50 490 450 265 220 242 228 483 90 m6 170 95.0 25 15 140 M24x3.0 x50 deep
868 500 380 50 590 530 300 260 278 268 551 (100 m6 210 106.0 28 15 180  M24 x 3.0 x50 deep

ON NS s

(-]
D
=y

==
4]

(=<
(=1
NS

o
=]
3
2]
=
2
=]
=
~
E
=]
=
£
)
x
2
=
=
=
«
3
=]
=3
=]
=

Motor Frame Size Trlple

"Fasteners & Tightening
Torque"

- 209 213 226 236 15 4x M8 x 25mm long
89 85 9 10 12 12 - = =1 =1T=1T=1-: 25 Tighten to - 25Nm
m 200 244 257 267 275 275 - - - - - - - 13 m 4 x M8 x 30mm long
Rlwe|lw|w|®]®B] -1 -1-1T-1=1-=1-° 25 Tighten to - 25Nm
m 240 244 257 267 275 215 - - - - - - - 13 m 4 x M8 x 30mm long
R|l|lw|BlB]B| -1 -=1=1T=1=-1:-=1-: 25 Tighten to - 25Nm
m 270 276 294 304 331 331 3BT - - - - - - 23 m 4xM12 x 40mm long
mlm o ;| s m|wm| - -1 -1-=1-1-:- 25 Tighten to - 85Nm
m 280 286 304 314 341 341 341 - - - - - - 23 m 4 x M12 x 40mm long
21721 2 23 2% 2% 727 - - - - - - 25 Tighten to - 85Nm
m 301 307 325 335 362 362 362 - - - - - - 23 m 4 x M12 x 40mm long
| m |z m| s s @] =] =] =1-1-1- 25 Tighten to - 85Nm
E = 362 372 384 384 406 414 - - - - - 30 m 4 x M16 x 45mm long
- 34 35 38 38 40 42 - - - - - 5 Tighten to - 200Nm
- - - 477 477 483 483 483 513 - - - - - 40 260 4x M16 x 60mm long
-l -1mlmlwlBlelm] -1 -1-1-1- 5 Tighten to - 200Nm
E - 523 523 529 529 564 564 564 564 591 - - 40 m 4 xM20 x 70mm long
- - 17 M7 M7 M7 17 124 124 124 138 - - 19 Tighten to - 350Nm
265 - - - - 59 5% 5% 631 631 631 658 - - 57 _— 4x M24 x 80mm long
- - - - 163 163 163 172 172 172 18 - - 19 Tighten to - 610Nm

77 717 717 710 710 710 737 909 909 62 4 x M30 x 90mm long
s ° - 239 239 239 247 247 247 261 310 310 32 Tighten to - 1220Nm
868 - ° o - 832 832 832 825 825 825 852 1024 1024 72 368 4 xM36 x 100mm long

- = - - 344 344 344 357 357 357 371 420 420 50 Tighten to - 2150Nm

* For Motor dimensions X,Y and Z - please refer to motor tables on page 314
** The input on the 803 unit is 14.5mm lower than the output

FEN01/14 : DRIVE DESIGN & MAINTENANCE MANUAL 199



SECTION : GEARBOXES

Series M Gearboxes : Dimensions motorised

Flange Mounted Motorised

Double/Triple Reduction
6 X Output
- Shaft
Q) ul
1w f -
SIS 'I ® °§ .
Q| I R *N o
- 4 Q@ (")
D
& |
LA Tappe
1 "o Size 860-864 Size 865-868

4 Holes 8 Holes

SHAFT DIMENSIONS

[ N T v s ]l o0 L a lw [ v | w | ____da |

80 30 100 66 9
95 30 15 90 9
T T 0 @20 k6 40 25 6 4 32 M6 x 1.0 x 16 deep
130 35 165 110 10
80 30 100 66 10
9% 30 15 90 10
2 —— — w0 @25 k6 50 280 8 4 4 M10x 15 x 22 deep
o 130 35 165 110 10
= 80 30 100 66 10
= 95 30 15 90 10
: —— — 0 @25 k6 50 280 8 4 40 M10x 15 x 22 deep
5 130 35 165 110 10
p 95 30 115 9.0 i
5 10 35 130 90 11
= -1 — T " 730 k6 60 330 8 4 50 M10x 15 x 22 deep
] 180 40 215 135 11
= 140 95 30 115 90 11
& 10 110 35 130 90 11
115 93 - T T —T " 735 k6 70 380 10 7 60 M12 x 1.75 x 28 deep
2 250 180 40 215 135 11
= 200 130 40 165 110 11
130 84 § 250 180 40 215 135 11 735 k6 70 380 10 7 60 M12 x 1.75 x 28 deep
o 300 230 40 265 135 11
5 200 130 40 165 110 11
n 140 110 © 250 180 40 215 135 11 240 k6 80 430 12 5 70 M16 x 2.0 x 36 deep
2 300 230 40 265 135 11
30 230 40 265 135 17
A 182 130 T 1T T T 1 @50 kb 100 535 14 10 80 M16 x 2.0 x 36 deep
B 20 230 450 350 50 400 180 18 @60 m6 120 640 18 10 100 M20 x 2.5 x 42 deep
20 260 450 350 5.0 400 180 2 @70 mb 140 745 20 15 10 M20 x 2.5 x 42 deep
278 278 550 450 50 500 180 25 @90 m6 170 %0 25 15 140 M24 x 3.0 x 50 deep
[T 318 318 550 450 50 500 180 25 gl00m6 210 1060 28 15 180 M24 x 3.0 x 50 deep

*For motor drimensions X,Y &Z please refer to the motor tables on page 314




GEARBOXES SECTION :

Series M Gearboxes : Dimensions Motorised

Foot Mounted Motorised
Quadruple/Quintuple reduction

Y*
G X* Output J k
Shaft
©
1

— 1
v wi Q513
| \ 0
= (©))
Q.
- l/ 2 — / i}
@ ] © 1] M
Tapped
i a Hole 2s
di
e b

110 110 131 135 149 020 k6 225 6 4 32 M6x1.0x16 deep
T 130 110 16 152 145 75 84 35 180 10 @25 k6 50 28.0 8 4 40 M10x15x22 deep
G 130 110 16 152 145 90 75 84 88 35 180 10 %25 k6 50 280 8 4 40 M10x15x22 deep
K7 5 135 20 200 190 115 90 97 107 55 208 15  @30k6 60 330 8 4 50  M10x15x22deep
M 5 135 20 200 190 115 100 97 107 55 208 15 @35k 70 380 10 7 60  MI12x1.75x 28 deep
I 195 150 24 235 210 130 100 110 110 60 214 15  @36k6 70 380 10 7 60  M12x1.75x28 deep
EEE 205 170 25 245 230 140 115 19 133 60 250 19 040 k6 80 430 12 5 70 M16x2.0x36 deep

(78l 260 215 35 310 290 180 140 167 153 75 310 19  @50k6 100 535 14 10 80  M16x2.0x 36 deep
I 30 250 40 365 340 225 160 200 172 90 394 23 @60Om6 120 640 18 10 100 M20x25x42 deep
370 290 45 440 400 250 185 225 203 110 446 27  @70m6 140 745 20 15 110 M20x25x42 deep
G 40 3460 50 490 450 265 220 242 228 110 483 34  @90m6 170 950 25 15 140 M24x3.0x50deep
500 380 50 590 530 300 260 278 268 150 551 41 @100m6 210 1060 28 15 180  M24x3.0x50deep
G Dimension/Weight (excluding motor)

Fastene
Tightening Torque

Motor Frame Size

63 ] 71 | 80 ] 90 ] 100 ] 112 [ 132 ] 160 | 180 | 200 | 225 [ 250 ] 280 |

.y
X,
-
[1=]
w
o
=
«

= 209 213 226 236 244 244 ] ] _ ) 15 - 4 x M8 x 25mm long
89 85 9 0 12 12 25 Tighten to - 25Nm
m 240 24 257 267 215 275 13 m 4 x M8 x 30mm long
2 12 13 13 15 15 i i i ) i i i 25 Tighten to - 25Nm
m 240 244 257 267 275 275 13 “ 4 x M8 x 30mm long
12 12 13 13 15 15 ) i i i i i i 25 Tighten to - 25Nm
m 270 276 294 304 331 331 330 23 m 4 x M12 x 40mm long
20 20 21 2 2 25 2 i i ) i ) i 25 Tighten to - 85Nm
m 280 286 304 314 341 341 3 23 m 4 x M12 x 40mm long
21 21 22 23 25 % 27 i ) i ) i i 25 Tighten to - 85Nm
m 301 307 3% 33 362 362 362 23 m 4xM12 x 40mm long
26 26 27 28 31 31 33 i ) ) ) ) ) 25 Tighten to - 85Nm
m 32 372 384 384 406 414 30 m 4x M16 x 45mm long
) 3 35 38 38 40 42 i i ) i ) 5 Tighten to - 200Nm
. ) . 477 471 483 483 483 513 ) _ ) » 40 o~ 4 x M16 x 60mm long
73 73 713 13 72 12 5 Tighten to - 200Nm
m 523 523 529 529 564 564 564 564 591 40 4 x M20 x 70mm long
o7 o 17 M7 M7 124 124 124 138 ’ 19 Tighten to - 350Nm
. ) ) ) 5% 59 596 631 631 631 658 ) 57 266 4 x M24 x 80mm long
163 163 163 172 172 172 186 19 Tighten to - 610Nm

717 717 77 70 70 710 737 909 909 62
239 239 239 247 247 247 261 310 310 32 Tighten to - 1220Nm
832 832 832 85 85 85 82 1024 104 72 4% M36 x 100mm long
344 344 344 357 357 357 371 420 420 50 868 Tighten to - 2150Nm

867 4 x M30 x 90mm long

868 = ° =

* For Motor dimensions X,Y and Z - please refer to motor tables on page 314
** The input on the 803 unit is 14.5mm lower than the output

FEN01/14 : DRIVE DESIGN & MAINTENANCE MANUAL 201



GEARBOXES

Series M Gearboxes : Dimensions motorised

Flange Mounted Motorised
Quadruple/Quintuple Reduction

G X*
Output
- Shaft
©
yl
vi | wif[] >
a|l =2 * ~
SRS N — t » B
= I
-6 | 0
Tapped
Ll LA Hole Size 860-864 Size 865-868

IR TN S T 0 0 2 R
80 30 9

120 100 66
140 95 30 15 90 9
860 76 74 T T e R T T @20 k6 40 225 6 4 32 M6x1.0x16deep
200 130 35 165 110 10
120 80 30 100 66 10
= 140 9% 30 15 90 10
91 90 8 — T T 10 @25 k6 50 28.0 8 4 40 M10x1.5x22 deep
S 200 130 35 165 110 10
z 120 80 30 100 66 10
e 140 95 30 15 90 10
91 90 g T KT B TR T T @25 k6 50 28.0 8 4 40 MI10x1.5x22 deep
= 200 130 35 165 110 10
= 140 95 30 15 90 i
5 160 110 35 130 90 i
n 115 93 ; T BTN BT TR TG " @30 k6 60 330 8 4 50  M10x1.5x 22 deep
= 250 180 40 215 135 1
E 140 9% 3.0 115 90 1
= 160 110 35 130 90 1
115 93 <§ T T T " {35 kb 70 38.0 10 7 60 M12x1.75x 28 deep
= 250 180 40 215 135 1
= 200 130 40 165 110 1
130 84 z 250 180 40 215 135 1 @35 k6 70 38.0 10 7 B0  M12x1.75x 28 deep
2 300 230 40 265 135 n
= 200 130 40 165 110 1
140 110 = 250 180 40 215 135 11 @40 k6 80 430 12 5 70 M16x2.0x36 deep
= 300 230 40 265 135 11
= 300 230 40 265 135 17
364 182 130 T T T T 7 @50 kb 100 535 14 10 80  M16x2.0x 36 deep
[ 865 [NEWED) 230 450 350 5.0 400 180 18 @60m6 120 64.0 18 10 100 M20x2.5x 42 deep
260 260 450 350 5.0 400 180 22 @70m6 140 745 20 15 110 M20x2.5x 42 deep
| 867 [ 278 550 450 5.0 500 180 25 0%mé6 170 95.0 25 15 140 M24x3.0x50 deep
318 318 550 450 50 500 180 25  @100m6 210 1060 28 15 180 M24x3.0x50deep

|



GEARBOXES

Series M Gearboxes : Non motorised selection

SELECTION OF NON-MOTORISED
REDUCER UNITS

(a) Service Factor

From Table 1 select the Mechanical Service Factor (Fm)
applicable to the drive. If the unit is to be subjected to
frequent stop/starts in excess of 10 times per day then
multiply factor Fm by Factor Fs from table 2.

(b) Power Required

Determine either the absorbed torque (Nm) or the input
power (kW) required by the machine. The absorbed Torque
can be calculated using the following formula:

M, =P, x 9550
n
M, = reéuired output torque (Nm)
P, =absorbed power (kW)
n, =machine speed (Rev/Min)

(c) Design Power
Multiply either the absorbed torque (Nm) or the power
(KW) by the service factor determined in (a)

(d) Ratio Required
Divide the input shaft speed by the required output shaft
speed to determine the gear ratio.

(e) Unit Selection

Refer to the gear ratio closest to the value determined in
step (d).

Check in column 3 for the nearest input shaft speed, then
read across the table at this speed until a unit is found
with either an output torque or input power that equals

or exceeds the design power value determined in step (c)
above. Column 4 gives the approximate output shaft speed
for the selected speed and ratio combination.

FEN01/14 : DRIVE DESIGN & MAINTENANCE MANUAL 203

TABLE 1 - SERVICE FACTORS (Fm)

Types of Driven Machine

Uniform Loads
Agitators and Mixers — liquid or semi-liquid
Blowers — centrifugal
Bottling Machines
Conveyors and Elevators — uniformly loaded
Cookers
Laundry Washing Machines — non-reversing
Line Shafts
Pumps — centrifugal and gear
Wire Drawing Machines

Moderate Shock Loads
Agitators and Mixers — variable density
Conveyors — not uniformly loaded
Cranes travel motion and hoisting
Drawbench
Feeders — pulsating load
Hoists
Kilns
Laundry Tumblers
Lifts
Pumps — reciprocating with 3 or more cylinders
Pump and Paper Making Machinery
Rubber Mixers and Calendars
Screens — rotary
Textile Machinery

Heavy Shock Loads
Brick Presses
Briquetting Machines
Conveyors — reciprocating and shaker
Crushers
Feeders — reciprocating
Hammer Mills
Pumps — reciprocating, 1 or 2 cylinders
Rubber Masticators
Screens — vibrating

TABLE 2 - STARTING FACTOR (Fs)

SECTION :

Operational Hours

0.80 1.00 1.25
1.00 1.25 1.50
1.50 1.75 2.00

Start/stops per hour

[ strstopsperbowr |
I XX I BT T N T
1.03 1.06 1.10

Factor Fs 1.00

1.15 1.20



SECTION : GEARBOXES

Series M Gearboxes : Non motorised selection

DOUBLE REDUCTION RATINGS SIZES 860, 801, 861, 802

Nominal | s [ e | s [ s |

Input

2ﬂﬁ0 Nomi.nal Speed Output Input Overhung Input Overhung T Overhung Input Overhung
ode Ratio Rev/Min Speed P KW Load Fra P KW Load Fra P KW Load Fra P W Load Fra

Rev/Min ower (kN) ower (kN) ower (kN) ower (kN)

2900 806 3.97 47 0.98 7.00 79 3.00 8.45 96 2.05 14.20 161 2.05
450 403 249 59 0.98 439 100 3.10 5.18 118 230 8.87 203 2.30
960 267 1.89 68 0.98 333 115 3.10 3.88 134 2.30 6.72 233 2.60
725 201 1.53 73 0.98 2.74 126 3.10 3.18 146 2.30 5.57 256 345
2900 580 3.34 54 0.98 5.76 92 3.00 6.87 110 2.05 11.80 188 2.05
1450 290 2.09 68 0.98 361 116 3.10 422 135 2.30 7.37 237 2.45
960 192 1.55 76 0.98 2.70 131 3.10 3.16 153 230 5.59 272 320
725 145 122 79 1.00 2.13 137 3.15 2.59 167 230 4.49 290 4.60
2900 518 3.10 57 0.98 5.44 96 3.05 6.47 114 2.05 11.00 198 2.05
1450 259 1.95 Al 0.98 341 121 3.10 3.97 140 2.30 6.91 249 2.60
960 17m 1.41 78 1.00 2.50 134 3.10 297 159 2.30 523 286 3.40
725 129 1.1 82 1.02 1.97 140 3.15 244 173 2.30 412 298 470
2900 460 287 60 0.98 5.04 101 3.05 5.98 120 2.10 10.30 208 2.10
1450 230 1.80 75 0.98 3.16 127 3.10 367 147 2.30 6.46 262 2.90
960 152 127 80 1.00 221 138 3.10 274 167 232 479 294 4.60
725 115 1.01 84 1.04 1.80 145 320 225 182 235 378 307 475
2900 363 2.48 66 0.98 4.36 m 3.10 513 130 2.10 8.94 229 2.30
1450 181 1.49 79 0.98 267 136 3.10 3.15 161 2.30 5.61 289 345
960 120 1.06 85 1.04 1.88 145 325 2.36 182 2.35 3.99 310 470
725 9 0.84 90 1.18 1.51 154 3.50 193 198 2.40 3.16 326 5.10
2900 322 2.36 67 0.98 4.02 116 3.10 47 136 2.10 8.29 24 240
1450 161 1.40 80 1.00 241 140 3.10 2.89 168 2.30 513 299 460
960 107 1.00 87 1.09 1.7 150 3.40 217 190 2.35 361 319 485
725 81 0.78 90 1.30 1.37 159 3.90 1.78 207 2.50 2.89 338 6.00
2900 264 2.04 74 0.98 353 125 3.10 41 146 2.10 7.44 258 2.60
1450 132 1.16 84 1.02 2.04 145 3.15 2.52 179 2.30 4.46 3an 470
960 87 0.82 90 1.30 1.46 158 BiEs 1.89 203 240 3.17 333 5.55
725 66 0.62 90 1.45 1.12 160 4.00 1.47 209 2.75 242 338 6.40
2900 242 1.89 77 0.98 331 130 3.10 3.84 151 2.15 6.82 272 2.90
1450 121 1.06 87 1.04 1.88 148 3.20 2.36 186 2.35 3.99 320 4.75
960 80 0.72 90 1.40 1.34 160 3.70 1.75 209 2.55 279 338 6.00
725 60 0.55 90 1.50 1.01 160 4.00 1.32 209 2.80 21 338 6.40
2900 207 1.70 80 0.98 3.05 136 3.10 3.52 158 215 6.20 288 3.10
1450 104 0.96 90 1.09 1.7 153 3.30 2.16 194 2.35 3.53 329 4.85
960 69 0.63 90 1.40 1.18 160 3.85 1.54 209 275 240 338 6.40
725 52 0.48 90 1.50 0.89 160 4.00 1.16 209 2.85 1.81 338 6.70
2900 181 1.56 81 0.98 279 M 3.10 328 166 215 5.86 304 350
1450 9 0.86 90 1.18 1.57 160 3.50 2.02 205 240 3.25 338 5.10
960 60 0.57 90 1.45 1.04 160 4.00 1.36 209 2.80 2.15 338 6.50
725 45 0.43 90 1.50 0.79 160 4.00 1.03 209 2.90 1.62 338 7.10
2900 161 1.44 83 1.00 2.54 142 3.10 3.03 169 2.30 5.52 306 450
1450 81 0.78 90 1.35 1.43 160 3.90 1.86 208 245 3.04 338 5.55
960 53 0.52 90 1.48 0.94 160 4.00 123 209 2.80 2.01 338 6.70
725 40 0.39 90 1.60 0.71 160 4.00 0.93 209 3.05 1.52 338 7.20
2900 145 1.33 84 1.00 2.26 145 3.15 2.76 177 2.30 481 315 460
1450 73 071 90 1.40 1.24 160 3.95 1.62 209 2.60 257 338 6.00
960 48 0.47 90 1.50 0.82 160 4.00 1.07 209 2.90 1.70 338 7.1.0
725 36 0.35 90 1.60 0.62 160 4.00 0.81 209 3.10 1.28 338 7.20
2900 132 117 86 1.02 2n 147 3.15 261 182 2.30 4.56 319 470
1450 66 0.61 90 1.45 1.14 160 4.00 1.49 209 2.75 241 338 6.40
960 44 0.40 90 1.55 0.76 160 4.00 0.99 209 3.05 1.59 338 7.10
725 33 0.30 90 1.90 0.57 160 4.00 0.75 209 3.10 1.20 338 7.20
2900 104 1.01 90 1.05 1.83 153 320 230 193 235 382 331 4.80
1450 52 0.51 90 1.48 0.95 160 4.00 125 209 2.80 1.94 338 6.70
960 34 0.34 90 1.60 0.63 160 4.00 0.82 209 3.10 1.29 338 7.20
725 26 0.25 90 1.90 0.48 160 4.00 0.62 209 3.15 0.97 338 7.20
2900 91 0.87 90 1.18 1.59 160 3.50 2.04 205 240 3.31 338 5.10
1450 45 0.44 90 1.50 0.80 160 4.00 1.04 209 290 1.65 338 7.10
960 30 0.29 90 1.90 0.53 160 4.00 0.69 209 3.10 1.09 338 7.20
725 23 022 90 1.90 0.40 160 4.00 0.52 209 3.15 0.82 338 7.20
2900 81 0.79 90 1.35 1.42 160 3.90 1.85 209 245 3.02 338 8.55
2 1450 40 039 90 1.60 071 160 4.00 0.92 209 3.05 1.51 338 7.20
960 27 0.26 90 1.90 0.47 160 4.00 0.61 209 3.15 1.00 338 7.20
725 20 0.20 90 1.90 0.35 160 4.00 0.46 209 3.15 0.75 338 7.20
2900 64 0.61 84 1.45 1.22 160 4.00 1.43 188 2.60 247 338 6.40
1450 32 0.30 84 1.90 0.61 160 4.00 0.75 199 3.10 123 338 7.20
960 21 0.20 84 1.90 0.40 160 4.00 0.52 206 3.15 0.82 338 7.20
725 16 0.15 84 1.90 0.30 160 4.00 0.40 209 3.15 0.62 338 7.20
2900 58 0.46 72 1.48 1.07 160 4.00 1.29 192 2.75 222 338 6.50
1450 29 0.23 72 1.90 0.54 160 4.00 0.68 203 3.10 1.1 338 7.20
960 19 0.15 72 1.90 0.35 160 4.00 0.46 208 3.15 0.73 338 7.20
725 15 0.1 72 1.90 027 160 4.00 0.35 208 3.15 0.55 338 7.20
2900 52 0.40 Al 1.50 0.95 160 4.00 1.21 205 2.80 1.58 269 6.70
1450 26 0.20 n 1.90 0.47 160 4.00 0.61 206 3.15 0.79 270 7.20
960 17 0.13 Al 1.90 031 160 4.00 0.40 206 3.15 0.52 270 7.20

725 13 0.10 n 1.90 0.24 160 4.00 0.30 206 3.15 0.40 210 7.20




GEARBOXES SECTION :

Series M Gearboxes : Non motorised selection

DOUBLE REDUCTION RATINGS SIZES 862, 803, 863 and 864
Nomnal | s [  ss | s |
Ratio | Nominal
Code Ratio

SI:[;::i g“tpl:: Tt Overhung Input Overhung Input Overhung Input Overhung
Rev/Min pee. Power kW Load Fra Power kW Load Fra Power kW Load Fra Power kW Load Fra

Rev/Min (kN) (kN) (kN) (kN)

2900 806 23.10 263 2.80 - - - 26.10 304 350 41.30 479 5.50
1450 403 12.80 292 2.80 - - - 13.10 306 3.50 20.70 483 6.20
960 267 8.44 293 2.80 - - - 8.65 307 3.50 13.70 484 6.25
725 201 6.38 293 2.80 - - - 6.53 307 3.50 10.30 485 6.36
2900 580 19.70 317 2.80 23.10 326 4.00 26.10 423 3.50 41.30 683 5.60
1450 290 11.80 382 2.80 12.80 362 435 13.10 425 3.50 20.70 686 6.20
960 192 7.84 383 2.80 8.44 363 445 8.65 425 3.50 13.70 688 6.35
725 145 592 383 2.85 6.38 363 450 6.53 426 350 10.30 688 6.50
2900 518 18.60 336 2.80 19.70 393 410 24.50 447 3.50 41.30 760 5.80
1450 259 11.30 409 2.80 11.80 473 4.45 13.10 477 3.50 20.70 763 6.25
960 1 7.54 412 2.80 7.84 474 4.50 8.65 478 3.50 13.70 764 6.40
725 129 5.69 413 285 5.92 474 5.00 6.53 478 3.50 10.30 765 6.60
2900 460 17.50 354 2.80 18.60 416 4.20 23.20 464 3.50 40.60 832 6.00
1450 230 10.20 413 2.85 11.40 510 4.45 13.10 525 3.50 20.70 849 6.30
960 152 6.74 413 2.90 7.54 511 4.60 8.65 526 3.50 13.70 851 6.50
725 115 5.09 414 2.90 5.69 511 520 6.53 526 3.50 10.30 851 6.70
2900 363 14.80 381 2.80 17.50 438 430 19.90 519 350 34.90 926 6.20
1450 181 8.55 a4 2.85 10.20 512 4.45 12.50 655 3.50 20.70 1100 6.35
960 120 5.71 450 2.90 6.74 512 470 8.65 687 3.50 13.70 1100 6.70
725 91 4.36 450 2.95 5.09 512 5.20 6.53 687 3.60 10.30 1100 7.25
2900 322 13.40 391 2.80 15.20 484 435 18.40 547 3.50 32.50 967 6.20
1450 161 7.69 450 2.90 9.30 594 450 11.50 689 3.50 20.50 1220 6.50
960 107 5.09 450 2.95 6.15 594 5.20 8.24 743 3.50 13.70 1240 7.10
725 81 384 450 3.00 464 594 6.50 6.52 780 3.70 10.30 1240 8.00
2900 264 11.70 406 2.80 14.00 507 4.45 16.30 589 3.50 28.40 1040 6.20
17 1450 132 6.45 450 2.90 8.34 604 470 10.00 726 350 17.90 1310 6.60
960 87 4.27 450 2.95 5.55 607 5.85 7.06 773 3.60 13.60 1500 7.50
725 66 322 450 4.00 419 607 7.20 5.59 81 425 10.30 1520 9.00
2900 242 10.50 418 2.85 12.50 538 4.45 15.40 611 3.50 25.80 1060 6.30
1450 121 531 426 2.90 71 613 5.20 9.28 740 3.60 16.30 1340 6.90
960 80 352 427 325 479 625 6.50 6.58 793 3.70 12.40 1540 8.50
725 60 2.66 427 4.20 3.62 625 7.20 5.13 819 4.20 10.20 1690 9.00
2900 207 9.28 432 285 10.60 527 4.45 14.10 644 3.50 23.30 1120 6.30
1450 104 4.82 450 2.95 531 528 5.20 8.31 761 3.60 14.70 1410 6.90
960 69 319 450 4.00 3.52 528 7.20 5.84 808 4.00 11.20 1620 9.00
725 52 2.4 450 425 2.66 528 7.20 453 830 450 8.82 1700 9.50
2900 181 8.50 442 285 10.10 584 450 13.20 684 3.50 21.70 1150 6.38
1450 91 432 450 2.95 5.16 596 5.85 7.58 786 3.50 13.40 1420 7.25
960 60 2.86 450 410 3.42 597 7.20 522 818 4.20 8.85 1420 9.00
725 45 2.16 450 450 258 597 7.20 4.05 841 465 6.68 1420 9.50
2900 161 8.08 448 2.90 9.28 598 4.50 12.30 700 3.50 19.90 1160 6.50
1450 81 4.05 450 3.00 4.85 626 6.50 6.93 794 3.60 11.70 1360 8.00
960 53 2.68 450 4.20 321 626 7.20 477 826 4.50 7.74 1360 9.25
725 40 2.02 450 4.50 242 626 7.20 3 849 5.10 5.85 1360 10.00
2900 145 6.85 450 2.90 8.75 601 4.60 11.20 731 350 18.30 1200 6.50
1450 73 3.42 450 3.50 455 626 7.20 6.14 804 3.90 11.10 1460 8.50
960 48 226 450 450 3.01 626 7.20 423 837 460 7.34 1460 9.50
725 36 1.7 450 5.60 221 626 7.20 3.28 861 6.25 5.54 1460 12.30
2900 132 6.41 450 2.90 7.50 610 4.90 10.10 748 3.50 16.60 1230 6.60
1450 66 3.20 450 4.00 3.84 626 7.20 5.50 813 4.20 10.30 1540 9.00
960 44 212 450 450 254 626 7.20 379 847 5.10 6.84 1540 10.00
725 33 1.60 450 6.30 192 626 7.20 293 867 7.40 5.16 1540 12.30
2900 104 5.17 450 2.90 7.07 614 5.20 8.97 768 3.50 14.00 1260 6.90
1450 52 258 450 425 3.60 626 7.20 481 825 450 8.80 1580 9.25
960 34 1.7 450 5.60 2.38 626 7.20 3.32 860 6.25 6.13 1670 12.30
725 26 1.29 450 7.20 1.80 626 7.20 253 867 8.00 463 1670 14.00
2900 91 439 450 2.95 5.81 626 5.80 7.70 786 3.50 12.20 1280 7.25
1450 45 219 450 450 2.90 626 7.20 411 840 4.65 1.72 1620 9.50
960 30 1.45 450 6.30 1.92 626 7.20 281 867 7.40 5.36 1700 13.50
725 23 1.10 450 7.20 1.45 626 7.20 212 868 9.20 4.04 1700 16.20
2900 81 4.02 450 3.00 493 626 6.50 7.10 792 3.60 11.40 1310 8.00
27 1450 40 2.01 450 5.00 247 626 7.20 379 847 5.10 7.18 1650 10.00
960 27 1.33 450 7.20 1.63 626 7.20 257 867 8.00 4.88 1700 14.00
725 20 1.00 450 7.20 1.23 626 7.20 1.94 868 9.20 3.69 1700 16.20
2900 64 3.03 415 4.00 451 626 7.20 6.03 806 3.90 9.51 1340 9.00
1450 32 1.55 424 5.60 225 626 7.20 323 863 6.25 5.99 1690 12.30
960 21 1.06 439 7.20 1.49 626 7.20 2.15 868 9.20 3.98 1700 16.20
725 16 0.82 450 7.20 1.13 626 7.20 1.62 868 9.20 3.01 1700 16.20
2900 58 248 379 4.00 3.03 514 7.20 4.56 700 4.20 8.79 1350 9.20
1450 29 1.24 379 6.30 1.55 526 7.20 2.28 700 7.40 5.48 1690 13.50
960 19 0.82 379 7.20 1.06 544 7.20 1.51 701 9.20 3.65 1700 16.20
725 15 0.62 379 7.20 0.82 557 7.20 1.14 701 9.20 2.76 1700 16.20
2900 52 1.58 269 425 248 469 7.20 3.49 595 450 7.72 1360 9.25
1450 26 0.79 270 7.20 124 470 7.20 1.75 596 9.20 4.36 1540 16.20
960 17 0.52 270 7.20 0.82 470 7.20 1.16 596 9.20 291 1550 16.20
725 13 0.40 270 7.20 0.62 470 7.20 0.87 596 9.20 219 1550 16.20




SECTION : GEARBOXES

Series M Gearboxes : Non motorised selection

DOUBLE REDUCTION RATINGS SIZES 865 - 868

Nominal | 865 |

Input

2:3: N;l:‘li:ﬂ Speed g::::‘t Input ?_‘;::ih:;? Tt -:-),:‘pm (:-verdh:ng [ $utput ?.ver(:uFmg Input gutput (I)-verdh:ng
Rev/Min . Power kW Power kW que | Loacta | oo verkw | o 0Ue 03¢ 8 | powerkw [ ‘oriue | toactra
Rev/Min (kN) Nm (kN) Nm (kN) (kN)

2900 207 96.10 452 10.00 156.00 719 12.00 - - - - - -
1450 1036 60.60 574 10.00 78.20 722 12.00 = = = = = =
960 686 46.00 661 10.10 51.80 722 12.20 - - - - - -
725 518 38.20 721 10.10 39.10 723 12.20 = = = = =
2900 1611 82.20 534 10.00 156.00 1010 12.00 = = = = =
1450 806 51.80 677 10.10 78.20 1010 12.20 = = = = =
960 533 39.30 779 10.10 51.80 1010 12.20 = = = = =
725 403 32.60 856 10.20 39.10 1010 12.30 - - - - -
2900 1318 77.50 565 10.00 156.00 1100 12.00 = = = = =
1450 659 48.80 716 10.10 78.20 1100 12.20 o o 5 5 2
960 436 37.10 824 10.20 51.80 1100 12.30 = =
725 330 30.80 906 10.20 39.10 1100 12.30 = =
2900 1160 72.90 596 10.00 147.00 1170 12.00 = =
1450 580 45.90 756 10.10 78.20 1250 12.20 = = = = = =
960 384 34.90 869 10.20 51.80 1250 12.30 - - - - - -
725 290 28.90 956 10.40 39.10 1250 12.40 = = = = = =
2900 1036 96.10 909 10.00 156.00 1490 12.00 195.00 1810 28.00 274.00 2520 35.00
1450 518 60.60 1150 10.10 78.20 1490 12.20 97.40 1810 28.70 137.00 2520 36.00
960 343 46.00 1320 10.20 51.80 1500 12.30 64.50 1810 29.50 90.60 2520 37.50
725 259 38.20 1460 10.40 39.10 1500 12.40 48.70 1810 30.00 68.50 2520 38.00
2900 906 63.60 671 10.10 126.00 1310 12.20 195.00 1980 28.30 274.00 2840 35.50
1450 453 40.00 850 10.20 75.20 1570 12.30 97.40 1990 29.20 137.00 2840 37.00
960 300 30.40 978 10.40 49.80 1570 12.40 64.50 1990 30.00 90.60 2840 38.00
725 227 2520 1070 10.60 37.60 1570 12.40 48.70 1990 31.00 68.50 2840 39.00
2900 806 58.60 692 10.10 118.00 1330 12.20 195.00 2250 28.30 274.00 3320 35.50

7 1450 403 36.90 876 10.20 69.70 1570 12.30 97.40 2260 29.20 137.00 3330 37.00
960 267 28.10 1010 10.40 46.10 1570 12.40 64.50 2260 30.00 90.60 3330 38.00
725 201 22.80 1090 10.60 34.80 1570 12.40 48.70 2260 31.00 68.50 3330 39.00
2900 725 82.20 1070 10.10 156.00 2090 12.20 195.00 2510 28.30 274.00 3520 35.50
1450 363 51.80 1360 10.20 78.20 2090 12.30 97.40 2510 29.50 137.00 3530 37.50
960 240 39.30 1560 10.60 51.80 2090 12.40 64.50 2510 31.00 90.60 3530 39.00
725 181 32.60 1710 10.80 39.10 2100 12.50 48.70 2510 32.50 68.50 3530 40.00
2900 644 77.50 1130 10.10 152.00 2200 12.20 195.00 2760 28.30 274.00 3970 35.50
1450 322 48.80 1440 10.20 78.20 2280 12.30 97.40 2760 29,50 137.00 3970 37.50
960 213 37.10 1650 10.60 51.80 2280 12.40 64.50 2760 31.00 90.60 3970 39.00
725 161 30.80 1810 10.80 39.10 2280 12.50 48.70 2760 32.50 68.50 3970 40.00
2900 580 82.20 1330 10.10 144.00 2260 12.20 195.00 3130 28.70 274.00 4650 36.00
1450 290 51.80 1680 10.40 78.20 2470 12.40 97.40 3140 30.00 137.00 4660 38.00
960 192 39.30 1930 10.80 51.80 2470 12.50 64.50 3140 32.50 90.60 4660 40.00
725 145 32.60 2120 11.00 39.10 2470 12.50 48.70 3140 35.00 68.50 4660 41.00
2900 518 77.50 1410 10.10 137.00 2340 12.20 195.00 3440 28.70 274.00 5240 36.00
1450 259 48.80 1780 10.40 78.20 2690 12.40 97.40 3450 30.00 137.00 5240 38.00
960 m 37.10 2040 10.80 51.80 2690 12.50 64.50 3450 32.50 90.60 5240 40.00
725 129 30.70 2250 11.00 39.10 2690 12.50 48.70 3450 35.00 68.50 5240 41.00
2900 460 63.60 1350 10.20 119.00 2550 12.30 195.00 3880 29.20 274.00 5730 37.00
1450 230 40.00 1700 10.60 72.90 3140 12.40 97.40 3880 31.00 137.00 5730 39.00
960 152 30.40 1960 11.00 51.80 3370 12.50 64.50 3880 35.00 90.60 5730 41.00
725 115 2520 2150 11.40 39.10 3370 13.00 48.70 3880 38.00 68.50 5730 43.00
2900 408 58.60 1390 10.20 113.00 2620 12.30 195.00 4300 29.20 274.00 6370 37.00
1450 204 36.90 1760 10.60 69.50 3230 12.40 97.40 4300 31.00 137.00 6360 39.00
960 135 28.10 2020 11.00 51.80 3640 12.50 64.50 4300 35.00 90.60 6360 41.00
725 102 2330 2220 11.40 39.10 3640 13.00 48.70 4300 38.00 68.50 6370 43.00
2900 363 63.60 1670 10.20 107.00 2700 12.30 195.00 4840 29.50 274.00 7570 37.50
1450 181 39.50 2080 10.80 65.50 3330 12.50 97.40 4840 32.50 137.00 7570 40.00
960 120 29.60 2360 11.40 49.00 3760 13.00 64.50 4840 38.00 90.60 7570 43.00
725 9N 24.30 2560 13.00 39.10 3980 15.00 4870 4850 42.00 68.50 7570 46.00
2900 322 58.60 1720 10.20 102.00 2780 12.30 186.00 5110 29.50 274.00 8410 37.50
1450 161 36.80 2170 10.80 62.40 3420 12.50 97.40 5360 32.50 137.00 8400 40.00
960 107 27.50 2450 11.40 46.70 3870 13.00 64.50 5370 38.00 90.60 8400 43.00
725 81 2260 2670 13.00 38.30 4210 15.00 48.70 5370 42.00 68.50 8410 46.00
2900 290 47.40 1560 10.40 88.30 2990 12.40 173.00 5470 30.00 248.00 7980 38.00
1450 145 29.80 1970 11.00 54.20 3680 12.50 97.40 6170 35.00 137.00 8800 41.00
960 96 2270 2260 13.00 36.80 3770 15.00 64.50 6180 42.00 90.60 8810 46.00
725 73 18.80 2480 15.70 278 3770 15.90 48.70 6180 45.00 68.50 8810 52.00
2900 264 43.10 1610 10.40 81.40 3120 12.40 165.00 5900 30.00 227.00 8270 38.00

17 1450 132 27.10 2040 11.00 49.10 3770 12.50 82.70 5940 35.00 137.00 9980 41.00
960 87 20.60 2340 13.00 32.50 3770 15.00 54.70 5940 42.00 90.60 9990 46.00

725 66 17.10 2570 15.70 2450 3770 15.90 41.30 5940 45.00 68.40 9990 52.00




GEARBOXES SECTION :

Series M Gearboxes : Non motorised selection

DOUBLE REDUCTION RATINGS SIZES 865 - 868

Ratio ( Nominal Speed Output Output | Overhung Output | Overhung Output | Overhung Overhung
Code [ Ratio L Speed Input Torque | Load Fra Input Torque | Load Fra Input Torque | Load Fra Input Load Fra
Rev/Min Power kW Power kW Power kW Power kW

Rev/Min Nm (kN) Nm (kN) Nm (kN) (kN)

2900 242 47.40 1930 10.60 79.10 3160 12.40 136.00 5370 31.00 241.00 10200 39.00
1450 121 2960 2420 11.40 48.60 3890 13.00 80.30 6350 38.00 121.00 10200 43.00
960 80 22.20 2740 13.00 36.40 4400 15.00 53.20 6350 42.00 79.80 10200 46.00
725 60 17.50 2860 17.00 27.50 4410 23.00 40.10 6350 51.00 60.20 10200 60.00
2900 207 43.10 2000 10.60 72.90 3290 12.40 131.00 5880 31.00 215.00 10400 39.00
1450 104 21.10 2530 11.40 44.80 4050 13.00 70.30 6290 38.00 108.00 10400 43.00
960 69 2030 2860 15.70 32.20 4410 15.90 46.50 6290 45.00 71.30 10400 52.00
725 52 15.30 2860 17.00 24.30 4410 23.00 35.10 6290 51.00 53.80 10400 60.00
2900 181 3290 1750 10.80 65.90 3460 12.50 119.00 6070 3250 172.00 8970 40.00
1450 91 20.70 2210 13.00 35.90 3770 15.00 60.80 6200 42.00 106.00 11100 46.00
960 60 15.70 2530 17.00 2370 3770 23.00 40.20 6200 51.00 70.20 11100 60.00
725 45 12.40 2640 22.40 17.90 3770 28.00 30.40 6200 56.00 53.00 11100 70.00
2900 161 29.90 1760 10.80 60.40 3520 12.50 108.00 6200 3250 161.00 9260 40.00
1450 81 18.90 2230 13.00 32.30 3770 15.00 53.90 6200 42.00 96.20 11100 46.00
960 53 14.30 2560 17.00 21.40 3770 23.00 3570 6200 51.00 63.70 11100 60.00
725 40 11.20 2640 22.40 16.10 3770 28.00 26.90 6200 56.00 48.10 11100 70.00
2900 145 32.90 2160 11.00 58.90 3650 12.50 94.10 5980 35.00 153.00 10600 41.00
1450 73 20.70 2730 15.70 35.60 4410 15.90 49.90 6350 45.00 76.70 10600 52.00
960 48 14.30 2860 22.40 2350 4410 28.00 33.00 6350 56.00 50.70 10600 70.00
725 36 10.80 2860 26.20 17.80 4410 34.00 24.90 6350 60.00 38.30 10600 79.00
2900 132 29.90 2190 11.00 54.90 3770 12.50 88.60 6350 35.00 142.00 10800 41.00
1450 66 18.90 2760 16.70 32.00 4410 15.90 4430 6350 45.00 70.70 10800 52.00
960 44 12.90 2860 2240 2120 4410 28.00 29.30 6350 56.00 46.80 10800 70.00
725 33 9.75 2860 26.20 16.00 440 34.00 22.10 6350 60.00 35.40 10800 79.00
2900 116 2260 1880 11.40 4520 3760 13.00 76.70 6200 38.00 115.00 9530 43.00
1450 58 14.20 2370 17.00 2270 3770 23.00 38.30 6200 51.00 63.80 10600 60.00
960 38 10.50 2640 26.20 15.00 3770 34.00 25.40 6200 60.00 42.20 10600 79.00
725 29 793 2640 28.00 11.30 3770 40.00 19.10 6200 64.00 31.90 10600 79.00
2900 104 20.70 1900 11.40 39.50 3770 13.00 68.90 6200 38.00 109.00 9770 43.00
1450 52 13.00 2400 17.00 19.70 3770 23.00 34.40 6200 51.00 55.60 9970 60.00
960 34 9.51 2640 26.20 13.00 3770 34.00 22.80 6200 60.00 36.80 9980 79.00
725 26 718 2640 28.00 9.85 3770 40.00 17.20 6200 64.00 27.80 9980 79.00
2900 91 22.60 2330 13.00 43.10 4220 15.00 62.90 6350 42.00 97.60 10700 46.00
1450 45 13.80 2860 22.40 22.50 4410 28.00 31.40 6350 56.00 48.80 10700 70.00
960 30 9.16 2860 28.00 14.90 4410 40.00 20.80 6350 64.00 3230 10700 79.00
725 23 6.92 2860 28.00 11.20 4410 40.00 15.70 6350 64.00 24.40 10700 79.00
2900 81 20.70 2350 13.00 39.10 4410 15.00 56.60 6350 42.00 91.30 10800 46.00
27 1450 40 12.50 2860 22.40 19.50 4410 28.00 28.30 6350 56.00 45.60 10800 70.00
960 27 8.30 2860 28.00 12.90 4410 40.00 18.70 6350 64.00 30.20 10800 79.00
725 20 6.26 2860 28.00 9.76 4410 40.00 14.10 6350 64.00 22.80 10800 79.00
2900 73 19.30 2460 15.70 3530 4160 165.90 49.40 6090 45.00 75.70 9400 52.00
1450 36 9.62 2470 26.20 17.60 4160 34.00 26.20 6460 60.00 39.90 9940 79.00
960 24 6.37 2470 28.00 11.70 4160 40.00 17.40 6460 64.00 26.90 10100 79.00
725 18 481 2470 28.00 8.82 4160 40.00 13.10 6460 64.00 20.30 10100 79.00
2900 64 17.40 2470 16.70 30.70 4160 15.90 45.00 6160 45.00 70.20 9460 52.00
1450 32 8.71 2470 26.20 15.30 4160 34.00 23.60 6460 60.00 37.10 10000 79.00
960 2 5.77 2470 28.00 10.10 4160 40.00 15.60 6460 64.00 24.80 10100 79.00
725 16 435 2470 28.00 7.66 4160 40.00 11.80 6460 64.00 18.70 10100 79.00
2900 58 15.60 2430 17.00 27.90 4250 23.00 36.70 5660 51.00 50.10 8130 60.00
1450 29 9.14 2860 28.00 14.00 4260 40.00 18.40 5660 64.00 2510 8140 79.00
960 19 6.05 2860 28.00 9.25 4260 40.00 12.20 5660 64.00 16.60 8140 79.00
725 15 457 2860 28.00 6.98 4260 40.00 9.19 5660 64.00 1250 8140 79.00
2900 52 12.10 2120 17.00 2370 3870 23.00 36.70 6020 51.00 46.50 8440 60.00
1450 26 571 2000 28.00 11.80 3870 40.00 18.40 6030 64.00 2320 8450 79.00
960 17 367 1940 28.00 7.84 3870 40.00 12.20 6030 64.00 15.40 8450 79.00
725 13 272 1910 28.00 592 3870 40.00 9.19 6030 64.00 11.60 8450 79.00
2900 46 12.70 2470 22.40 22.70 4160 28.00 33.80 6360 56.00 50.10 9270 70.00
1450 23 6.35 2470 28.00 11.40 4160 40.00 17.20 6460 64.00 2510 9270 79.00
960 15 421 2470 28.00 752 4160 40.00 11.40 6460 64.00 16.60 9280 79.00
725 12 3.18 2470 28.00 5.68 4160 40.00 8.59 6460 64.00 1250 9280 79.00
2900 | 11.30 2470 22.40 21.20 4160 28.00 32.00 6400 56.00 46.50 9620 70.00
n 1450 20 5.66 2470 28.00 10.60 4160 40.00 16.10 6460 64.00 2320 9630 79.00
960 14 367 2420 28.00 7.02 4160 40.00 10.70 6460 64.00 15.40 9630 79.00
725 10 272 2380 28.00 5.30 4160 40.00 8.07 6460 64.00 11.60 9630 79.00

FEN01/14 : DRIVE DESIGN & MAINTENANCE MANUAL 207



SECTION : GEARBOXES

Series M Gearboxes : Non motorised selection

TRIPLE REDUCTION RATINGS SIZES 860 - 864

Nominal | s [ s | s [ s |

Ratio | Nominal slnputd Output Output | Overhung Output | Overhung Output | Overhung Output | Overhung
Code | Ratio | Pt | Speed | P | qoue | LoadFra |, ™™ | Torque | LoadF toput | Load F toput | 1 Load F

Rev/Min . | Power kW q Power kW que | L0at i1a | poer kw | (OLaue | ROACTE | oo ver kw | TOTdue | Road tra
Rev/Min Nm (kN) Nm (kN) Nm (kN) Nm (kN)
2900 52 0.50 90 1.50 0.89 159 4.00 1.17 209 2.80 1.57 287 6.70
1450 26 0.25 90 1.90 0.45 160 4.00 0.58 209 3.15 0.92 338 7.20
960 17 0.16 90 1.90 0.30 160 4.00 0.39 209 3.15 0.61 338 720
725 13 0.12 90 1.90 022 160 4.00 0.29 209 3.15 0.46 338 7.20
2900 46 0.45 90 1.50 0.81 160 4.00 1.06 209 2.90 1.46 293 7.10
1450 23 0.22 90 1.90 0.41 160 4.00 0.53 209 3.15 0.84 338 7.20
960 15 0.15 90 1.90 0.27 160 4.00 0.35 209 3.15 0.55 338 120
725 12 0.11 90 1.90 0.20 160 4.00 0.26 209 3.15 0.42 338 720
2900 4 0.41 90 1.60 0.74 160 4.00 0.97 209 3.00 1.31 302 7.20
1450 20 0.20 90 1.90 037 160 4.00 0.48 209 3.15 0.73 338 7.20
960 14 0.13 90 1.90 0.24 160 4.00 0.32 209 3.15 0.48 338 7.20
725 10 0.10 90 1.90 0.18 160 4.00 0.24 209 3.15 0.36 338 7.20
2900 36 0.35 90 1.70 0.63 160 4.00 0.82 209 3.10 1.22 307 7.20
) 1450 18 017 90 1.90 0.31 160 4.00 0.41 209 3.15 0.67 338 7.20
960 12 0.12 90 1.90 0.21 160 4.00 027 209 3.15 0.44 338 7.20
725 9 0.09 90 1.90 0.16 160 4.00 0.20 209 3.15 0.33 338 7.20
2900 29 0.29 90 1.90 0.53 160 4.00 0.69 209 3.15 1.07 324 7.20
1450 15 0.14 90 1.90 0.26 160 4.00 0.34 209 3.15 0.56 338 7.20
960 10 0.10 90 1.90 0.17 160 4.00 0.23 209 3.15 0.37 338 7.20
725 7 0.07 90 1.90 0.13 160 4.00 0.17 209 3.15 0.28 338 7.20
2900 26 0.25 90 1.90 0.45 160 4.00 0.59 209 3.15 0.93 338 7.20
1450 13 0.12 90 1.90 023 160 4.00 0.29 209 3.15 047 338 7.20
960 9 0.08 90 1.90 0.15 160 4.00 0.19 209 3.15 0.31 338 7.20
725 6 0.06 90 1.90 0.11 160 4.00 0.15 209 3.15 0.23 338 7.20
2900 23 022 90 1.90 0.41 160 4.00 053 209 3.15 0.83 338 7.20
1450 12 0.11 90 1.90 020 160 4.00 027 209 3.15 041 338 7.20
960 8 0.07 90 1.90 0.14 160 4.00 0.18 209 3.15 027 338 7.20
725 6 0.06 90 1.90 0.10 160 4.00 0.13 209 3.15 0.21 338 7.20
2900 18 0.19 90 1.90 034 160 4.00 0.44 209 3.15 0.71 338 7.20
1450 9 0.09 90 1.90 0.17 160 4.00 0.22 209 3.15 0.36 338 7.20
960 6 0.06 90 1.90 0.1 160 4.00 0.15 209 3.15 0.23 338 120
725 5 0.05 90 1.90 0.08 160 4.00 0.1 209 3.15 0.18 338 120
2900 16 0.16 90 1.90 0.29 160 4.00 0.39 209 3.15 0.63 338 720
1450 8 0.08 90 1.90 0.15 160 4.00 0.19 209 3.15 0.31 338 7.20
960 5 0.05 90 1.90 0.10 160 4.00 0.13 209 3.15 0.21 338 7.20
725 4 0.04 90 1.90 0.07 160 4.00 0.10 209 3.15 0.16 338 7.20
2900 15 0.14 90 1.90 0.26 160 4.00 0.34 209 il 0.55 338 7.20
1450 7 0.07 90 1.90 0.13 160 4.00 017 209 3.15 0.28 338 7.20
960 5 0.05 90 1.90 0.09 160 4.00 0.11 209 3.15 0.18 338 7.20
725 4 0.04 90 1.90 0.06 160 4.00 0.09 209 3.15 0.14 338 7.20

Nominal | s [ s | 0w |

Ratio | Nominal slnput Output Output | Overhung Output | Overhung Output | Overhung Output | Overhung
. peed Input Input Input Input
Code Ratio Rev/Min Speed P KW Torque | Load Fra P W Torque | Load Fra P W Torque | Load Fra P W Torque | Load Fra

Rev/Min ower Nm (kN) ower (kN) ower Nm kN) ower Nm (kN)
2900 52 242 443 4.20 - - - 3.47 450 6.94 1300 9.25
1450 26 1.22 450 7.20 - - - 2.03 754 8.10 423 1600 16.20
960 17 0.81 450 7.20 - - - 154 865 9.20 2.96 1700 16.20
725 13 0.61 450 7.20 - - - 117 868 9.20 2.23 1700 16.20
2900 46 214 431 450 242 549 7.20 3.30 649 4.65 6.50 1340 9.50
1450 23 1.1 450 7.20 1.38 626 7.20 1.95 770 9.20 3.97 1650 16.20
960 15 0.74 450 7.20 0.91 626 7.20 1.45 868 9.20 27 1700 16.20
725 12 0.56 450 7.20 0.69 626 7.20 1.09 868 9.20 2.04 1700 16.20
2900 4 191 443 5.00 2.14 534 7.20 2.88 673 5.10 5.96 1390 10.00
1450 20 0.97 450 7.20 124 623 7.20 1.74 815 9.20 3.62 1700 16.20
960 14 0.64 450 7.20 0.82 626 7.20 1.22 868 9.20 2.39 1700 16.20
725 10 0.48 450 7.20 0.62 626 7.20 0.92 868 9.20 1.80 1700 16.20
2900 36 1.78 450 5.60 1.91 549 7.20 274 682 6.30 5.47 1440 12.30
1450 18 0.89 450 7.20 1.09 626 7.20 1.67 833 9.20 321 1700 16.20
960 12 0.59 450 7.20 0.72 626 7.20 1.15 868 9.20 212 1700 16.20
725 9 0.44 450 7.20 0.54 626 7.20 0.87 868 9.20 1.60 1700 16.20
2900 29 1.49 450 6.30 1.79 558 7.20 231 74 7.40 478 1520 14.00
1450 15 0.74 450 7.20 1.00 626 7.20 1.40 868 9.20 2.65 1700 16.20
960 10 0.49 450 7.20 0.66 626 720 0.93 868 9.20 1.75 1700 16.20
725 7 0.37 450 7.20 0.50 626 7.20 0.70 868 9.20 1.32 1700 16.20
2900 26 1.24 450 7.20 1.56 585 7.20 2.06 751 9.20 429 1600 16.20
1450 13 0.62 450 7.20 0.83 626 7.20 119 868 9.20 221 1700 16.20
960 9 0.41 450 7.20 0.55 626 7.20 0.79 868 9.20 1.50 1700 16.20
725 6 0.31 450 7.20 0.42 626 7.20 0.60 874 9.20 1.13 1700 16.20
2900 23 1.10 450 7.20 1.37 613 7.20 1.94 774 9.20 4.02 1640 16.20
1450 12 0.55 450 7.20 0.70 626 7.20 1.09 868 9.20 2.07 1700 16.20
960 8 0.36 450 7.20 0.46 626 7.20 0.72 868 9.20 1.37 1700 16.20
725 6 0.28 450 7.20 0.35 626 7.20 0.55 883 9.20 1.03 1700 16.20
2900 18 0.95 450 7.20 1.24 626 7.20 1.70 828 9.20 339 1700 16.20
1450 9 0.47 450 7.20 0.62 626 7.20 0.89 868 9.20 1.69 1700 16.20
960 6 031 450 7.20 0.41 626 7.20 0.59 875 9.20 112 1700 16.20
725 5 0.24 450 7.20 0.31 626 7.20 0.45 888 9.20 0.85 1720 16.20
2900 16 0.83 450 7.20 1.06 626 7.20 1.58 858 9.20 3.10 1700 16.20
1450 8 0.42 450 7.20 0.53 626 7.20 0.80 868 9.20 1.55 1700 16.20
960 5 0.28 450 7.20 0.35 626 7.20 0.54 886 9.20 1.02 1700 16.20
725 4 021 450 7.20 0.26 626 7.20 041 888 9.20 0.79 1730 16.20
2900 15 0.74 450 7.20 0.94 626 7.20 1.43 868 9.20 2.70 1700 16.20
1450 7 0.37 450 7.20 0.47 626 7.20 071 868 9.20 1.35 1700 16.20
960 5 024 450 7.20 0.31 626 7.20 0.48 888 9.20 0.90 1710 16.20
725 4 0.18 450 7.20 0.23 626 7.20 0.36 888 9.20 0.69 1750 16.20




GEARBOXES SECTION :

Series M Gearboxes : Non motorised selection

TRIPLE REDUCTION RATINGS SIZES 865 - 868

Nomnal | 85 | e | s |
Ratio | Nominal
Code | Ratio

SI:Z::l (s)“lpl: Input Output | Overhung Input Output | Overhung Input Output | Overhung Input Output | Overhung
Rev/Min pees Power kW Torque | Load Fra Power kW Torque | Load Fra Power kW Torque | Load Fra Power kW Torque | Load Fra
Rev/Min (kN) Nm (L)) Nm (kN) Nm (kN)
2900 73 - - - - - - 35.00 4380 45.00 58.10 75200 52.00
1450 36 = = = = = = 21.90 5530 60.00 37.50 9740 79.00
960 24 = = = = = = 15.60 5940 64.00 26.60 10500 79.00
725 18 - - - - - - 12.30 6200 64.00 21.30 11100 79.00
2900 64 = = = = = = 38.90 5360 45.00 62.70 9430 52.00
1450 32 - - - - - - 2220 6170 60.00 36.40 11000 79.00
960 21 = = = = = = 15.10 6350 64.00 2410 11000 79.00
725 16 = 5 o o = o 11.40 6350 64.00 18.20 11000 79.00

2900 58 - - = = - = 35.00 5460 51.00 58.10 9930 60.00
1450 29 = = = = = = 20.10 6310 64.00 3210 11000 79.00
960 19 = - = = = > 13.40 6350 64.00 21.20 11000 79.00
725 15 = = = = 10.10 6350 64.00 16.00 11000 79.00

2900 52 11.20 2100 17.00 17.90 3380 23.00 29.60 5270 51.00 46.70 8680 60.00
1450 26 6.84 2580 28.00 9.94 3770 40.00 17.30 6190 64.00 28.10 10500 79.00
960 17 462 2640 28.00 6.57 3770 40.00 11.40 6200 64.00 19.70 11100 79.00
725 13 3.49 2640 28.00 4.95 3770 40.00 8.63 6200 64.00 14.80 11100 79.00
2900 46 10.40 2170 22.40 16.60 3490 28.00 26.80 5380 56.00 44.00 9020 70.00
1450 23 6.29 2640 28.00 8.95 3770 40.00 15.30 6200 64.00 26.00 10700 79.00
960 15 4.16 2640 28.00 5.91 3770 40.00 10.10 6200 64.00 17.80 11100 79.00
725 12 3.14 2640 28.00 4.46 3770 40.00 7.66 6200 64.00 13.50 11100 79.00
2900 M 10.10 2350 2240 16.40 3640 28.00 26.60 5920 56.00 44.80 11000 70.00
1450 20 6.10 2860 28.00 9.85 4410 40.00 14.20 6350 64.00 22.30 11000 79.00
960 14 4.03 2860 28.00 6.51 440 40.00 9.39 6350 64.00 14.80 11000 79.00
725 10 3.04 2860 28.00 491 4410 40.00 7.09 6350 64.00 11.10 11000 79.00
2900 36 9.38 2420 26.20 16.20 3760 34.00 2410 6060 60.00 40.70 11000 79.00
a 1450 18 549 2860 28.00 8.87 4410 40.00 12.60 6350 64.00 20.30 11000 79.00
960 12 3.63 2860 28.00 5.86 4410 40.00 833 6350 64.00 13.40 11000 79.00
725 g 274 2860 28.00 4.42 4410 40.00 6.29 6350 64.00 10.10 11000 79.00
2900 32 8.15 2400 26.20 12.60 3770 34.00 20.90 5930 60.00 34.40 10100 79.00
8 1450 16 4.46 2640 28.00 6.27 3770 40.00 10.90 6200 64.00 18.80 11100 79.00
960 n 295 2640 28.00 4.15 3770 40.00 21 6200 64.00 12.40 11100 79.00
725 8 2.23 2640 28.00 3.13 3770 40.00 5.44 6200 64.00 9.39 11100 79.00
2900 29 7.60 2480 28.00 10.90 3770 40.00 19.20 6050 64.00 3220 10300 79.00
1450 15 4.04 2640 28.00 5.45 3770 40.00 9.79 6200 64.00 17.30 11100 79.00
960 10 267 2640 28.00 3.60 3770 40.00 6.48 6200 64.00 11.50 11100 79.00
725 7 202 2640 28.00 272 3770 40.00 489 6200 64.00 8.66 11100 79.00
2900 26 7.36 2690 28.00 11.80 4180 40.00 18.00 6350 64.00 28.30 11000 79.00
1450 13 389 2860 28.00 6.22 4410 40.00 8.95 6350 64.00 14.10 11000 79.00
960 9 257 2860 28.00 41 4410 40.00 592 6350 64.00 9.34 11000 79.00
725 6 1.94 2860 28.00 3.10 4410 40.00 4.47 6350 64.00 7.05 11000 79.00
2900 23 6.86 2770 28.00 10.70 4360 40.00 16.10 6350 64.00 26.10 11000 79.00
1450 12 352 2860 28.00 540 4410 40.00 8.04 6350 64.00 13.00 11000 79.00
960 8 2.33 2860 28.00 S/ 4410 40.00 532 6350 64.00 8.61 11000 79.00
725 6 1.76 2860 28.00 2.70 4410 40.00 4.02 6350 64.00 6.50 11000 79.00
2900 Al 5.46 2470 28.00 9.82 4160 40.00 15.00 6460 64.00 22.90 10100 79.00
1450 10 271 2470 28.00 4.89 4160 40.00 747 6460 64.00 11.40 10100 79.00
960 7 179 2470 28.00 323 4170 40.00 494 6460 64.00 7.54 10100 79.00
725 5 1.35 2470 28.00 244 470 40.00 373 6460 64.00 5.69 10100 79.00
2900 18 4.94 2470 28.00 853 4160 40.00 13.50 6460 64.00 21.10 10100 79.00
1450 9 2.46 2470 28.00 4.25 4170 40.00 6.71 6460 64.00 10.50 10100 79.00
960 6 1.62 2470 28.00 281 4170 40.00 4.44 6460 64.00 6.95 10100 79.00
725 B 1.23 2480 28.00 213 4200 40.00 335 6460 64.00 525 10100 79.00
2900 16 5.15 2860 28.00 8.03 4410 40.00 11.70 6350 64.00 19.00 11000 79.00
1450 8 257 2860 28.00 4.00 4410 40.00 5.86 6350 64.00 9.49 11000 79.00
960 5 1.70 2860 28.00 2.65 4410 40.00 3.88 6350 64.00 6.28 11000 79.00
725 4 1.28 2860 28.00 2.00 4410 40.00 293 6350 64.00 474 11000 79.00
2900 15 459 2860 28.00 7.48 4410 40.00 11.00 6350 64.00 17.00 11000 79.00
1450 7 229 2860 28.00 373 4410 40.00 5.50 6350 64.00 8.48 11000 79.00
960 5 1.51 2860 28.00 247 4410 40.00 364 6350 64.00 561 11000 79.00
725 4 1.14 2860 28.00 1.86 4410 40.00 2.75 6350 64.00 4.23 11000 79.00
2900 13 3:59 2470 28.00 6.31 4160 40.00 9.80 6460 64.00 15.40 10100 79.00
1450 6 1.79 2470 28.00 3.15 4170 40.00 4.89 6460 64.00 7.66 10100 79.00
960 4 1.19 2480 28.00 210 4210 40.00 323 6460 64.00 507 10100 79.00
725 3 0.89 2480 28.00 1.61 4270 40.00 2.44 6460 64.00 383 10100 79.00
2900 12 320 2470 28.00 5.88 4160 40.00 9.21 6460 64.00 13.70 10100 79.00
57 1450 6 159 2470 28.00 2.93 4170 40.00 459 6460 64.00 6.84 10100 79.00
960 4 1.06 2480 28.00 1.97 4240 40.00 3.04 6460 64.00 453 10100 79.00
725 3 0.80 2480 28.00 1.50 4270 40.00 229 6460 64.00 342 10100 79.00

FEN01/14 : DRIVE DESIGN & MAINTENANCE MANUAL 209




SECTION : GEARBOXES

Series M Gearboxes : Dimensions Non Motorised

Foot Mounted - Non Motorised
Double/Triple reduction

G i K
Tapped Hole d @ = — Tapped Hole d1

* v2 TW—Z‘ — wi_ vl 1

O H—HE]

@ i \

! L2 \/ = D / <

] 5
I a b
. b

HODEnnnononn
360 [RACIRLL 131 135 149 020 k6 25 M6 x 1.0 x 16 deep
EIl 0 110 16 152 145 90 75 84 86 35 180 10 025 k6 50 28.0 8 4 40 M10x 15 x 22 deep
G 0 10 16 152 145 9% 75 84 86 35 180 10  @25k6 50 280 8 4 40 MI10x15x22 deep
BECW 5 15 20 20 19 115 9 97 107 55 208 15 030ks 60 330 8 4 50 MI10x1.5x22 deep
BEEH w5 135 20 200 19 115 100 97 107 55 208 15  @35k6 70 380 10 7 B0 MI12x1.75x28 deep
Bl 95 150 24 235 210 130 100 110 110 60 214 15  @35k6 70 380 10 7 60 M12x1.75x28 deep
G 205 170 25 245 230 140 115 119 133 60 250 19 @40ke 80 430 12 5 70 M16x2.0x 36 deep
260 215 35 310 290 180 140 167 153 75 310 19  @50k6 100 535 14 10 80 MI16x20x36deep
B 30 20 40 365 340 225 160 200 172 90 334 23 @6Om6 120 640 18 10 100 M20x25x42 deep
370 290 45 440 400 250 185 225 203 110 446 27 Q@OmB 140 745 20 15 110 M20x25x42 deep
G +0 3% 50 490 450 265 220 242 228 110 483 34  @90m6 170 950 25 15 140 M24x3.0x50deep
[T 500 380 50 590 530 300 260 278 268 150 551 41  ©100m6 210 1060 28 15 180  M24x3.0x50 deep

Fixing Bolts

Input Shaft Dimensions Fasteners &
Iﬂl“lﬂlﬂlﬂl_ Tightening Torque

s
=
=
=
(7]
=
D
=

860 16 k6 18.0 5 4 M5 x 0.8 x 12 deep 4 x M8 x 25mm long
16k6 40 180 5 4 32 M5 x 0.8 x 12 deep 301 8 8 Tighten to - 25Nm
n 16k6 40 180 5 4 32 M5 x 0.8 x 12 deep 317 12 n 4 x M8 x 30mm long
16k6 40 180 5 4 32 M5 x 0.8 x 12 deep 330 13 Tighten to - 25Nm
m 16k6 40 180 5 4 32 M5 x 0.8 x 12 deep 317 12 n 4x M8 x 30mm long
16k6 40 180 5 4 32 M5 x 0.8 x 12 deep 330 13 Tighten to - 25Nm
n 19k6 40 215 6 4 32 M6 x 1.0 x 16 deep 369 2 m 4xM12 x 40mm long
16k6 40 18.0 5 4 32 M5 x 0.8 x 12 deep 377 2% Tighten to - 85Nm
m 19k6 40 215 6 4 32 M6 x 1.0 x 16 deep 379 2 ﬂ 4 x M12 x 40mm long
16k6 40 18.0 5 4 32 M5 x 0.8 x 12 deep 387 2% Tighten to - 85Nm
m 19k6 40 215 6 4 32 M6 x 1.0 x 16 deep 400 27 m 4xM12 x 40mm long
16k6 40 18.0 5 4 32 M5 x 0.8 x 12 deep 408 29 Tighten to - 85Nm
m 2k6 B0 270 8 5 40 M8 x 1.25 x 19 deep 440 38 m 4 x M16 x 45mm long
19 k6 40 215 6 4 32 M6 x 1.0 x 16 deep 452 39 Tighten to - 200Nm
- 28k6 60 31.0 8 5 50 M10x 15x 22 deep 555 67 » 4 x M16 x 60mm long
24k6 50 270 8 5 40 M8 x 1.25 x 19 deep 540 74 Tighten to - 200Nm
m 38ke 80 410 10 5 70 M12 x 1.75 x 28 deep 660 114 4% M20 x 70mm long
28k6 60 310 8 5 50 M10x 1.5 x 22 deep 662 123 n Tighten to - 350Nm
266 42k6 110 450 12 10 70 M16 x 2.0 x 36 deep 782 170 4 xM24 x 80mm long
38k6 80 410 10 5 70 M12 x 1.75 x 28 deep 784 179 866 Tighten to - 610Nm
561 55m6 110 59.0 16 10 90 M20 x 2.5 x 42 deep 907 248 4 x M30 x 90mm long
55m6 110 59.0 16 10 90 M20 x 2.5 x 42 deep 969 270 m Tighten to - 1220Nm
268 55m6 110 59.0 16 10 90 M20 x 2.5 x 42 deep 1022 360 4% M36 x 100mm long
55m6 110 59.0 16 10 90 M20 x 2.5 x 42 deep 1094 405 868

Tighten to - 2150Nm

* The input on the 803 unit is 14.5mm lower than the output
** All weights are approximate and exclude lubricant and packing



GEARBOXES SECTION :

Series M Gearboxes : Dimensions non motorised

Flange Mounted - Non Motorised
Double/Triple reduction

G
Ty
Tapped Hole d}\ @
10
I 2 w2 wi
alz
m [SIRST
L2 Jf | L1
D2
6 |
Tapped Hole d1
2 A Size 860-864 Size 865-868
i

FLANGE DIMENSIONS *

OUTPUT SHAFT DIMENSIONS Optional Flanges (P)
(N T [wm s [l w2 [Jelelelelw] o | °
9.0 10 4 32

T
76 74 160 110 85 130 (20 k6 40 225 6

M6 x 1.0 x 16 deep 120 140 200
91 90 160 110 3.5 130 9.0 10 25 k6 50 280 8 4 40 M10x1.5x22 deep 120 140 200
91 90 200 130 35 165 11.0 10 025 k6 50 280 8 4 40  M10x1.5x22 deep 120 140 160
115 93 200 130 35 165 11.0 " 30 k6 60 330 8 4 50  M10x1.5x22deep 140 160 250
115 3 250 180 40 215 135 n 035 k6 70 38.0 10 7 60  M12x1.75 x 28 deep 140 160 200

250 180 40 215 135 " 035 k6 70 38.0 10 7 60  M12x1.75x 28 deep 200 300 =

140 110 300 230 40 265 135 n 340 k6 80 430 12 5 70 M16x2.0x 36 deep 200 250
182 130 350 250 5.0 300 175 17 250 k6 100 535 14 10 80  M16x2.0x36deep 300 -

230 230 450 350 5.0 400 18.0 18 060 m6 120 640 18 10 100 M20x 2.5 x 42 deep =
260 260 450 350 5.0 400 18.0 22 (70 m6 140 745 20 15 110 M20x2.5x42 deep =
278 278 550 450 50 500 18.0 25 @90 m6 170 950 25 15 140 M24 x 3.0 x 50 deep -
550 450 5.0 500 18.0 25 2100 m6 210 106 28 15 180  M24 x 3.0 x50 deep =

(-] (-] [=-]
D -4 (=1
a = (=]

w

o

(=2

=

(-]
D
=)
w
(s3]
w
o

* Units are shown with Standard Flange size - see table below for optional flange dimensions

Optional Flange Dimensions

Input Shaft Dimensions
40 4 32 286 8.2
[ ]
1

=
=
=
-
(7]
=
o
-

16 k6 18.0 ) M5 x 0.8 x 12 deep 110 130 180 230

80
860
16 k6 40 18.0 32 M5x0.8x12deep 301 8.8 T 3.0 3.0 3.5 3.5 4.0 4.0

6.6

16 k6 40 18.0 32 Mb5x0.8x12 deep 317 12

5 4 !
“ 5 4 “ 00 115 130 185 215 265
16k8 40 180 5 4 32 M5x08x12deep 330 13
n 16k6 40 180 5 4 32 M5x08x12desp 317 12 n 20 | WU | N | WS ) e
16k6 40 180 5 4 32 M5x08x12deep 330 13 n 9 9 10 10 1 1
m 19k6 0 215 6 4 32 MB6x1.0x16deep 369 2
16k6 40 180 5 4 32 M5x08x12deep 377 2
m 19k6 0 215 6 4 32 MB6x1.0x16deep 379 2
16k8 40 180 5 4 32 M5x08x12deep 387 2
m 19k6 0 215 6 4 32 MBx1.0x16deep 400 27
16k6 40 180 5 4 32 M5x08x12deep 408 29
m 24 k6 50 270 8 5 40 MBx1.25x 19 deep 440 38
196 40 215 6 4 32 M6x1.0x16 deep 452 39
264 28k6 60 310 8 5 50 M10x15x22 deep 555 67
24k 50 270 8 5 40 M8x125x19deep 540 74
m 38 k6 80 410 10 5 70 M12x1.75x 28 deep 660 114
86 60 310 8 5 50 M10x15x22 deep 662 123
266 2k 110 450 12 10 70 MI6x2.0x 36 deep 782 170
38k6 80 410 10 5 70 MI12x1.75x28 deep 784 179
n 55m6 110 590 16 10 90 M20x2.5x 42 deep 907 28
55m6 110 590 16 10 90 M20x2.5x 42 deep 969 270
268 55m6 110 590 16 10 90 M20x2.5x 42 deep 1022 360
55m6 110 590 16 10 90 M20x2.5x 42 deep 1094 405

** All weights are approximate and exclude lubricant and packing

FEN01/14 : DRIVE DESIGN & MAINTENANCE MANUAL n



SECTION : GEARBOXES

Series M Gearboxes : Dimensions Non Motorised

Foot Mounted - Non Motorised
Quadruple/Quintuple reduction

v2 w2
[ s

R =

/
n g
L2

L . | -
() © an m
Tapped Hole d2 Tapped Hole d2 ‘ L
\Qj\ n
i a b
e
e
el L e L e e e
130 110 152 145 180 025 k6 28.0 M10x 1.5 x 22 deep

165 135 20 200 190 115 90 97 107 55 208 15 230 k6 60 33.0 8
165 135 20 200 190 115 100 97 107 55 208 15 035 k6 70 38.0 10
195 150 24 235 210 130 100 110 110 60 214 15 035 k6 70 38.0 10 60  M12x1.75x 28 deep
205 170 25 245 230 140 115 19 133 60 250 19 40 k6 80 43.0 12 70 M16x 2.0 x 36 deep
215 35 310 290 180 140 167 153 75 310 19 250 k6 100 535 14 10 80  M16x2.0 x 36 deep
250 40 365 340 225 160 200 172 90 394 23 60 m6 120 64.0 18 10 100 M20x2.5x 42 deep

50 M10x 1.5 x 22 deep
60  M12x1.75x 28 deep

O ~N N

(=]
D
-
N
(5]
o

K
o

[T 370 290 45 440 400 250 185 225 203 110 446 27 Q@70mB 140 745 20 15 110 M20x25x42 deep
BEM 20 340 50 490 450 265 220 242 228 110 483 34  @9%0m6 170 950 25 15 140 M24x3.0x50deep
7B 500 380 50 590 530 300 260 278 268 150 551 41  ©100m8 210 1060 28 15 180 M24x3.0x50deep
Input Shaft Fixing Bolts
“ Input Shaft Dimensions
Fasteners &
DoDonomoenE
16 k6 18.0 M5 x 0.8 x 12 deep 503 21 4 x M8 x 30mm long
“ 16k6 40 180 5 4 32 M5x08x12deep 518 2 n Tighten to - 25Nm
16k6 40 180 5 4 32 M5x08x12deep 571 33 4 xM12 x 40mm long
n 16k6 40 180 5 4 32 M5x08x12deep 584 34 n Tighten to - 85Nm
16 k6 40 18.0 5 4 32  M5x0.8x12deep 581 35 4 x M12 x 40mm long
n 16k6 40 180 5 4 32 M5x08x12deep 594 3% n Tighten to - 85Nm
n 16k6 40 180 5 4 32 M5x08x12deep 602 40 4 x M12 x 40mm long
16 k6 40 18.0 5 4 32 M5x0.8x12deep 615 4 n Tighten to - 85Nm
16k6 40 180 5 4 32 M5x08x12deep 639 48 4 x M16 x 45mm long
“ 16k6 40 180 5 4 32 M5x08x12deep 651 52 ﬂ Tighten to - 200Nm
19k6 40 215 6 4 32 M6x1.0x16 deep 751 9% 4 x M16 x 60mm long
564 16k6 40 180 5 4 32 M5x08x12deep 759 98 964 Tighten to - 200Nm
19k6 40 215 6 4 32 MBx1.0x16 deep 832 140 4 xM20 x 70mm long
“ 16k6 40 180 5 4 32 M5x08x12deep 840 143 n Tighten to - 350Nm
24K6 50 270 8 5 40 M8x1.25x 19 deep 956 204 4 x M24 x 80mm long
19k6 40 215 6 4 32 MBx1.0x16 deep 968 209 Tighten to - 610Nm
n 24K6 50 270 8 5 40 M8x1.25x19 deep 1077 279 4 x M30 x 90mm long
19 k6 40 215 6 4 32 M6x1.0x16 deep 1089 285 Tighten to - 1220Nm
acs 24k 50 270 8 5 40 M8x1.25x19 deep 1192 395 4 x M36 x 100mm long
19k6 40 215 6 4 32 M6x1.0x 16 deep 1204 401 Tighten to - 2150Nm

* The input on the 803 unit is 14.5mm lower than the output
** All weights are approximate and exclude lubricant and packing



GEARBOXES SECTION :

Series M Gearboxes : Dimensions non motorised

Flange Mounted - Non Motorised
Quadruple/Quintuple reduction

G
-
©
2 w2 Wi
Vv
—1 > vi 1
o2 —
[SIESY =
L2 ([ o L1 D1
i2
LA

Enn Flange Dimensions * Qutput Shaft Dimensions Optional Flanges (P)*
lop [N ] T [ m st [l 0 [ L loaluw]vlw] _d |

BEE 91 0 20 130 35 165 110 10 725 k6 50 280 8 4 4 MI0x15x22deep 120 140 160
BT 15 93 200 130 35 165 110 11 @30 k6 60 330 8 4 50 MI0x15x22deep 140 180 250
EE 5 93 250 180 40 215 135 11 735 k6 70 380 10 7 60  MI2x175x28deep 140 160 200
I 30 84 250 180 40 215 135 11 035 k6 70 380 10 7 60  M12x175x28deep 200 300 -

140 110 300 230 40 265 135 " @40 k6 80 43.0 12 5 70 M16 x 2.0 x 36 deep 200 250
864 182 130 350 250 5.0 300 17.5 17 250 k6 100 53.5 14 10 80 M16 x 2.0 x 36 deep 300 -
230 230 450 350 5.0 400 18.0 18 @60 m6 120 64.0 18 10 100 M20 x 2.5 x 42 deep -

866 260 260 450 350 5.0 400 18.0 22 270 m6 140 745 20 15 110 M20 x 2.5 x 42 deep = -
867 278 278 550 450 5.0 500 18.0 25 090 m6 170 95.0 25 15 140 M24 x 3.0 x 50 deep = =
868 318 318 550 450 5.0 500 18.0 25 100 m6 210 106 28 15 180 M24 x 3.0 x 50 deep - -

*Units are shown with standard flange size - see table for optional flange dimensions

16 kB 40 18.0
16 k6 40 18.0
16 k6 40 18.0
16 k6 40 18.0
16 k6 40 18.0
16 k6 40 18.0
16 k6 40 18.0
16 k6 40 18.0
19 k6 40 215
16 k6 40 18.0
19 k6 40 215
16 k6 40 18.0
24 k6 50 27.0
19 k6 40 215
24 k6 50 210
19k6 40 215
24 k6 50 270
19 k6 40 215

32 M5 x 0.8 x 12 deep 571 33 “
2 M5x08x12deep 584 34 IEW s 50 50 o 135 s
32 M5x08x12deep 581 35 n 9 9 10 10 1" "
32 M5 x 0.8 x 12 deep 594 36

32 M5 x 0.8 x 12 deep 602 40

32 M5 x 0.8 x 12 deep 615 41

32 M5 x 0.8 x 12 deep 639 48

32 M5 x 0.8 x 12 deep 651 52

M6 x 1.0 x 16 deep 751 96

32 M5 x 0.8 x 12 deep 759 98

32 M6 x 1.0 x 16 deep 832 140

32 M5 x 0.8 x 12 deep 840 143

40 M8 x 1.25 x 19 deep 956 204

32 M6 x 1.0 x 16 deep 968 209

40 M8 x 1.25 x 19 deep 1077 279

32 M6 x 1.0 x 16 deep 1089 285

40 M8 x 1.25 x 19 deep 1192 395

32 M6 x 1.0 x 16 deep 1204 401

Input Shaft Optional Flange Dimensions
DI DO
o Ju o Ju]vlw] o | Bl x 5 mw w w 2
16k6 40 180 5 4 32 M5x08x12deep 503 21
I 30 30 35 35 40 40
16k 40 180 32 M5x08x12deep 518 22 -
100 115 130 165 215 265

=<
D
=

866

868

o O O W U o U o O g g O o o g o O
G I & L T & 2 I e e N T T — T = A
w
N

FEN01/14 : DRIVE DESIGN & MAINTENANCE MANUAL 213



SECTION : GEARBOXES

Series M Gearboxes : Exact Gear Ratios

DOUBLE, TRIPLE, QUADRUPLE AND QUINTUPLE REDUCTION RATIOS — nominal output speeds based on an input speed of 1440 rev/min

Nominal
L 860 864 866

[ o S - - - - - - - - 1.479 1.442 -
[ 02 - - - - - - - - 2.036 2015 -
[ 03 - - - - - - - - 2.282 2191 - -
[ 0 s = = - = - = = - 2562 2489 = =
B s - = - - - - = - 2.969 2992 2.904 2.888
[ 05 [ = - = = = = - = 3.301 3.242 3189 3.247
[ o7 - - - - - - - - 3688 3500 3638 3822
B %0 = = - = = = = - 4,088 4179 4.025 4.029
[ 00 3.750 3569 3589 3.585 3585 - 3678 3678 4582 4545 4421 4537
B s 5.066 5.034 5.034 5.040 5.040 4.438 5.094 5.214 5.073 4938 5.042 5.333
B 5.762 5.547 5.547 5,649 5,649 6.240 5722 5792 5,686 5370 5538 6.005
[ 12 [l 6,528 6.299 6.299 6.341 6.341 6.994 6.292 6.442 6,628 6.724 6.210 6,548
[ 13 [ = > - = = = > - 7.404 7.260 6.879 7.270
[ 11 N 8.348 8.000 8,000 8,053 8,053 7.851 8218 8.330 8.224 7.945 7.779 8.667
[ 15 T 8.997 9.088 9.088 9.129 9129 9.970 9.344 9.352 9.188 8.578 8.618 9623
[ 15 [ - - - - - - - - 10.266 10,587 9,891 10,065
131 11.359 11.154 11.154 10.887 10.887 11302 11.346 11.469 11705 11.984 11.200 11429
[ 13 ) 12877 12.371 12.371 12.536 12.536 13.479 12.481 12,923 12.739 12,509 12.391 13322
[ 19 R 14715 14.054 14.054 14580 14580 15520 14342 15.043 14525 14161 14,031 15.127
B o 16.369 15.968 15.968 16.312 16.312 18.051 16.263 16.686 16.591 16.426 15.969 16.429
I 80 18,047 17.584 17.584 17.386 17.386 20,196 17.938 18.261 18.433 18.253 18,000 18,112
[ 2 | 72 19.861 20226 20226 20605 20,605 21526 20543 20659 20588 19.409 20005 21745
I 65 23.269 21.989 21989 22.000 22.000 25511 23.226 23.320 22874 21568 22,549 23.974
I 58 = = - = = = = - 26.037 26.029 25.455 26.071
B 51 27917 26.397 26.397 27.300 27.300 27238 26.928 28.269 28744 29.992 28.350 28.247
B s 32502 31677 31677 32192 32192 33.800 32.118 32.967 32310 30.756 31888 34509
40 36.157 35.692 35.692 35.250 35.250 39.857 35.173 36213 35,669 35.438 35515 37.388
[ 22 S = = - - - - - - 40.252 37.059 39008 39.420
T 32 43542 41492 41492 43.200 43200 43643 42208 44379 44,433 42700 43445 42709
BE 2 49907 47094 47094 48.150 48,150 53.486 48562 48462 49,069 47.929 48629 51.273
EEE 2 56719 53,538 53538 54.000 54,000 50614 53.957 55.804 55176 51494 51738 57.515
[ 32 | 3 - - - - - 66.857 - - 61.131 57.750 59.488 58.569
[ 33 ] 20 - - - - - - - - 68.740 62.045 63291 65.700
[ o] 3% = - = = = = - = = = 39.930 41360
[ 2 | 2 - - - = - - - - = - 44180 48.210
[ a3 ] 29 = = - = = = = - = = 50.020 54.750
[ u | 2% 58.461 57.027 57.027 58,362 58.362 - 58.950 60.330 59,846 60229 56.932 59.456
[ 5 ] 3 64.453 62872 62872 64.290 64.290 72282 62834 66.020 66.489 66.928 64.174 65549
B 70.933 69.193 69.193 73.950 73.950 79,598 74.467 74.691 74.265 71.167 71.321 78.698
18 83.104 81.066 81.066 80.397 80397 91557 79507 84310 82.508 79.082 80394 86.763
[ a8 ] 16 = - s = = = - s 93.918 95.441 90.751 94.354
[ a9 | 14 99.702 97.257 97.257 96.516 96,516 99,540 98,661 102.204 103,683 109.969 101,074 102.226
[ s | 13 116.220 113370 113370 115819 115,819 119.49 116.342 119.188 116,546 112773 113,688 124.890
[ s | 12 129.134 125.967 125.967 130,500 130,500 143.395 127.392 130.924 128,664 129.940 126,620 135,311
[ 52 ] 10 = = = - = = = = 145196 135,882 139.073 142,663
[ 53 ) 155,506 151,692 151,692 151.706 151.706 161,571 156.123 160.446 160.292 156.567 154.892 154,566
B o 178.241 173870 173,870 172.188 172.188 187.827 174,012 175.207 176.998 175738 173374 185,558
[ 55 ) 202567 197,599 197,599 195.750 195750 213.185 195.154 201754 199.029 188810 184.459 208.150
B s - - = - - 242,360 - = 220508 211.750 212.086 211.965
[ 57 - - - - - - - - 247 956 227,500 225646 237771
[ 0 ) . . 235.00 23281 23281 21523 229.00 22891 231.06 22022 226.98 24673
B 56 . . 26140 26047 26047 237.02 25968 25898 25809 24224 24968 27140
B . . 287,80 27762 27762 27291 286.42 301.21 300.18 278.36 286.90 311.86
[ 3 . . 317.30 305.72 305.72 31391 315.41 337.01 335.85 31565 325.33 35364
B 0 . . 365.00 362.30 362.30 365.10 361.21 359.21 357.95 348.16 358.84 390.06
[ 5 [ . . 401.70 416.80 416.80 396.93 415.49 42569 42423 398.71 41095 44671
B o . . 436.70 445.00 445.00 444.10 469.77 480,51 47132 443.06 463.22 492.49
288 . . 511.70 48380 48380 533.10 51072 513.04 503.22 500.94 523.74 556.83
B > . . 614.20 600.30 600.30 56820 592.12 621.90 624.40 580.78 607.22 64558
B v . . 736.90 72070 720.70 681.90 710.80 771.80 736.20 692.72 724.25 770.01
[ 0 Y . . 884.30 849,80 849.80 808.10 847.80 900.00 882.10 828.21 858.69 80152
B i« . . 1031.00 1020.00 1020.00 972.20 1017.00 1061.00 1040.00 987.84 1024.19 92927
B . . 1161.00 1117.00 1117.00 113000 1114.00 1166.00 1148.00 113821 114070 1108.37
1 . . 1291.00 1258.00 1258.00 1402.00 1255.00 1277.00 1340.00 1246.00 124919 121379
0.96 . . 1500.00 1542.00 1542.00 1592.00 1506.00 1564.00 1580.00 1540,00 152811 1502.21
0.80 . . 1807.00 1792.00 1792.00 1877.00 1751.00 1917.00 1730.00 1686.00 1834.00 1802.65
0.72 . . 2051.00 1998.00 1998.00 2055.00 2015.00 2094.00 2120.00 2023.00 2110.00 2074.02
060 . . 235000 226800 2268.00 2337.00 2287.00 2333.00 2363.00 2327.00 2345.00 2304.47
BT o3 . . 2671.00 2578.00 2578.00 2519.00 2600.00 2617.00 2650.00 2586.00 2889.00 2844.00

Double reduction
Triple reduction
Quadruple reduction
Qunituple reduction



GEARBOXES SECTION :

Series M Gearboxes : Exact Gear Ratios

Nominal
Output
Speed
ev/Min

-
-

0.15 . . 9540 9514 9514 9300 9596 9486 9605 9354 9490 10192
0.14 . . 10845 10670 10670 10569 10662 10924 11966 10048 10097 11430

Double reduction
Triple reduction
Quadruple reduction
Qunituple reduction

B14 Face Mounting
MG I I N
h6

4 holes 75 ped M8 x 1.25 x 12 deep

“ 4 holes 75 96 pcd 62 M8 x 1.25 x 15 deep

“ 4 holes 75 96 pcd 62 M8 x 1.25 x 15 deep

“ 4 holes 85 105 pcd 74 M12 x 1.75x 21 deep

“ 4 holes 85 105 pcd 84 M12 x 1.75x 21 deep

“ 6 holes 102 124 ped 84 M12 x 1.75x 21 deep

“ 6 holes 102 124 ped 94 M12 x 1.75x 21 deep
864 8 holes 145 170 ped 120 M12 x 1.75x 21 deep

Note: Foot mounted units can also be supplied with B14 face mounting but do not come supplied as standard. Please consult your local
authorised distributor

FOUR HOLE
PATTERN

TAPPED

SIXHOLE
PATTERN

EIGHT HOLE
PATTERN

FEN01/14 : DRIVE DESIGN & MAINTENANCE MANUAL 215



SECTION :

Series M Gearboxes : Overhung Load Gapacities

ALLOWABLE OVERHUNG LOADS

Units are fitted with input and output bearings of ample
proportions to cater for the radial and thrust loads imposed
by the gear loads, leaving sufficient capacity for taking
overhung loads.

The calculated overhung load should be compared with the
value in the selection tables.

These values may be exceeded at lower input speeds or

if limited bearing lives are acceptable. In cases where
higher overhung load capacities are necessary consult your
distributor, quoting details of power, speed, direction of
gearbox rotation, angle of application of load, distance of
load application from gearbox and acceptable bearing life.

Permissible overhung loads vary according to the direction
of rotation. The values tabulated are for the most
unfavourable direction with the unit transmitting full

rated power and the load applied midway along the shaft
extension. Hence they can sometimes be increased for

a more favourable direction of rotation, or if the power
transmitted is less than the rated capacity of the gear
unit, or if the load is applied nearer to the gear unit case.
Refer to your Distributor for further details. In any event,
the sprocket, gear etc. should be positioned as close as
possible to the gear unit case in order to reduce bearing
loads and shaft stresses, and to prolong life.

Al units will accept 100% momentary overload on stated
capacities.

To determine the overhung load when a sprocket, gear
or 'V pulley is fitted to either shaft, one of the following
formulae may be used in the absence of accurate
information.

DISTANCE MIDWAY ALONG SHAFT EXTENSION

No of Dimension A | Dimension B
Reductlons (mm) (mm)
| o0 |

T 2 3
[ 861 | 2-5 25 zn
[ 802 | 2-5 30 20
[ 862 | 2-5 35 20
[ 83 | 2-5 35 20
2 40 25
n 3 40 20
4-5 40 20
2 50 30
864 8 50 25
4-5 50 20
2 60 40
H 8 60 30
4-5 60 20
2 70 55
8 70 40
45 70 25
2-3 85 55
-
5 85 20
2-3 105 55
868 4 105 25
5 105 20

(1) Calculation on a basis of Torque

Overhung load (N) =M, x 1000 x K
r
(2) Calculation on a basis of Power

Overhung load (N) = M, x 9550 x 1000 x K

nyXr
Where:

M, = Absorbed torque at shaftin Nm.

P, = Absorbed power at shaft in (kW).

r = Pitchradius of sprocket, gear or V' pulley in mm.
n = Rev/min of shaft

K = Application factor -

1.00 for a sprocket
1.25 for a gear or timing pulley
1.50 fora V' pulley

Overhung loads may be reduced by one of the following
methods:

(1) Increase the diameter of the sprocket, gear or pulley
within reasonable limits.

(2) Mount the sprocket, gear or pulley on a separate shaft,
supported with bearings and couple to the output shaft by
means of a Fenner shaft coupling.

(3) Use a special extended output shaft and support the
free end with an outrigger bearing.

GEARBOXES

Axial Thrust Capacities (N)

No check or calculation is required for axial loads towards
or away from the unit up to 50% of the permissible
overhung load. If the axial thrust exceeds these values or
if there is a combination of axial thrust loads and overhung
loads please refer to your local Authorised Distributor.

Frb Fra

Input Output

Output shaft dimensions refer to both motorised and non
motorised units.

ALLOWABLE INPUT SHAFT OVERHUNG LOADS Frb (kN) @1450 REV/MIN

860 150 165
[ s | 165 175 =
[ &1 | 156 175 150
[ 82 | 1.20 150 150
[ 862 | 110 150 150
[ 803 | 0.90 150 150
[ 863 | 165 1.80 150
150 225 175
[ 865 | 150 350 175
255 420 2.25
6.90 12.00 225

868 7.10 12.00 225

Cone e | | o

1.50
1.50
1.50
1.50
1.50
1.75
1.75
225
225
225

* For Qutput Shaft Overhung Load Capacities see the relevant selection tables




GEARBOXES

Series M Gearboxes : Installation and Maintenance

INSTALLATION

Freedom from vibration and correct alignment are the two
main points to be considered when installing Gearmotors.
Attention to these points will prolong the life and
efficiency of the entire drive.

The shafts of the prime mover, unit and driven equipment,
should be in as perfect alignment as possible. Misaligned
shafts impose abnormal stress on bearings and couplings,
leading to excessive wear and possibly early failure.

Vibration accelerates bearing and gear wear, resulting
in noisy operation. Alignment can be maintained and
vibration eliminated, by mounting the drive on rigid
foundations of adequate proportions and dowelling the
units in position.

Fenaflex couplings are recommended when the shaft
alignment cannot be assured and also when protection
from peak and vibratory torques is desirable. After
installation, regular inspection should be carried out

to check the tightness of the fixing bolts and also the
accuracy of alignment.

LUBRICANT TYPE TEMPERATURE RANGE

Ambient Temperature

220

20°C 35°C

EP Mineral
0il

320

220 220

- 220 320 460

Synthetic Oil 1=Polyalphaolein based. Synthetic Oil 2 =Polyglycol based
The recommended lubricants for Series M are EP mineral oil or synthetic oil type 1.

LUBRICANT QUANTITIES (LITRES)

LUBRICATION

Gearmotors and Reducers

Sizes 860 to

Sizes 860 to 863 are supplied ready filled with the required
amount and type of lubricant for the mounting position
identified in the original order.

Note: If the unit is to be mounted in a different position to
that originally intended then the amount of lubricant in the
unit will require amending - see table below for required
quantities.

Sizes 864 to 868

Sizes 864 to 868 are despatched without oil and should be
filled prior to installation. The different mounting positions
are indicated below and the tables show the appropriate oil
levels. The units have several oil fill and drain plug locations
to cater for all mounting positions.

LUBRICANT RENEWAL INTERVALS

Op Renewal Period (Hours)
Temp°C | Mineral Ol | Synthetic Oil

17000 or 3 yrs 26000 or 3 yrs
12000 or 3 yrs 26000 or 3 yrs
8500 or 3 yrs 21000 or 3 yrs
6000 or 2 yrs 15000 or 3 yrs
4200 or 17 mths 10500 or 3 yrs
3000 or 12 mths 7500 or 2.5 yrs
2100 or 8 mths 6200 or 2 yrs
1500 or 6 mths 2100 or 18 mths

SECTION :

0il Changes

Sizes 860 to 863 units are lubricated for life with EP 320
mineral oil. Units that are required to work in an ATEX
environment require draining and relubricating in accordance
with a separate ATEX installation leaflet.

Sizes 864 to 868 require an oil change after the first 1000
hours operation. Subsequent oil changes should be carried
out in line with the table below, depending on your operating
temperature.

Do not mix mineral and synthetic lubricants. Do not overfill the
unit as this can result in leaking and high running temperatures.

All plugs should be fitted in the correct position and should be
torque tightened in accordance with the table below.
BREATHERS/MOUNTING POSITIONS

Sizes 860,801 and 861 are supplied for operation without
breathers.

Sizes 802 to 863 are supplied for operation with breathers.
To prevent leakage during transit these units are fitted with
blanking plugs. It is essential that when the unit is in its
operating position the relevant blanking plug is removed
and replaced by the breather plug (supplied) in the position
indicated on the installation leaflet.

Sizes 864 to 868 are supplied for operation fitted with a
breather but are despatched without oil.

mmmmmmmmm 868
05 06 08 08 08 08 15 16 15 16 20 21 26 27 42 44 105 115 14 15 17 18 24 245
08 09 12 13 12 13 18 19 18 19 20 21 29 30 63 65 120 120 2 24 31 3B 49 50
B o5 o7 o7 o7 07 07 16 17 16 17 19 20 27 28 54 56 120 120 2 24 3 33 49 K0
08 09 12 12 12 12 18 19 18 19 17 18 30 31 73 75 120 120 19 21 28 30 41 43
07 07 11 11 11 11 20 21 20 21 22 23 32 33 68 68 168 168 3 32 4 4 12 N2
10 11 14 16 14 16 26 27 26 27 28 29 47 48 93 97 164 165 26 28 38 40 65 67
| Plug Size [EEYAD M10 M10 M10 M10 M10 Mi4 M16 M16 M16 M22 M22
* For quadruple and quintuple reduction fill quantities please consult your local Authorised Distributor
MOUNTING POSITIONS

Mounting B3 Mounting B8 Mounting V5 t Mounting V6 t* Mounting V3 t*
gg;:[ggzm Ventilator

/865868

Mounting B6

Mounting B7

O Ventilator/Filling Position @ Level Position

FEN01/14 : DRIVE DESIGN & MAINTENANCE MANUAL

Mounting B5 Mounting V1

@ Drain Position

S5
[ 865 [WA 41 451 = =
41 8:1 9:1 =3
[ 867 RN 11 14:1 2=
121 181 22:1 o °

T Gear units for use in mounting positions V1, V3, V5 and V6 should only
be selected with overall ratios greater than or equal to those shown in
the table below.

*Mounting positions V3 & V6 are not recommended for geared motors.
Please consult your local authorised distributor.

Input Speed (rpm)

mmm—
All Al Al

Vv

-
(=]
=]
=]

217



SECTION :

Series M Gearboxes : Ordering Instructions

All gearboxes and geared motors are identified by an eight
digit code for a unit with a standard electric motor, if a
special motor type is required a ninth digit is added to the
end of the normal code. These codes should be included on
all enquiries, correspondence and orders.

The code is made up as follows:-

First THREE digits: Gearmotor type and size.
Select from the tables on pages 182-198 and 204-209.
Fourth digit: Type of assembly required

Foot mounted motorised

Flange mounted motorised

Foot mounted with input shaft
Flange mounted with input shaft
Foot mounted - motor ready
Flange mounted - motor ready

TOMO >

Fifth/Sixth digit: Ratio code

1. Assemblies A and B use the complete eight digit code
obtained directly from the selection tables.

2. Exact gear ratios can be found on page 214.

3. For selection and specification of D & E reducer units,
select from tables on page 204-209 and create code
as shown.

4. For selection of motor ready units (types G & H) use
motor selection tables and replace motor codes with
frame codes.

Seventh/Eighth digit: Type of drive code

1. Motorised units - use complete code from selection
tables with if applicable, additional ninth digit for
motor type.

2. Input Reducer assembly - use 00.

3. Motor ready units are supplied to fit standard IEC
motors. Insert frame code from the table below.

For frame size of motor please refer to mator table on 314.

63C 63 B14
63D 63 BS
ALY n B14
7D n B5
80C 80 B14
80D 80 BS
90C 0 B14
90D 90 B5
10C 100 B14
10D 100 BS
1C 12 B14
11D 12 B5
13C 132 B14
13D 132 BS
16D 160 B5
18D 180 B5
20D 200 BS
22D 225 BS
250 250 B5

Ninth digit: Type of motor variant

Use eight digit code obtained from selection tables for
required motor power and speed and then add the relevant
letter code from table below of the motor variant required.

ELECTRIC MOTOR VARIANTS

All variants of standard IEC motors can be fitted to Fenner
Gearmotors, Series M is also capable of accepting NEMA
motor variants as well.

Examples of some of the variants and their ninth digit code
letter are:-

m Additional Feature

Anti-condensation heaters fitted
Backstop Fitted

Brake motor

Brake motor with Hand Release
Refer to Original Quote - Special
Single Phase motor

Fitted with Thermistors

Fitted with Variator

Fitted with Force Vent unit

N <X 4 o 0o =2 Z w >

Standard clutch brake modules with IEC flanges can be
fitted between motor and gearhead. Refer to page 176 for
more details).

Variable speed packages are available using mechanical
disc variators or Fenner QD inverters. Refer to page 146 and
177 for more details.

Backstop modules are available for motor frame sizes 100
to 200. Refer to page 312 for more details.

Brake motors please refer to age 174.
Force vent please refer to page 175.

For any of these combinations please contact your local
Authorised Distributor.

The mounting position should always be specified at
the time of order.




